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001.	 ¼khík{kt MÚkkrLkf ÃkØríkMkh heíku {níðÃkqýo ðe{k ftÃkLkeyu (D-SIIs) Lke[uLkk Ãkife fE Au?

	 1. ¼khíkeÞ SðLk ðe{k rLkøk{ (Life Insurance Corporation of India)

	 2. ¼khíkeÞ Mkk{kLÞ ðe{k rLkøk{ (General Insurance Corporation of India)

	 3. LÞq EÂLzÞk yu~ÞkuhuLMk (New India Assurance)

	 Mkk[ku W¥kh fkuz ÃkMktË fhku.

	 (A) {kºk 1		  (B) 1, 2
	 (C) 1, 3		  (D) 1, 2, 3

002.	 Lke[uLkk rðÄkLkku æÞkLk{kt ÷ku.

	 1. �«Úk{ yøkúe{ ytËks (First Advance Estimates (FAE)) su íku LkkýkfeÞ ð»ko{kt GDP fE heíku ðÄðkLke yÃkuûkk 
Au íkuLkku «Úk{ Mk¥kkðkh ytËks Au.

	 2. íku Lkkýkt {tºkk÷Þ îkhk òhe fhðk{kt ykðu Au.

	 3. íkuLkku WÃkÞkuøk ykøkk{e LkkýkfeÞ ð»koLke çksux Vk¤ðýe Lk¬e fhðk {kxu ÚkkÞ Au.

	 WÃkhLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?

	 (A) {kºk 1		  (B) 1, 2
	 (C) 1, 3		  (D) 1, 2, 3

003.	� GST økwÃík[h {nkrLkËuoþk÷Þ (Directorate General of GST Intelligence) (DGGI) rðþu Lke[uLkkt rðÄkLkku 
æÞkLk{kt ÷ku.

	 1. �GST økwÃík[h {nkrLkËuoþk÷Þ (The Directorate General of GST Intelligence) (DGGI) ðkrýßÞ 
yLku Wãkuøk {tºkk÷Þ nuX¤Lke yuf fkÞËk y{÷efhý yusLMke Au su ¼khík{kt fh[kuhe Mkk{u fkÞoðkne fhðk {kxu  
sðkçkËkh Au.

	 2. �2017{kt GST ÷køkw fÞwO íku Ãknu÷kt DGGI WíÃkkËLk þwÕf økwÃík[h {nkrLkËuoþk÷Þ (The Directorate General of 
Central Excise Intelligence) (DGCEI) íkhefu fkÞohík níkwt.

	 WÃkhLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?

	 (A) {kºk 1		  (B) {kºk 2

	 (C) 1 íkÚkk 2 çktLku		  (D) 1 yLku 2 {ktÚke yuf Ãký Lknª

004.	 E-fwçkuh rðþu Lke[uLkk rðÄkLkku æÞkLk{kt ÷ku.

	 1. �E-fwçkuh RBILkwt fkuh çkUfªøk MkkuÕÞwþLk Au su ðkrýÂßÞf çkUfkuLku RBI MkkÚkuLkk íku{Lkkt [k÷w ¾kíkkt{kt (Current Account) 
Wå[ MíkhLke Mkuðk WÃk÷çÄ fhkðu Au.

	 2. �E-fwçkuhLkku WÃkÞkuøk Mkhfkhe ò{eLkøkeheyku (securities)Lke nhkSyku suðe fk{økehe fhðk {kxu ÚkkÞ Au.

	 WÃkhLkkt Ãkife fÞwt rðÄkLk / fÞkt rðÄkLkku MkíÞ Au ?

	 (A) {kºk 1		  (B) {kºk 2

	 (C) 1 íkÚkk 2 çktLku		  (D) 1 yLku 2 {ktÚke yuf Ãký Lknª
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001.	 Which of the following is/are the Domestic Systemically Important Insurers (D-SIIs) in India?

	 1. Life Insurance Corporation of India.

	 2. General Insurance Corporation of India

	 3. New India Assurance.

	 Select the correct answer code:

	 (A) 1 only		  (B) 1, 2

	 (C) 1, 3		  (D) 1, 2, 3

002.	 Consider the following statements.

	 1. �The First Advance Estimates (FAE) of GDP are the first official estimates of how GDP is expected 

to grow in that financial year.

	 2. They are released by the Ministry of Finance.

	 3. They are used to decide the next financial year’s budget allocations.

	 Which of the above statements is/are correct?

	 (A) 1 only		  (B) 1, 2

	 (C) 1, 3		  (D) 1, 2, 3

003.	 Consider the following statements regarding Directorate General of GST Intelligence (DGGI).

	 1. �The Directorate General of GST Intelligence (DGGI) is a law enforcement agency under the 

Ministry of Commerce and Industry responsible for fighting tax evasion in India.

	 2. �Before the introduction of GST in 2017, the DGGI operated as Directorate General of Central 

Excise Intelligence (DGCEI).

	 Which of the above statements is/are correct?

	 (A) 1 only		  (B) 2 only

	 (C) Both 1 and 2		  (D) Neither 1 nor 2

004.	 Consider the following statements regarding E-Kuber.

	 1. �E-Kuber is the core banking solution of the RBI that gives high degree of access to commercial 

banks to their current account with the RBI.

	 2. �E-Kuber is used to conduct exercises like auctioning of government securities.

	 Which of the above statements is/are correct?

	 (A) 1 only		  (B) 2 only

	 (C) Both 1 and 2		  (D) Neither 1 nor 2
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005.	 Lke[uLkk rðÄkLkku æÞkLk{kt ÷ku.

	 1. çkksheLkk ðirïf WíÃkkËLk{kt ¼khíkLkku Vk¤ku 50% Úke ðÄw Au.

	 2. ¼khík{ktÚke çkksheLkk {wÏÞ ykÞkíkfkhku USA, hrþÞk yLku [eLk Au.

	 3. �¼khík{kt f]r»k yLku «kuMkuMz ¾kã WíÃkkËLkku rLkfkMk rðfkMk Mk¥kkrÄfkh (Agricultural and Processed Food 
Product Export Development Authority) (APEDA) ¼khíkeÞ rLkfkMkfkhkuLkk çkksheLkk {k÷Lku snks îkhk 
{kuf÷ðkLkwt Mkh¤ çkLkkððk yLku íku{Lku Lkðk çkòhku{kt «ðuþ fhðk{kt {ËË fhðk {kxu fk{ fhe hne Au.

	 WÃkhLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?

	 (A) 1, 3		  (B) {kºk 3
	 (C) 2, 3		  (D) 1, 2, 3

006.	� ÷½w¥k{ xufkLkk ¼kð (Minimum Support Prices) (MSPs)Lke ¼÷k{ý fhíke ð¾íku f]r»k Ãkzíkh yLku ®f{ík ykÞkuøk 
(Commission for Agricultural Costs and Prices) (CACP) Lke[uLkk Ãkrhçk¤ku æÞkLk{kt ÷u Au.

	 1. MÚkkrLkf yLku yktíkhhk»xÙeÞ Míkhu çkòh ¼kð ð÷ýku

	 2. ÃkuËkþLkk økúknfku Ãkh MSP Lke Mkt¼rðík yMkhku

	 3. WíÃkkËLk ¾[o fhíkkt ÷½w¥k{ 30 «ríkþíkLkwt {kSoLk

	 4. yktíkh Ãkkf ¼kð Mk{kLkíkk

	 Mkk[ku W¥kh fkuz ÃkMktË fhku.
	 (A) 1, 2, 3		  (B) 1, 3, 4
	 (C) 1, 2, 4		  (D) 1, 2, 3, 4

007.	� National Agricultural Cooperative Marketing Federation of India Ltd. (NAFED) (¼khíkeÞ hk»xÙeÞ  
f]r»k Mknfkhe {kfuoxªøk Mkt½ r÷{exuz) rðþu Lke[uLkk rðÄkLkku æÞkLk{kt ÷ku.

	 1. íku ¼khík{kt f]r»k WÃksLkk {kfuoxªøk {kxuLke Mknfkhe MktMÚkkykuLke Mkðkuoå[ MktMÚkk Au.

	 2. íku f]r»k {tºkk÷Þ nuX¤ fkÞohík Au.

	 3. íku fXku¤ ¾heËeLke {æÞMÚk ¾heË MktMÚkk Au.

	 WÃkhLkk Ãkife fÞk rðÄkLkku MkíÞ Au ?
	 (A) 1, 2		  (B) 1, 3
	 (C) 1, 2, 3		  (D) 2, 3

008.	 hkufz [÷ý (hard currency) Mkk{kLÞ heíku ÃkMktË fhðk{kt ykðu Au fkhý fu

	 1. íku hksfeÞ heíku yLku ykŠÚkf heíku ÂMÚkh økýðk{kt ykðu Au.

	 2. {k÷Mkk{kLk yLku MkuðkykuLke [qfðýeLkk «fkh íkhefu íku rðï¼h{kt ÔÞkÃkfÃkýu Mðefkhðk{kt ykðu Au.

	 3. íkuLkwt yufkyuf yð{qÕÞLk yÚkðk {qÕÞð]rØ ÚkðkLke þõÞíkk nkuíke LkÚke.

	 Mkk[ku W¥kh fkuz ÃkMktË fhku.
	 (A) 1, 2		  (B) 1, 3
	 (C) 1, 2, 3		  (D) 2, 3
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005.	 Consider the following statements.

	 1. India’s share in the global production of millets is more than 50%.

	 2. The top importers of millets from India are USA, Russia and China.

	 3. �In India, Agricultural and Processed Food Products Export Development Authority (APEDA) 
has been working towards facilitating shipments of millets by Indian exporters and helping 
them make inroads into new markets.

	 Which of the above statements is/are correct?

	 (A) 1, 3		  (B) 3 only

	 (C) 2, 3		  (D) 1, 2, 3

006.	� While recommending minimum support prices (MSPs), the Commission for Agricultural Costs 
and Prices (CACP) looks at the following factors

	 1. The market price trends at both domestic and international level

	 2. The likely implications of an MSP on consumers of that product

	 3. A minimum of 30 per cent as the margin over the cost of production

	 4. Inter-crop price parity

	 Select the correct answer code:

	 (A) 1, 2, 3		  (B) 1, 3, 4

	 (C) 1, 2, 4		  (D) 1, 2, 3, 4

007.	� Consider the following statements regarding National Agricultural Cooperative Marketing 
Federation of India Ltd (NAFED)

	 1. It is the apex organization of marketing cooperatives for agricultural produce in India.

	 2. It functions under the Ministry of Agriculture.

	 3. It is the nodal procurement agency for pulses.

	 Which of the statements given above are correct?

	 (A) 1, 2		  (B) 1, 3

	 (C) 1, 2, 3		  (D) 2, 3

008.	 Hard currency is usually preferred because

	 1. It is seen as politically and economically stable.

	 2. It is widely accepted around the world as a form of payment for goods and services.

	 3. It is not likely to depreciate or appreciate suddenly.

	 Select the correct answer code:

	 (A) 1, 2		  (B) 1, 3

	 (C) 1, 2, 3		  (D) 2, 3
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009.	 hksfku»keÞ Lkerík Lkku nuíkw :

	 1. Ëuþ{kt ¼kð MíkhLku rLkÞtrºkík fhðku.

	 2. MktÃkqýo hkusøkkhe yÚkðk {nËytþu MktÃkqýo hkusøkkhe nktMk÷ fhðe.

	 3. yÚkoíktºkLkk ð]rØ ËhLku ò¤ðe hk¾ðku.

	 ÞkuøÞ W¥kh fkuz ÃkMktË fhku.
	 (A) 1, 2		  (B) 2, 3
	 (C) 1, 3		  (D) 1, 2, 3

010.	 1. �«Úk{ Ãkt[ð»keoÞ ÞkusLkk : íku 1951 Úke 1956Lkk Mk{Þøkk¤k {kxu þY fhðk{kt ykðe, íku Úkkuzkf MkwÄkhk-ðÄkhk MkkÚku 
Harrod-Domar (nuhkuz-zku{h) {kuzu÷ WÃkh ykÄkrhík níke. íkuLkwt {wÏÞ ÷ûÞ ËuþLkku f]r»k rðfkMk níkwt.

	 2. �çkeS Ãkt[ð»keoÞ ÞkusLkk : íku 1956 Úke 1961Lkk Mk{Þøkk¤k {kxu íkiÞkh fhðk{kt ykðe. íku Ãke.Mke. {nk÷LkkurçkMk {kuzu÷ 
Ãkh ykÄkrhík níke. íkuLkwt {wÏÞ ÷ûÞ ËuþLkku ykiãkurøkf rðfkMk níkwt.

	 3. �ºkeS Ãkt[ð»keoÞ ÞkusLkk : íku 1961 Úke 1966Lkk Mk{Þøkk¤k {kxu íkiÞkh fhðk{kt ykðe. yk ÞkusLkk økkzøke÷ ÞkusLkk 
íkhefu Ãký yku¤¾kÞ Au. yk ÞkusLkkLkwt {wÏÞ ÷ûÞ yÚkoíktºkLku Mðkð÷tçke çkLkkððkLkwt níkwt. f]r»k yLku ½ôLkk WíÃkkËLk{kt 
MkwÄkhýk Ãkh ¼kh {qfðk{kt ykÔÞku níkku.

	 4. �ykX{e Ãkt[ð»keoÞ ÞkusLkk : íkuLkku Mk{Þøkk¤ku 1992 Úke 1997 níkku. íku{kt {kLkð MktMkkÄLk rðfkMk yÚkkoík hkusøkkhe, 
rþûký yLku ònuh ykhkuøÞLku xku[Lke yøkúe{íkk ykÃkðk{kt ykðe níke. yk ÞkusLkk ËhBÞkLk Mkhfkhu ¼khíkLke Lkðe 
ykŠÚkf LkeríkLkku «kht¼ fÞkuo níkku.

	 WÃkhLkk Ãkife fÞkt rðÄkLkku MkíÞ Au ?

	 (A) {kºk 1 yLku 2		  (B) {kºk 2 yLku 3

	 (C) {kºk 3 yLku 4		  (D) 1, 2, 3 yLku 4 ík{k{ Mkk[k Au.

011.	 Lke[uLkk Ãkife fÞwt rçkLk-sfkík Ãkøk÷wt (Non-Tariff measure) LkÚke ?

	 (A) ykÞkík ÃkhðkLkk «r¢Þk (Import licensing procedures)

	 (B) ðuÃkkh{kt íkfLkefe yðhkuÄku (Technical barriers to trade)

	 (C) VkÞxkuMkuLkexhe heMxÙeõþLMk (Phytosanitary restrictions)

	 (D) WÃkhkuõík ík{k{ rçkLk-sfkík Ãkøk÷kt (Non-Tariff measures) Au.

012.	 ¼kiøkkur÷f Mktfuík xuøMk Mkk{kLÞ heíku þuLkk {kxu ykÃkðk{kt ykðu Au ?

	 1. f]r»k WíÃkkËLkku

	 2. ¾kã ÃkËkÚkkuo

	 3. nMíkf¤k

	 4. ðkELk yLku MÃkehex Ãkeýk

	 5. ykiãkurøkf WíÃkkËLkku

	 Mkk[ku W¥kh fkuz ÃkMktË fhku.
	 (A) 1, 2, 3, 4		  (B) 1, 2, 3, 5
	 (C) 1, 2, 3, 4, 5		  (D) 1, 2, 4, 5
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009.	 The Fiscal Policy intends to

	 1. Control the price level in the country

	 2. Achieve full employment, or near full employment

	 3. Maintain the economy’s growth rate

	 Select the correct answer code:

	 (A) 1, 2		  (B) 2, 3

	 (C) 1, 3		  (D) 1, 2, 3

010.	 1. �First Five Year Plan: It was launched for the duration of 1951 to 1956, it was based on the Harrod-
Domar model with a few modifications. Its main focus was on the agricultural development of 
the country.

	 2. �Second Five Year Plan: It was made for the duration of  1956 to 1961, it was  based on the  
P.C. Mahalanobis Model. Its main focus was on the industrial development of the country.

	 3. �Third Five Year Plan: It was made for the duration of 1961 to 1966, this Plan is also called ‘Gadgil 
Yojana’. The main target of this Plan was to make the economy self reliant. The stress was laid 
on agriculture and the improvement in the production of wheat. 

	 4. �Eighth Five Year Plan: Its duration was from 1992 to 1997. The top priority was given to the 
development of human resources i.e. employment, education and public health. During this 
Plan, the Government launched the New Economic Policy of India.

	 Which of the above statements are correct ?

	 (A) Only 1 and 2		  (B) Only 2 and 3

	 (C) Only 3 and 4		  (D) 1, 2, 3 and 4 all are correct

011.	 Which of the following is not a non-tariff measure?

	 (A) Import licensing procedures	 (B) Technical Barriers to Trade

	 (C) Phytosanitary restrictions	 (D) All of the above are non-tariff measures.

012.	 Geographical Indication tags are typically given for

	 1. Agricultural products

	 2. Foodstuffs

	 3. Handicrafts

	 4. Wines and spirit drinks

	 5. Industrial products

	 Select the correct answer code:

	 (A) 1, 2, 3, 4		  (B) 1, 2, 3, 5

	 (C) 1, 2, 3, 4, 5		  (D) 1, 2, 4, 5
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013.	 Lke[uLkk Ãkife fÞwt {ktøk-«urhík Vwøkkðk (Demand-Pull inflation) íkhV Ëkuhe òÞ Au?
	 1. rðfkMkþe÷ yÚkoÔÞðMÚkk
	 2. rðËuþe {wÿk ¼tzkh{kt ðÄkhku
	 3. Mkhfkh îkhk ¾kÄ rÄhký
	 4. YrÃkÞkLkwt yð{qÕÞLk
	 (A) 1, 2, 3, 4		  (B) 1, 3, 4
	 (C) 2, 3		  (D) 1, 2, 3

014.	 ðMíkw yLku Mkuðk fh Ãkrh»kË rðþu Lke[uLkk rðÄkLkku æÞkLk{kt ÷ku.
	 1. �ðMíkw yLku Mkuðk fh Ãkrh»kËLkku «íÞuf rLkýoÞ nksh yLku {íkËkLk fhLkkhk MkÇÞkuLkk ¼khktrfík {íkLkk (weighted votes) 

ºký [íkwÚkkOþÚke ykuAe Lk nkuÞ íkuðe çknw{íke îkhk ÷uðk{kt ykðþu.
	 2. �GST Ãkrh»kËLke çkuXf{kt fuLÿ MkhfkhLkk {íkLkwt ¼khý fw÷ Ãkzu÷k {íkLkk çku-ík]íkeÞktþ sux÷wt hnuþu.
	 WÃkhLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?
	 (A) {kºk 1		  (B) {kºk 2
	 (C) 1 íkÚkk 2 çktLku		  (D) 1 yLku 2 {ktÚke yuf Ãký Lknª

015.	 zeSx÷ [qfðýe Mkq[fktf (Digital Payments Index) (DPI) .......... îkhk òhe fhðk{kt ykðu Au.
	 (A) ¼khíkeÞ çkuLf MktøkXLk (Indian Banks' Association)

	 (B) ¼khíkeÞ heÍðo çkuLf (Reserve Bank of India)

	 (C) Lkerík ykÞkuøk (NITI Aayog)

	 (D) hk»xÙeÞ yktfzkþkMºk f[uhe (National Statistical Office) (NSO)

016.	� çkuLfªøk yLku LkkýkfeÞ AuíkhÃkªze ytøkuLkwt Mk÷knfkh çkkuzo (Advisory Board for Banking and Financial Frauds) 
(ABBFF) rðþu Lke[uLkk rðÄkLkku æÞkLk{kt ÷ku.

	 1. íkuLke h[Lkk RBI îkhk fhðk{kt ykðe Au.
	 2. íku çkuLfkuLkk ík{k{ AuíkhÃkªze fuMkkuLke «Úk{ fûkkLke íkÃkkMk fhu Au.
	 3. �íku Mk{Þktíkhu LkkýkfeÞ «ýk÷e{kt AuíkhÃkªzeLkwt rð&÷u»ký fhu Au yLku AuíkhÃkªze MktçktrÄík fkuEÃký Lkerík ½zðk {kxu 

{køkoËþoLk ykÃku Au.
	 WÃkhLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?
	 (A) 1, 3		  (B) 2, 3

	 (C) {kºk 3		  (D) 1, 2, 3

017.	 Lke[uLkk rðÄkLkku æÞkLk{kt ÷ku.
	 1. �¼khík fk[k íku÷Lkku (crude oil) rðïLkku MkkiÚke {kuxku ykÞkíkfkh Au fu suLke 80% sYrhÞkík ykÞkík îkhk 

ÃkrhÃkqýo ÚkkÞ Au.
	 2. íkksuíkhLkk ð»kkuo{kt ¼khíkLkk fk[k íku÷ (crude oil) Lke yuf-[íkwÚkkOþ sux÷e ykÞkík hrþÞkÚke ÚkkÞ Au.
	 WÃkhLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?
	 (A) {kºk 1		  (B) {kºk 2
	 (C) 1 íkÚkk 2 çktLku		  (D) 1 yLku 2 {ktÚke yuf Ãký Lknª
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013.	 Which of the following lead to Demand-Pull Inflation?

	 1. A growing economy

	 2. Increase in Forex reserves

	 3. Deficit financing by the government

	 4. Depreciation of rupee

	 Select the correct answer code:

	 (A) 1, 2, 3, 4		  (B) 1, 3, 4

	 (C) 2, 3		  (D) 1, 2, 3

014.	 Consider the following statements regarding Goods and Services Tax Council.

	 1. �Every decision of the Goods and Services Tax Council shall be taken by a majority of not less 
than three-fourths of the weighted votes of the members present and voting.

	 2. �The vote of the Central Government in the GST council meeting shall have a weightage of two-
thirds of the total votes cast.

	 Which of the above statements is/are correct?

	 (A) 1 only		  (B) 2 only

	 (C) Both 1 and 2		  (D) Neither 1 nor 2

015.	 The Digital Payments Index (DPI) is released by

	 (A) Indian Banks’ Association	 (B) Reserve Bank of India (RBI)

	 (C) NITI Aayog		  (D) National Statistical Office (NSO)

016.	� Consider the following statements regarding Advisory Board for Banking and Financial Frauds 
(ABBFF).

	 1. It has been constituted by RBI.

	 2. It conducts first level examination of all bank fraud cases.

	 3. �It periodically carry out frauds analysis in the financial system and give inputs for any policy 
formulation related to the frauds.

	 Which of the above statements is/are correct?

	 (A) 1, 3		  (B) 2, 3

	 (C) 3 only		  (D) 1, 2, 3

017.	 Consider the following statements.

	 1. �India is the world’s largest crude oil importer, where nearly 80% of its needs are met through 
imports.

	 2. In the recent years, around one-fourth of India’s crude oil imports come from Russia.

	 Which of the above statements is/are correct?

	 (A) 1 only		  (B) 2 only

	 (C) Both 1 and 2		  (D) Neither 1 nor 2
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018.	 Mk{k[kh{kt ‘Unicorn Company’ þçË ðkhtðkh òuðk {¤u Au, íkuLkku yÚko.
	 (A) hkßÞLke {kr÷feLke ¾kux fhe hnu÷ fkuEÃký ftÃkLkeLkwt ¾kLkøkefhý
	 (B) 1 rçk÷eÞLk ÞwyuMk zku÷hÚke ðÄw {qÕÞLke ¾kLkøke Mxkxo-yÃk ftÃkLke
	 (C) ònuh ûkuºkLke ftÃkLke fu su ònuh ûkuºkLke yLÞ ftÃkLke MkkÚku rðr÷Lk ÚkE nkuÞ
	 (D) ¼khík{kt ÔÞkÃkkh fhíke rðËuþe çknwhk»xÙeÞ ftÃkLke

019.	 yÚkoíktºk{kt fwÍLkuxLkku rMkØktík (Kuznets' theory) þuLku MktçktrÄík Au ?
	 (A) {kÚkkËeX GDP		  (B) yMk{kLkíkk
	 (C) hksfku»keÞ ¾kÄ		  (D) ðMíke ðÄkhku

020.	 Lke[uLkk rðÄkLkku æÞkLk{kt ÷ku.
	 1. �fuLÿeÞ Lkkýk ykÞkuøk Mkt½ yLku hkßÞku ðå[uLkk MktMkkÄLkku yLku ¾[oLke sðkçkËkhe{kt ÷tçkYÃk yLku Mk{Míkh yMk{íkw÷k 

MkwÄkhðkLkku «ÞíLk fhu Au.
	 2. �hkßÞ Lkkýk ykÞkuøk fu su Ãkt[kÞík yLku Lkøkh Ãkkr÷fkykuLkk MktMkkÄLkkuLke ÃkqŠík fhu Au, íkuLke h[Lkk fuLÿeÞ Lkkýk ykÞkuøkLke 

MkkÚku ÚkkÞ Au.
	 WÃkhLkkt Ãkife fÞwt rðÄkLk / fÞkt rðÄkLkku Mkk[kt LkÚke?
	 (A) {kºk 1		  (B) {kºk 2
	 (C) 1 íkÚkk 2 çktLku		  (D) 1 yLku 2 {ktÚke yuf Ãký Lknª

021.	 Lke[uLkk Ãkife fÞwt Footloose (rLkçkOÄ) WãkuøkLkwt WËknhý Au ?
	 1. nehk Wãkuøk		  2. ¾ktz Wãkuøk
	 3. fkuBÃÞwxh [eÃMk		  4. yuÕÞwr{rLkÞ{ Wãkuøk
	 Mkk[ku W¥kh fkuz ÃkMktË fhku.
	 (A) 1, 2, 3		  (B) 1, 3
	 (C) 1, 3, 4		  (D) 2, 3, 4

022.	 Lke[uLkk Ãkife fÞku ¼khík{kt ðkrýÂßÞf Ãkkf (commercial crop) Au ?
	 (A) MkhMkð		  (B) ík{kfw
	 (C) þý		  (D) WÃkhkuõík ík{k{

023.	 þuhzeLkk ÔÞksçke yLku ÷k¼ËkÞe ¼kð (Fair and Remunerative Price) (FRP) fkuý {tsqh fhu Au ?
	 (A) ykŠÚkf çkkçkíkkuLke fuLÿeÞ Mkr{rík	 (B) f]r»k ¾[o yLku ®f{íkkuLkwt ykÞkuøk
	 (C) {kfuoxªøk yLku rLkheûký rLkËuoþk÷Þ, f]r»k {tºkk÷Þ	 (D) ¾uíkeðkze WíÃkLLk çkòh Mkr{rík

024.	� ònuh ¾uzqíkku íku{Lke s{eLk, ©{ yLku {qze yufrºkík fhu Au yLku [qtxkÞu÷e {uLku®søk fr{rxLkk rLkËuoþLk nuX¤ MktÞwõík heíku fk{ 
fhu Au íkÚkk íku{Lkk LkVkLku íku{Lke ðå[u íku{ýu Vk¤ðu÷e s{eLk yLku íku{ktÚke Ëhuf îkhk f{kÞu÷k ðuíkLkLkk «{ký{kt ðnU[u Au 
íkuðe ¾uíkeLku þwt fnu Au ?

	 (A) Mknfkhe ¾uíke (Co-operative farming)
	 (B) Mkk{qrnf ¾uíke (Collective farming)
	 (C) {qzeðkËe ¾uíke (Capitalist farming)
	 (D) ¾uzqík ¾uíke (Peasant farming)
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018.	 The term ‘Unicorn Company’ often seen in news means
	 (A) Privatisation of any loss-making state-owned company
	 (B) Private start-up company valued at over US$1 billion
	 (C) A public sector company merged with another public sector company
	 (D) Foreign multinational company doing business in India.

019.	 In Economy, Kuznets’ theory is related to _______
	 (A) GDP per capita		  (B) Inequality
	 (C) Fiscal deficit		  (D) Population growth

020.	 Consider the following statements.
	 1. �Union Finance Commission tries to rectify the vertical and horizontal imbalances in resources 

and expenditure responsibilities between Union and States.
	 2. �State Finance Commissions that supplement the resources of panchayats and municipalities are 

constituted along with Union Finance Commission.
	 Which of the above statements is/are incorrect?
	 (A) 1 only		  (B) 2 only
	 (C) Both 1 and 2		  (D) Neither 1 nor 2

021.	 Which of the following are the examples of Footloose industry?
	 1. Diamonds industry
	 2. Sugar industry
	 3. Computer chips
	 4. Aluminium industry
	 Select the correct answer code:
	 (A) 1, 2, 3		  (B) 1, 3
	 (C) 1, 3, 4		  (D) 2, 3, 4

022.	 Which of the following is the commercial crop in India?
	 (A) Mustard		  (B) Tobacco
	 (C) Jute		  (D) All of the above

023.	 Who approves the Fair and Remunerative Price (FRP) of sugarcane?
	 (A) Cabinet Committee on Economic Affairs
	 (B) Commission for Agricultural Costs and Prices
	 (C) Directorate of Marketing and Inspection, Ministry of Agriculture
	 (D) Agricultural Produce Market Committee

024.	� When farmers pool their land, labour and capital and work jointly under the direction of an elected 
managing committee and divide the profit among themselves in proportion of land contributed 
and wages earned by each one of them. What is it called?

	 (A) Co-operative farming	 (B) Collective farming
	 (C) Capitalist farming		  (D) Peasant farming
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025.	  ™e[u™k rðÄk™ku™u æÞk™{kt ÷ku.

	 1. �ðÕzo xÙuz yku„uo™kEÍuþ™ (WTO) Œu™k {kÚkkËeX Sze…e hurþÞku™k ykÄkhu 'rðfr‚Œ’ y™u 'rðfk‚þe÷’ Ëuþku 
™¬e fhu Au.

	 2. �WTO rðfk‚þe÷, ykuAk-rðfr‚Œ y™u ykuAe ykðf ÄhkðŒk Ëuþku™u Œf™efe ‚nfkh y™u Œk÷e{ îkhk WTO™k 
r™Þ{ku™u ‚{kÞkursŒ fhðk {kxu ‚nkÞ …qhe …kzu Au.

	 W…hkuõŒ{ktÚke fÞwt rðÄk™ / fÞk rðÄkLkku MkíÞ Au ?

	 (A) {kºk 1		  (B) {kºk 2

	 (C) 1 y™u 2 ƒt™u ‚k[k Au		  (D) 1 y™u 2 {ktÚke fkuE Lknª.

026.	 ¾kã Mkwhûkk þwt Mkq[ðu Au ?

	 (A) {kºk ¾kãLke WÃk÷çÄíkk (Availability of food only)

	 (B) Ëhuf Mk{Þu, Ëhuf {kxu ¾kãLke Mkw÷¼íkk (Access to food to all, at all times)

	 (C) ík{k{Lku ¾kã Ãkhðzðku (Affordability of food for all)

	 (D) ík{k{ {kxu Ãkku»kf ¾kã (Nutritious food for everyone)

027.	 xfkWÃkýwt (sustainability) þçË þwt Mkq[ðu Au ?

	 (A) økwýð¥kkÞwõík SðLk {kxu ðirïf sðkçkËkhe ðnU[kÞu÷e sYhe Au.

	 (B) fwËhíke ÃkÞkoðhýLke Mk{]rØLku MkeÄe yMkh fhíke {kLkðeÞ r¢Þkyku.

	 (C) ¼krð ÃkuZe ÃkkMku økwýð¥kkÞwõík SðLk {kxu sYhe MktMkkÄLkku nþu.

	 (D) WÃkhkuõík ík{k{

028.	 hkEÍkuçkeÞ÷ (rhizobial) LkkExÙkusLk MÚkkÃkLk (fixation) {kxu fÞwt hkMkkÞrýf ¾kíkh ykð~Þf Au ?

	 (A) fuÂÕþÞ{		  (B) Ãkkuxu~Þ{

	 (C) MkkurzÞ{		  (D) VkuMVhMk

029.	 .......... Ähkðíkwt nkuðkÚke Azolla yu sirðf ¾kíkh íkhefu WÃkÞkuøk{kt ÷uðkÞ Au.

	 (A) rðÃkw÷ {kºkk{kt {]Ëwðohf (humus)	 (B) hEÍkurçkÞ{ (Rhizobium)

	 (C) {kEfkuheÍ (Mycorrhiza)	 (D) MkkÞLkkuçkuõxuheÞk (Cyanobacteria)

030.	� fÞku ‚hfkhe rð¼k„, {wÏÞíðu ònuh ûkuºk™e çkUfku (PSBs) y™u ™kýkfeÞ ‚tMÚkkyku™u ÷„Œk ™erŒ rð»kÞf {wÆkyku {kxu 
sðkƒËkh Au ?

	 (A) ¾[o rð¼k„ (DoE)

	 (B) ykiãkur„f ™erŒ y™u «{kuþ™ rð¼k„ (DIPP)

	 (C) RLðuMx{uLx yuLz …rç÷f yu‚ux {u™us{uLx rz…kxo{uLx (DIPAM)

	 (D) ™kýkfeÞ ‚uðkyku rð¼k„ (DFS)
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025.	 Consider the following statements. 

	 1. �World Trade Organization (WTO) determines 'developed' and 'developing' countries based on 

its per capita GDP ratio. 

	 2. �WTO provides assistance to developing, least-developed and low-income countries in transition 

to adjust to WTO rules through technical cooperation and training. 

	 Which of the above statements is/are correct?

	 (A) 1 only		  (B) 2 only 

	 (C) Both 1 and 2		  (D) Neither 1 nor 2

026.	 What does food security imply?

	 (A) Availability of food only

	 (B) Access to food to all, at all times

	 (C) Affordability of food for all

	 (D) Nutritious food for everyone

027.	 What does the phrase ‘sustainability’ imply?

	 (A) A shared global responsibility is necessary for quality of life

	 (B) The actions of human directly impacting the well-being of the natural environment

	 (C) Future generations will have the resources necessary for quality of life

	 (D) All of the above

028.	 Which chemical fertilizer is essential for better rhizobial nitrogen fixation ?

	 (A) Calcium		  (B) Potassium

	 (C) Sodium		  (D) Phosphorus

029.	 Azolla is used as a bio-fertilizer as it possesses _______

	 (A) Humus in large quantities	 (B) Rhizobium

	 (C) Mycorrhiza		  (D) Cyanobacteria

030.	� Which government department is mainly responsible for policy issues relating to Public Sector 

Banks (PSBs) and Financial Institutions?

	 (A) Department of Expenditure (DoE) 

	 (B) Department of Industrial Policy and Promotion (DIPP) 

	 (C) Department of Investment and Public Asset Management (DIPAM) 

	 (D) Department of Financial Services (DFS)
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031.	 {nkhíLk Ëhßòu {tswh fhðk {kxu æÞkLk{kt ÷uðk{kt ykðíkk {kÃkËtz fÞk Au ?

	 1. AuÕ÷k ºký ð»ko ËhBÞkLk Yk. 25000 fhkuzÚke ðÄkhu Mkhuhkþ ðkŠ»kf ðfhku (turnover)

	 2. AuÕ÷k ºký ð»ko ËhBÞkLk Yk. 15000 fhkuzÚke ðÄw Mkhuhkþ ðkŠ»kf [kuÏ¾wt {qÕÞ (networth)

	 3. AuÕ÷k ºký ð»ko ËhBÞkLk fhðuhkLke fÃkkík çkkË Yk. 5000 fhkuzÚke ðÄw Mkhuhkþ ðkŠ»kf [kuÏ¾ku LkVku

	 4. LkkUÄÃkkºk ðirïf «rík¼k (Presence) / yktíkhhk»xÙeÞ Mkt[k÷Lk nkuðwt òuEyu.

	 (A) 1 yLku 2		  (B) 2 yLku 3

	 (C) 3 yLku 4		  (D) 1, 2, 3 yLku 4

032.	 rðÄkLkku [fkMkku.

	 1. �Mkqû{-Wãkuøk MkknMk : fkh¾kLkk yLku Þtºk Mkk{økúe yÚkðk MkkÄLkku{kt hkufký Yk. 1 fhkuzÚke ðÄw Lk nkuÞ yLku ðkŠ»kf ðfhku 
(turnover) Yk. 5 fhkuzÚke ðÄw Lk nkuÞ.

	 2. �÷½w-Wãkuøk MkknMk : fkh¾kLkk yLku Þtºk Mkk{økúe yÚkðk MkkÄLkku{kt hkufký Yk. 10 fhkuzÚke ðÄw Lk nkuÞ yLku ðkŠ»kf ðfhku 
Yk. 50 fhkuzÚke ðÄw Lk nkuÞ.

	 3. �{æÞ{-Wãkuøk MkknMk : fkh¾kLkk yLku Þtºk Mkk{økúe yÚkðk MkkÄLkku{kt hkufký Yk. 50 fhkuzÚke ðÄw Lk nkuÞ yLku ðkŠ»kf 
ðfhku Yk. 250 fhkuzÚke ðÄw Lk nkuÞ.

	 Mkk[ku W¥kh fkuz ÃkMktË fhku.

	 (A) {kºk 1 Mkk[wt Au.		  (B) {kºk 2 Mkk[wt Au.

	 (C) {kºk 3 Mkk[wt Au.		  (D) 1, 2 yLku 3 ík{k{ Mkk[kt Au.

033.	 rðÄkLkku [fkMkku.

	 1. �SEZ ÞkusLkkLkk {wÏÞ WÆuþku ðÄkhkLke ykŠÚkf «ð]r¥kLkwt rLk{koý, {k÷Mkk{kLk yLku MkuðkykuLke rLkfkMkLku «kuíMkknLk, 
MÚkkrLkf yLku rðËuþe Mºkkuíkku{ktÚke hkufkýLku «kuíMkknLk, {k¤¾kfeÞ MkwrðÄkykuLkk rðfkMk MkkÚku hkusøkkheLke íkfkuLkwt MksoLk 
fhðkLkku Au.

	 2. SEZ Lkwt Mkt[k÷Lk íkuLkk ÃkkuíkkLkk fkÞËkyku îkhk Úkíkwt nkuðkÚke íkuLku ¼khíkLkk çkÄk s fkÞËkyku ÷køkw Ãkzíkk LkÚke.

	 3. WíÃkkËLk, ÔÞkÃkkh yÚkðk Mkuðk «ð]r¥k {kxu SEZ {kt yuf{ MÚkkÃke þfkÞ Au.

	 Mkk[ku W¥kh fkuz ÃkMktË fhku.

	 (A) {kºk 1 yLku 2 Mkk[k Au.		  (B) {kºk 2 yLku 3 Mkk[k Au.

	 (C) {kºk 1 yLku 3 Mkk[k Au.		  (D) 1, 2 yLku 3 ík{k{ Mkk[k Au.

034.	 rðÄkLkku [fkMkku.

	 1. fuLÿ Mkhfkh îkhk 14 ykuõxkuçkh 2003Lkk hkus ¼khíkeÞ «ríkMÃkÄko ykÞkuøk MÚkkÃkðk{kt ykÔÞwt.

	 2. ¼khíkeÞ «ríkMÃkÄko ykÞkuøk fuLÿ Mkhfkh îkhk rLkÞwõík fhu÷ yuf yæÞûk yLku 6 MkËMÞkuLkwt çkLku÷wt Au.

	 Mkk[ku W¥kh fkuz ÃkMktË fhku.

	 (A) 1 íkÚkk 2 çktLku Mkk[k Au.		  (B) 1 yÚkðk 2 çktLku Mkk[k LkÚke.

	 (C) {kºk 1 Mkk[wt Au.		  (D) {kºk 2 Mkk[wt Au.
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031.	 What are the criteria to be considered for grant of Maharatna status?

	 1. An average annual turnover of more than Rs. 25,000 crore during the last 3 years

	 2. An average annual net worth of more than Rs. 15,000 crore during the last 3 years

	 3. �An average annual net profit after tax deduction of more than Rs. 5,000 crore during the last  
3 years

	 4. Should have significant global presence / international operations

	 (A) 1 and 2		  (B) 2 and 3

	 (C) 3 and 4		  (D) 1, 2, 3 and 4

032.	 Evaluate the statements.

	 1. �MICRO ENTERPRISE–Investment in Plant and Machinery or Equipment not more than 
Rs.1 crore and Annual Turnover not more than Rs. 5 crore

	 2. �SMALL ENTERPRISE–Investment in Plant and Machinery or Equipment not more than 
Rs.10 crore and Annual Turnover not more than Rs. 50 crore

	 3. �MEDIUM ENTERPRISE–Investment in Plant and Machinery or Equipment not more than 
Rs.50 crore and Annual Turnover not more than Rs. 250 crore

	 Select the correct answer code :

	 (A) only 1 is correct		  (B) only 2 is correct

	 (C) only 3 is correct		  (D) 1, 2 and 3 all are correct

033.	 Evaluate the statements

	 1. �The main objectives of the SEZ Scheme is generation of additional economic activity, promotion 
of exports of goods and services, promotion of investment from domestic and foreign sources, 
creation of employment opportunities along with the development of infrastructure facilities.

	 2. All laws of India are not applicable in SEZ as it is governed by its own law.

	 3. Units may be set up in the SEZ manufacturing, trading or for service activity.

	 Select the correct answer code :

	 (A) Only 1 and 2 are correct	 (B) Only 2 and 3 are correct

	 (C) Only 1 and 3 are correct	 (D) 1, 2 and 3 all are correct

034.	 1. �Competition Commission of India was established by the Central Government with effect from 
14th October 2003.

	 2. �Competition Commission of India consists of a Chairperson and 6 members appointed by the 
Central Government.

	 Select the correct answer code :

	 (A) 1 and 2 both are correct	 (B) 1 and 2 both are not correct

	 (C) only 1 is correct		  (D) only 2 is correct
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035.	 Mkk{kSf {k¤¾wt fkuLku Mk{krðü fhu Au ?
	 (A) Mkkûkhíkk fkÞo¢{, rþûký		 (B) ònuh ykhkuøÞ
	 (C) ykðkMk, ÃkeðkLkwt Ãkkýe yLku MðåAíkk	 (D) (A), (B) yLku (C) {kt Ëþkoðu÷ ík{k{ «ð]r¥kyku

036.	 �nk{kuo™kRÍTz r‚Mx{ ykuV ™ku{u™õ÷u[h (Harmonised System of Nomenclature) (HSN) fkuz ‚tƒtrÄŒ ™e[u™k 
r™ðuË™ku™u æÞk™{kt ÷ku.

	 1. Œu rðï ðu…kh ‚t„X™ (WTO) îkhk rðfr‚Œ yuf ƒnwnuŒwf yktŒhhk»xÙeÞ Wí…kË™ ™k{fhý Au.
	 2. Œu ‚{„ú rðï{kt ÔÞðrMÚkŒ heŒu {k÷‚k{k™™k ð„eofhý™u ‚h¤ ƒ™kððk™k rðÍ™ ‚kÚku rðf‚kððk{kt ykÔÞwt nŒwt.
	 3. ¼khŒ{kt, HSN fkuz fMxB‚ y™u GST …h ÷k„w ÚkkÞ Au.
	 W…hkuõŒ{ktÚke fÞk rðÄkLkku MkíÞ Au ?
	 (A) 1, 2 		  (B) 2, 3
	 (C) 1, 3		  (D) 1, 2, 3 

037.	 ÃkÞkoðhýeÞ yMkh {qÕÞktfLk (Environmental Impact Assessment) (EIA) fE heíku ÔÞkÏÞkrÞík Au ?
	 (A) �Lkfkhkí{f yMkhkuLku ½xkzðk yLku fwËhíke ÃkÞkoðhý yLku Mkw¾kfkhe{kt Mkfkhkí{f ÞkuøkËkLk ykÃkðk {kxu, rLkðkhý 

r¢ÞkykuLku ÔÞkÏÞkrÞík fhðk {kxu, Mkqr[ík «kusuõx yÚkðk rðfkMkLke Mkt¼rðík yMkhkuLku yku¤¾ðk, ykøkkne fhðk yLku 
{qÕÞktfLk fhðkLke «r¢Þk

	 (B) �ÃkÞkoðhý, Mkk{kSf - ykŠÚkf {wÆkyku yLku MktMf]ríkLke ykÞkuSík rðfkMk Ãkh yMkhku Ãkh MkhfkhLkk «ríkrLkrÄyku îkhk 
÷¾kÞu÷ ynuðk÷

	 (C) ÞkusLkk SðLk [¢ {qÕÞktfLk (Project life-cycle assessment)

	 (D) hkufký WÃkh ð¤íkhLkwt {qÕÞktfLk

038.	 ¼khík{kt QòoLkk Mºkkuíkku rðþu Lke[uLkk Ãkife fÞwt rðÄkLk Mkk[wt Au ?
	 (A) s¤ rðãwík ¼khík{kt Qòo WíÃkkËLkLkku MkkiÚke {kuxku Mºkkuík Au.
	 (B) W»{k Qòo ¼khík{kt Qòo WíÃkkËLkLkku MkkiÚke {kuxku Mºkkuík Au.
	 (C) Mkkih Qòo ¼khík{kt Qòo WíÃkkËLkLkku MkkiÚke {kuxku Mºkkuík Au.
	 (D) ÃkðLk Qòo ¼khík{kt Qòo WíÃkkËLkLkku MkkiÚke {kuxku Mºkkuík Au.

039.	 rðÄkLkku [fkMkku.
	 1. �Mkkøkh{k÷k fkÞo¢{ yu ÷½w¥k{ {k¤¾kfeÞ hkufký MkkÚku EXIM yLku MÚkkrLkf ðuÃkkh {kxu ÃkrhðnLk (Logistics) 

¾[o ½xkzðk {kxuLkku Au. íku{kt {kuz÷ r{©ýLkk yLkwfw÷LkLkk {kæÞ{Úke MÚkkrLkf fkøkkuoLkk ÃkrhðnLkLkk ¾[o{kt ½xkzku 
fhðku, EXIM fLxuLkhLkk ÃkrhðnLk{kt Mk{Þ/¾[oLku LÞqLkík{ fheLku, çktËhLke LkSf y÷øk-y÷øk rðrLk{koý Mk{wnku 
rðfMkkðeLku, rLkfkMk MÃkÄkoí{õíkk{kt MkwÄkhku fhðkLkku Mk{kðuþ ÚkkÞ Au.

	 2. �yuhÃkkuxo ykuÚkkuhexe ykuV EÂLzÞk (AAI)Lke h[Lkk MktMkËLkk yrÄrLkÞ{ îkhk fhðk{kt ykðe níke yLku 1÷e yur«÷ 
1990 Lkk hkus yÂMíkíð{kt ykðe níke. AAI fw÷ 137 yuhÃkkuxoLkwt Mkt[k÷Lk fhu Au su{kt 24 yktíkhhk»xÙeÞ yuhÃkkuxo 10 
fMx{ yuhÃkkuxo yLku 103 MÚkkrLkf yuhÃkkuxoLkku Mk{kðuþ ÚkkÞ Au.

	 WÃkhLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?
	 (A) {kºk 1		  (B) {kºk 2
	 (C) 1 íkÚkk 2 çktLku		  (D) 1 yLku 2 {ktÚke yuf Ãký Lknª
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035.	 Social infrastructure includes
	 (A) Literacy Programme, Education.
	 (B) Public Health.
	 (C) Housing, Drinking Water and Sanitation.
	 (D) All activities mentioned in (A), (B) and (C).

036.	 Consider the following statements regarding Harmonised System of Nomenclature (HSN) Code. 
	 1. �It is a multipurpose international product nomenclature developed by the World Trade 

Organization (WTO). 
	 2. �It was developed with the vision of facilitating the classification of goods all over the world in a 

systematic manner. 
	 3. In India, HSN codes apply to Customs and GST. 
	 Which of the above statements are correct? 
	 (A) 1, 2 		  (B) 2, 3
	 (C) 1, 3		  (D) 1, 2, 3 

037.	 EIA–Environmental Impact Assessment (EIA) is defined as
	 (A) �A process of identifying, predicting and evaluating the likely impacts of a proposed project or 

development to define mitigation actions to reduce negative impacts and to provide positive 
contributions to the natural environment and well-being

	 (B) �A report written by government representatives on the planned development impacts of 
environment, socio-economic issues and culture

	 (C) Project life-cycle assessment
	 (D) Evaluation of return on investment.

038.	 Which of the following statements is correct about the sources of energy (power) in India?
	 (A) Hydroelectricity is the largest source of energy (power) generation in India
	 (B) Thermal energy is the largest source of energy (power) generation in India
	 (C) Solar energy is the largest source of energy (power) generation in India
	 (D) Wind energy is the largest source of energy (power) generation in India

039.	 Evaluate the statements :
	 1. �Sagarmala Program  is to reduce logistics cost for EXIM and domestic trade with minimal 

infrastructure investment. This includes: Reducing cost of transporting domestic cargo through 
optimizing modal mix, Improving export competitiveness by developing port proximate discrete 
manufacturing clusters, Optimizing time/cost of EXIM container movement.

	 2. �Airports Authority of India (AAI) was constituted by an Act of Parliament and came into being 
on 1st April 1990. AAI manages a total of 137 airports which include 24 International airports, 
10 Custom airports and 103 Domestic airports.

	 From the above mentioned statements which statement/statements is/are correct?
	 (A) only 1		  (B) only 2
	 (C) both 1 and 2 are correct	 (D) both 1 and 2 are not correct
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040.	 {Lkw»Þ «kf]ríkfefhý (Naturalisation of humans)Lkku yÚko...

	 (A) rLkBLk MíkhLkku íkfLkefe rðfkMk	 (B) Wå[ MíkhLkku íkfLkefe rðfkMk

	 (C) {æÞ{ MíkhLkku íkfLkefe rðfkMk	 (D) WÃkhkuõík Ãkife yuf Ãký Lknª

041.	 2011Lke ðMíke økýíkhe yLkwMkkh fÞk hkßÞ{kt Lkfkhkí{f ðMíke ð]rØ ÚkÞu÷ Au ?

	 (A) fuh¤	 	 (B) Lkkøkk÷uLz

	 (C) økkuðk	 	 (D) íkr{÷Lkkzw

042.	 2011Lke ðMíke økýíkhe yLkwMkkh Lke[uLkk Ãkife fÞwt hkßÞ MkkiÚke ykuAe ðMíke øke[íkk Ähkðu Au ?

	 (A) r{Íkuh{		  (B) Lkkøkk÷uLz

	 (C) yYýk[÷ «Ëuþ		  (D) rn{k[÷ «Ëuþ

043.	 Lke[u ykÃku÷ ¼khíkLkk çktÄkhýLke f÷{kuLku íku{Lke òuøkðkEyku MkkÚku ÞkuøÞ heíku òuzku.

	 f÷{	 òuøkðkEyku

	 a. 268	 1. Mkt½Lke ykðf {kxu [ku¬Mk fhðuhk yLku þwÕf WÃkh Mkh[kso

	 b. 270	 2. Mkt½ îkhk Mkuðkfh ðMkq÷ fhðk{kt ykðþu

	 c. 271	 3. fhðuhk Mkt½ Mkhfkh Lkk¾þu Ãkhtíkw íkuLke ðMkq÷kík yLku rðLkeÞkuøk hkßÞku fhþu

	 d. 268-A	 4. fhðuhk Mkt½ Mkhfkh Lkk¾þu yLku ðMkq÷kík fhþu Ãkhtíkw Mkt½ yLku hkßÞku ðå[u ðnU[e ykÃkðk{kt ykðþu

	 (A) a - 1, b - 2, c - 3, d - 4	 (B) a - 1, b - 3, c - 2, d - 4

	 (C) a - 3, b - 4, c - 1, d - 2	 (D) a - 2, b - 1, c - 4, d - 3

044.	 Lke[uLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?

	 1. �{níðLke {k¤¾kfeÞ ÞkusLkkykuLkk y{÷efhý {kxu hkßÞ Mkhfkh rîÃkûkeÞ yusLMkeyku ÃkkMkuÚke çkkÌk heíku MknkÞ ÷E 

þfþu.

	 2. Mkt½ Mkhfkh îkhk h[kÞu÷ fkuÃkkuohuþLMk yÚkðk ftÃkLke Ãkh hkßÞ yLku MÚkkrLkf Mk¥kk{tz¤ku fhðuhk ÷økkðe þfu Au.

	 (A) {kºk 1		  (B) {kºk 2

	 (C) 1 íkÚkk 2 çktLku		  (D) 1 yLku 2 {ktÚke yuf Ãký Lknª

045.	 CRR þwt Au ?

	 1. íku çkuLf ÚkkÃkýkuLkk «ríkþík Au fu su RBI ÃkkMku {kºk MkkuLkkLke yLkk{íkLkk YÃk{kt hk¾u Au.

	 2. íku çkuLf îkhk RBI {kt yLkk{ík yÚkðk ¼tzku¤Lkk MðYÃk{kt fhðk{kt ykðu÷e ÚkkÃkýku Au.

	 (A) {kºk 1		  (B) {kºk 2

	 (C) 1 íkÚkk 2 çktLku		  (D) 1 yLku 2 {ktÚke yuf Ãký Lknª

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight



M

[CSP-2] 19[P.T.O.

040.	 Naturalisation of humans means

	 (A) Low level of technological development

	 (B) High level of technological development

	 (C) Moderate level of technological development

	 (D) None of the above

041.	 Which of the following State has negative population growth according to Census 2011?

	 (A) Kerala		  (B) Nagaland

	 (C) Goa		  (D) Tamil Nadu

042.	 According to Census 2011, which of the following State has the lowest population density in India?

	 (A) Mizoram		  (B) Nagaland

	 (C) Arunachal Pradesh		  (D) Himachal Pradesh

043.	  Match the following Articles of the Constitution of India with their provisions correctly.

	 Article	 Provisions

	 a. 268	 1. Surcharge on certain taxes and duties for purposes of the Centre.

	 b. 270	 2. Service tax levied by the Centre.

	 c. 271	 3. Taxes levied by the Centre but collected and appropriated by the States.

	 d. 268-A	 4. �Taxes levied and collected by the Centre but distributed between the Centre and the 
States.

	 (A) a - 1, b - 2, c - 3, d - 4	 (B) a - 1, b - 3, c - 2, d - 4

	 (C) a - 3, b - 4, c - 1, d - 2	 (D) a - 2, b - 1, c - 4, d - 3

044.	 Which of the following is/are true?

	 1. �A State government can avail external assistance from bilateral agencies for implementation of 
vital infrastructure projects.

	 2. �State and local authorities can tax the corporations or the companies created by the Union 
government.

	 (A) Only 1		  (B) Only 2

	 (C) Both 1 and 2		  (D) Neither 1 nor 2

045.	 What is CRR?

	 1. It is a percentage of bank deposits that they keep with the RBI as gold deposits only

	 2. It is a deposit made by bank with RBI in the form of reserve or balances

	 (A) Only 1		  (B) Only 2

	 (C) Both 1 and 2		  (D) Neither 1 nor 2
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046.	 ¼khíkLkk f]r»kûkuºkLkk {wÏÞ Ãkzfkhku fÞk Au ?

	 1. �s{eLkLkk yuf{ rðMíkkh ËeX f]r»k WíÃkkËõíkk ðÄkhðe : WÃks{kt ðÄkhku, Wå[ {qÕÞLkk ÃkkfLkk ðirðæÞfhý yLku {kfuoxªøk 
¾[o ½xkzðk {kxu {qÕÞ þ]t¾÷k (value chains) rðfMkkððe.

	 2. �Mkk{kSf heíku Mk{kðuþe fkÞoLkerík îkhk økúk{eý økheçke ½xkzðe, su{kt f]r»k íku{s rçkLk-¾uíke hkusøkkh çktLkuLkku Mk{kðuþ 
ÚkkÞ Au.

	 3. f]r»k rðfkMk ¾kã Mkwhûkk ykð~ÞõíkkykuLku ÞkuøÞ heíku «ríkMkkË ykÃku íku MkwrLkrùík fhðwt

	 (A) 1 yLku 2		  (B) 2 yLku 3

	 (C) 1 yLku 3		  (D) 1, 2 yLku 3

047.	 Lke[uLkk rðÄkLkku [fkMkku.

	 1. ¾uzqíkkuLkk sqÚkkuLku MkSð ¾uíke fhðk {kxu «urhík fhðk {kxu ÃkhtÃkhkøkík f]r»k rðfkMk ÞkusLkk þY fhðk{kt ykðe Au.

	 2. [ku¬Mk ÃkkfkuLke WíÃkkËõíkk xfkW heíku ðÄkhðk {kxu MkkuE÷ nuÕÚk fkzo Ëk¾÷ fhðk{kt ykÔÞk Au.

	 3. �çkøkze òÞ íkuðe f]r»k çkkøkkÞíke [esðMíkwykuLkk ¼kð rLkÞtºký {kxu çkòhLkk nMíkûkuÃkLku MknkÞ fhðk {kxu ¼kð-
ÂMÚkhefhý ¼tzku¤Lke MÚkkÃkLkk fhðk{kt ykðe Au.

	 4. �økúk{ ßÞkurík ÞkusLkk yu yrðhík ðesÃkwhðXku Ãkqhku Ãkkzþu. íkuLkkÚke {kºk WíÃkkËLk s Lknª Ãkhtíkw fwrxh Wãkuøkku, rþûký 
Mkrník ¾uzqíkkuLkk Mk{økúík: SðLk Ãkh Ãký {kuxe yMkh Ãkzþu.

	 Mkk[ku W¥kh fkuz ÃkMktË fhku.

	 (A) 1, 2 yLku 3 Mkk[k Au.	 	 (B) 2, 3 yLku 4 Mkk[k Au.

	 (C) 1, 3 yLku 4 Mkk[k Au.		  (D) 1, 2, 3 yLku 4 Mkk[k Au.

048.	 ykÃku÷k rðÄkLkku [fkMkku.

	 1. �ËuþLke 65 «ríkþík (2021 Lkk yktfzk {wsçk) ðMíke økúk{eý rðMíkkh{kt hnu Au yLku 47 «ríkþík ðMíke SðLk rLkðkon {kxu 
f]r»k WÃkh ykÄkrhík Au.

	 2. �ËeLkËÞk¤ ytíÞkuËÞ ÞkusLkk - hk»xÙeÞ økúk{eý SðLk rLkðkon r{þLk (Deendayal Antyodaya Yojana - National 
Rural Livelihood Mission) ( DAY - NRLM) Lkku nuíkw ykŠÚkf heíku Lkçk¤k ÃkrhðkhkuLku ÷k¼ËkÞf (gainful) 
Mðhkusøkkh yLku fwþ¤ (skilled) ðuíkLk hkusøkkhLke íkfku {u¤ððk {kxu Mkûk{ çkLkkððkLkku Au.

	 3. �s÷ SðLk r{þLk (JJM) yu hkßÞkuLke ¼køkeËkheÚke y{÷{kt {qfðkLke ònuhkík fhðk{kt ykðe níke, suLkkÚke 
økk{zkyku{kt Ëhuf økúk{eý ½h yLku ònuh MktMÚkkyku suðe fu þk¤kyku, yktøkýðkze fuLÿku, yk©{ þk¤kyku, ykhkuøÞ 
fuLÿku ðøkuhuLku Lk¤Lkk ÃkkýeLkwt òuzký ÃkwYt Ãkkzðk{kt ykðu.

	 Mkk[ku W¥kh fkuz ÃkMktË fhku.

	 (A) 1 yLku 3 Mkk[k Au.		  (B) 2 yLku 3 Mkk[k Au.

	 (C) 1 yLku 2 Mkk[k Au.		  (D) 1, 2 yLku 3 ík{k{ Mkk[k Au.

049.	 Lke[uLkk Ãkife fÞku Wãkuøk Wøkíkk MkqÞo Wãkuøk (Sun rising) íkhefu òýeíkku Au ?

	 (A) zuhe Wãkuøk		  (B) ELVku{uoþLk xufLkku÷kuS

	 (C) MðkMÚÞ yLku õ÷eLkef		  (D) nehk Wãkuøk
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046.	 What are the major agriculture sector challenges of India?

	 1. �Raising agricultural productivity per unit of land: increasing yields, diversification to higher 
value crops, and developing value chains to reduce marketing costs.

	 2. �Reducing rural poverty through a socially inclusive strategy that comprises both agriculture as 
well as non-farm employment.

	 3. Ensuring that agricultural growth responds to food security needs

	 (A) 1 and 2		  (B) 2 and 3

	 (C) 1 and 3		  (D) 1, 2 and 3

047.	 Evaluate the statements mentioned below.

	 1. �Paramparagat Krishi Vikas Yojana has been launched to motivate groups of farmers to take up 
organic farming.

	 2. �Soil Health cards have been introduced to enhance productivity of specific crops in a sustainable 
manner.

	 3. �Price Stabilisation Fund has been established to support market interventions for price control 
of perishable, agri-horticultural commodities

	 4. �Gram Jyoti Yojana will provide uninterrupted electricity supply. This will not only boost 
production, but will also have a huge impact on the overall lives of the farmers, including cottage 
industries, education, etc.

	 Select the correct answer code :

	 (A) 1, 2 and 3 are correct.	 (B) 2, 3 and 4 are correct.

	 (C) 1, 3 and 4 are correct.	 (D) 1, 2, 3 and 4 are correct.

048.	 EVALUATE THE STATEMENTS.

	 1. �65 per cent (2021 data) of the country’s population lives in the rural areas and 47 per cent of the 
population is dependent on agriculture for livelihood.

	 2. �The Deendayal Antyodaya Yojana-National Rural Livelihood Mission (DAY-NRLM),  aims 
to enable economically weak households to access gainful self-employment and skilled wage 
employment opportunities.

	 3. �Jal Jeevan Mission (JJM)  was announced to be implemented in partnership with States, to 
provide tap water connection to every rural household and public institutions in villages like 
schools, Anganwadi centres, ashram shalas, health centres etc

	 Select the correct answer code :

	 (A) 1 and 3 are correct.		  (B) 2 and 3 are correct.

	 (C) 1 and 2 are correct.		  (D) 1, 2 and 3 all are correct.

049.	 Which of the following industry is known as sun rising industry?

	 (A) Dairy industry		  (B) Information Technology

	 (C) Health and clinic		  (D) Diamond industry
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050.	 Lke[uLkk rðÄkLkku [fkMkku.

	 1. MkwþkMkLk Mkq[fktf (Good Governance Index){kt økwshkík Mk¤tøk çku ð»ko {kxu «Úk{ ¢{u ykðu÷ Au.

	 2. �rLkfkMk íkiÞkhe Mkq[fktf (Export Preparedness Index) 2021 {kt økwshkík 78.86 Lkk «kÃíkktf MkkÚku «Úk{ ykðu÷ Au 
su Yk. 228833 fhkuz (US $ 30660 {e÷eÞLk) Lke MkeÄe rðËuþe {qze ¾U[e ÷kÔÞwt Au.

	 3. �hkßÞ ¾kã Mkwhûkk Mkq[fktf (State Food Safety Index) 2021-22{kt {kuxk 20 hkßÞku{kt økwshkík 77.5 Lkk «kÃíkktf 
MkkÚku çkeò ¢{u Au.

	 4. �DPIIT hUfªøk yLkwMkkh Mxkxo-yÃk {kxu «çk¤ EfkuMkeMx{ «ËkLk fhðk{kt økwshkík «Úk{ ¢{u Au. Mxkxo-yÃk huLfªøk 
hkßÞku 2021{kt hkßÞkuLke ©uýe{kt økwshkík ©uc «ËþoLk fhLkkh íkhefu W¼he ykÔÞwt Au.

	 Mkk[ku W¥kh fkuz ÃkMktË fhku.

	 (A) 1, 2 yLku 3 Mkk[k Au.	 	 (B) 2, 3 yLku 4 Mkk[k Au.

	 (C) 1, 3 yLku 4 Mkk[k Au.		  (D) 1, 2, 3 yLku 4 Mkk[k Au.

051.	 fð÷ ðk½ ykhrûkík ûkuºk .......... ¾kíku ÂMÚkík Au.

	 (A) fuh¤		  (B) íku÷tøkkýk

	 (C) fýkoxf		  (D) íkr{÷Lkkzw

052.	 Lke[uLkk Ãkife fE LkËe ®MkÄw LkËeLke WÃkLkËe LkÚke ?

	 (A) rçkÞkMk LkËe (Beas River)	 (B) ÍtMfkh LkËe (Zanskar River)

	 (C) fk{uLøk LkËe (Kameng River)	 (D) ~Þkuf LkËe (Shyok River)

053.	 ÷q (Insolation){kt ðÄ½xLkk fkhýLkk Ãkrhçk¤ku :

	 1. ðkíkkðhýLke ÃkkhËþoõíkk (Transparency)

	 2. s{eLkLkwt íkuLkk Ãkrh{ký (aspects)Lke árüyu MkkÃkuûk MðYÃk (configuration)

	 3. rËðMkLke ÷tçkkE

	 Mkk[ku W¥kh fkuz ÃkMktË fhku.
	 (A) 1, 2		  (B) 1, 3
	 (C) 2, 3		  (D) 1, 2, 3

054.	 ‘ðMíke rð»kÞf xÙuÃk (ò¤)’ þçËLkku WÃkÞkuøk ðMíkerðËku îkhk Lke[uLkk Ãkife þuLkk MktÞkuøkLku ðýoððk {kxu fhðk{kt ykðu Au ?

	 1. Ãkuxk-«ríkMÚkkÃkLk Míkh «sLkLk Ëh (Sub-replacement level fertility rate)

	 2. Ÿ[ku «sLkLk Ëh (High fertility rate)

	 3. {]íÞw Ëh{kt ½xkzku (Declining Mortality)

	 4. ðÄíkku {]íÞw Ëh (Increasing Mortality)

	 Mkk[ku W¥kh fkuz ÃkMktË fhku.
	 (A) 1, 3		  (B) 1, 4
	 (C) 2, 3		  (D) 1, 2
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050.	 Evaluate the statements mentioned below.

	 1. �Good Governance Index Gujarat has been ranked first for two consecutive years.

	 2. �Export Preparedness Index 2021 Gujarat ranked first with a score of 78.86 attracted Foreign 
Direct Capital of Rs. 228833 crore (US$ 30660 million).

	 3. �State Food Safety Index 2021-22 among the large 20 States, Gujarat ranked 2nd with 
77.5 score.

	 4. �As per DPIIT ranking, Gujarat ranked 1st in providing strong ecosystem for start-ups. Gujarat 
emerged as the Best Performer in A category of States in Start-up Ranking of States - 2021.

	 Select the correct answer code :

	 (A) 1, 2 and 3 are correct.	 (B) 2, 3 and 4 are correct.

	 (C) 1, 3 and 4 are correct.	 (D) 1, 2, 3 and 4 are correct.

051.	 Kawal Tiger Reserve is located in

	 (A) Kerala		  (B) Telangana

	 (C) Karnataka		  (D) Tamil Nadu

052.	 Which of the following is not a tributary of the River Indus?

	 (A) Beas River		  (B) Zanskar River

	 (C) Kameng River		  (D) Shyok River

053.	 The factors that cause variations in insolation are:

	 1. The transparency of the atmosphere

	 2. The configuration of land in terms of its aspect

	 3. The length of the day

	 Select the correct answer code:

	 (A) 1, 2		  (B) 1, 3

	 (C) 2, 3		  (D) 1, 2, 3

054.	� The term demographic trap is used by demographers to describe which of the following 
combination?

	 1. Sub-replacement level fertility rates

	 2. High fertility rate

	 3. Declining mortality

	 4. Increasing Mortality

	 Select the correct answer code:

	 (A) 1, 3		  (B) 1, 4

	 (C) 2, 3		  (D) 1, 2
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055.	� [¢ðkíkLkk Lkk{ ÃkMktË fhíke ð¾íku su íku Ëuþku yu fux÷kf rLkÞ{kuLkwt Ãkk÷Lk fhðwt sYhe Au. [¢ðkíkLku Lkk{ ykÃkíke ð¾íku 
Lke[uLkk Ãkife fE {køkoËŠþfk yÃkLkkððk{kt ykðu Au ?

	 1. Mkqr[ík Lkk{ ÄkŠ{f {kLÞíkkyku yLku MktMf]ríkyku {kxu rLk»Ãkûk nkuðwt òuEyu.
	 2. Lkk{Lke {n¥k{ ÷tçkkE Ãkkt[ yûkhkuLke nþu.
	 3. Lkk{ Lkðwt nkuðwt òuEyu yLku Lkk{Lkwt ÃkwLkhkðíkoLk Úkðwt òuEyu Lk®n.
	 Mkk[ku W¥kh fkuz ÃkMktË fhku.
	 (A) {kºk 1		  (B) 1, 2
	 (C) 1, 3		  (D) 1, 2, 3

056.	 Lke[u ykÃku÷k rðÄkLkku æÞkLk{kt ÷ku.
	 1. �¼khíkLke {wÏÞ ¼qr{Lkk ËrhÞk rfLkkhkLke ÷tçkkE íkÚkk ÷ûkîeÃk xkÃkwyku íku{s yktËk{kLk yLku rLkfkuçkkh xkÃkwykuLkk ËrhÞk 

rfLkkhkLke fw÷ ÷tçkkE ¼khíkLke ¼qr{ MkhnËLke ÷tçkkE fhíkkt ðÄw Au.
	 2. �©e÷tfk ÃkkÕfLke Mkk{wÿ ÄwLke yLku {wLLkkhLkk y¾kík îkhk h[kÞu÷k Mk{wÿLkk Mkktfzk {køko îkhk ¼khíkÚke y÷øk Ãkzu Au.
	 WÃkhLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?
	 (A) {kºk 1		  (B) {kºk 2
	 (C) 1 íkÚkk 2 çktLku		  (D) 1 yLku 2{ktÚke yuf Ãký Lknª

057.	 yuMkezef ¾zfku rðþu Lke[uLkk rðÄkLkku æÞkLk{kt ÷ku.
	 1. yk ¾zfku Mke÷efkLkwt yÃkqhíkwt «{ký Ähkðu Au.
	 2. yk ¾zfku ÍzÃkÚke Xtzk Ãkze òÞ Au yLku íku ðÄw Ëqh MkwÄe Vu÷kÞu÷k nkuíkk LkÚke.
	 3. økúuLkkEx, õðkxTÍo yLku VuÕzMÃkkh yuMkezef ¾zfkuLkk WËknhý Au.
	 WÃkhLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?
	 (A) 1, 2		  (B) {kºk 2
	 (C) 2, 3		  (D) 1, 2, 3

058.	 Lke[u ykÃku÷k rðÄkLkku [fkMkku.
	 1. Ãkrù{ ½kx yu Ãkqðo ½kxLke Mkh¾k{ýe{kt ðÄw Ÿ[kE Ähkðu Au.
	 2. Ãkrù{ ½kx yu Ãkqðo ½kx fhíkkt ðÄw ºkwxf Au yLku yríkþÞ Äkuðký ðk¤ku Au.
	 3. òðkze xufheyku, Ãkk÷fkuLzk Ãkðoík{k¤k yLku LkkÕ÷k{k÷k xufheyku Ãkrù{ ½kxLkk rnMMkk Au.
	 WÃkhLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?
	 (A) {kºk 1	 (B) 1, 2	 (C) 1, 3	 (D) 1, 2, 3

059.	 rþÞk¤w yÞLkfk¤ rðþu Lke[uLkk rðÄkLkku æÞkLk{kt ÷ku.
	 1. íku rËðMku W¥khÄúwð MkqÞoÚke MkkiÚke ðÄw Ëqh Lk{u÷ku nkuÞ Au.
	 2. MkqÞo Ërûký økku¤kÄo{kt {fhð]¥k Ãkh MkeÄku {kÚkk WÃkh nkuÞ Au.
	 WÃkhLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?
	 (A) {kºk 1		  (B) {kºk 2
	 (C) 1 íkÚkk 2 çktLku		  (D) 1 yLku 2{ktÚke yuf Ãký Lknª
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055.	� While picking names for cyclones, countries need to follow some rules. Which of the following are 
the guidelines adopted while naming cyclones?

	 1. The proposed name should be neutral to religious believes and cultures.
	 2. The maximum length of the name will be five letters.
	 3. The name should be new and will not be repeated.
	 Select the correct answer code:
	 (A) 1 only		  (B) 1, 2
	 (C) 1, 3		  (D) 1, 2, 3

056.	 Consider the following statements.
	 1. �The total length of the coastline of India’s mainland, Lakshadweep Islands and Andaman and 

Nicobar Islands together is more than the length of India’s land frontier.
	 2. �Sri Lanka is separated from India by a narrow channel of sea formed by the Palk Strait and the 

Gulf of Mannar.
	 Which of the above statements is/are correct?
	 (A) 1 only		  (B) 2 only
	 (C) Both 1 and 2		  (D) Neither 1 nor 2

057.	 Consider the following statements regarding Acidic Rocks.
	 1. These rocks are poor in silica.
	 2. These rocks cool fast and it does not spread far away.
	 3. Granite, quartz and feldspar are the examples of Acidic Rocks.
	 Which of the above statements is/are correct?
	 (A) 1, 2		  (B) 2 only
	 (C) 2, 3		  (D) 1, 2, 3

058.	 Consider the following statements.
	 1. Western Ghats are comparatively higher in elevation than the Eastern Ghats.
	 2. Western Ghats are more discontinuous than the Eastern Ghats and are highly eroded.
	 3. Javadi hills, the Palconda range and the Nallamala hills are part of Western Ghats.
	 Which of the above statements is/are correct?
	 (A) 1 only		  (B) 1, 2
	 (C) 1, 3		  (D) 1, 2, 3

059.	 Consider the following statements regarding the Winter Solstice:
	 1. It is the day when the North Pole is most tilted away from the Sun.
	 2. The Sun is directly overhead of the Tropic of Capricorn in the Southern Hemisphere.
	 Which of the above statements is/are correct?
	 (A) 1 only		  (B) 2 only
	 (C) Both 1 and 2		  (D) Neither 1 nor 2
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060.	 ËMk zeøkúe s÷MktrÄ (Ten Degree Channel) fkuLke ðå[u òuðk {¤u Au ?

	 (A) Ërûký yktËk{kLk yLku LkkLkk yktËk{kLk	 (B) W¥kh yktËk{kLk yLku {æÞ yktËk{kLk

	 (C) LkkLkk yktËk{kLk yLku fkh rLkfkuçkkh	 (D) fkh rLkfkuçkkh yLku {kuxk rLkfkuçkkh

061.	 Mkík÷s LkËe ¼khík{kt fÞk ½kx{ktÚke «ðuþu Au ?

	 (A) Lkerík ½kx (Niti Pass)		  (B) {kLk ½kx (Mana Pass)

	 (C) rþÃkfe÷k ½kx (Shipki La Pass)	 (D) LkkÚkw÷k ½kx (Nathu La Pass)

062.	 W¥kh-ÃkqðeoÞ Wå[«Ëuþ rðþu Lke[uLkk rðÄkLkku æÞkLk{kt ÷ku.

	 1. W¥kh-ÃkqðeoÞ Wå[«Ëuþ yu {wÏÞ rîÃkfÕÃkeÞ Wå[ «ËuþÚke y÷øk Au.

	 2. �{u½k÷ÞLkk Wå[ «Ëuþ{kt Ërûký Ãkrù{ [ku{kMkkÚke {n¥k{ ðhMkkË ðhMku Au, suLkk Ãkrhýk{u íku yíÞtík Äkuðký ðk¤e 
MkÃkkxe Ähkðu Au.

	 3. {u½k÷ÞLkk Wå[ «ËuþLke ¼kiøkkur÷f ÃkrhÂMÚkríkLku fkhýu íku{kt fku÷Mkk yLku ÞwhurLkÞ{Lkk ¼tzkh ykðu÷k LkÚke.

	 WÃkhLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?

	 (A) 1, 2		  (B) {kºk 2
	 (C) 2, 3		  (D) 1, 3

063.	 Lke[uLkk Ãkife fE LkËeyku ‘{w¾rºkfkuý «Ëuþ’ h[íke LkÚke ?

	 1. íkkÃke

	 2. {nkLkËe

	 3. Lk{oËk

	 4. økkuËkðhe

	 Mkk[ku W¥kh fkuz ÃkMktË fhku.
	 (A) 1, 2		  (B) 2, 3, 4
	 (C) 3, 4		  (D) 1, 3

064.	 Ãkkuzw (Podu) yu MÚkkLkktíkheík (shifting) ¾uíkeLkwt yuf MðYÃk Au su {wÏÞíðu .......... {kt y{÷{kt {qfðk{kt ykðu÷ Au.

	 (A) ykurhMMkk		  (B) Íkh¾tz

	 (C) íku÷tøkkýk		  (D) Ãkrù{ çktøkk¤

065.	� rn{k÷ÞLkk ûkuºk{kt ðkhtðkh Úkíkk ¼qM¾÷Lk yLku fkx{k¤Lkk rn{«Ãkkík {kxu Lke[uLkk{ktÚke fÞk fkhýku sðkçkËkh 
økýe þfkÞ ?

	 1. rn{k÷Þ Ãkðoík yu xufxkurLkf árüyu ÂMÚkh Au.

	 2. Zku¤kð yu yríkþÞ Q¼k Zk¤ðk¤k Au.

	 3. íkuyku {kuxk ¼køku s¤f]ík ¾zfku yLku yMktøkrXík rLkûkuÃkLkk çkLku÷k nkuÞ Au.

	 Mkk[ku W¥kh fkuz ÃkMktË fhku.
	 (A) 1, 3		  (B) 1, 2
	 (C) 2, 3		  (D) 1, 2, 3
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060.	 Ten degree channel is found between _______.

	 (A) South Andaman and Little Andaman	 (B) North Andaman and Middle Andaman

	 (C) Little Andaman and Car Nicobar	 (D) Car Nicobar and Great Nicobar

061.	 Satluj river enters India through which of the following passes?

	 (A) Niti Pass		  (B) Mana Pass

	 (C) Shipki La Pass		  (D) Nathu La Pass

062.	 Consider the following statements regarding North-eastern Plateau.

	 1. �North-eastern Plateau is disassociated from the main Peninsular plateau.

	 2. �Meghalaya plateau receives maximum rainfall from the southwest monsoon, as a result of which 
it has a highly eroded surface.

	 3. �Due to its geographical conditions, coal and uranium reserves are not present in Meghalaya 
plateau.

	 Which of the above statements is/are correct?

	 (A) 1, 2		  (B) 2 only

	 (C) 2, 3		  (D) 1, 3

063.	 Which of the following rivers do not form ‘deltas’?

	 1. Tapi

	 2. Mahanadi

	 3. Narmada

	 4. Godavari

	 Select the correct answer code:

	 (A) 1, 2		  (B) 2, 3, 4

	 (C) 3, 4		  (D) 1, 3

064.	 Podu is a form of shifting cultivation practised mainly in _______.

	 (A) Odisha		  (B) Jharkhand

	 (C) Telangana		  (D) West Bengal

065.	� Which of the following are the reasons that can be attributed to the frequent landslides and debris 
avalanches in Himalayan region?

	 1. The Himalayas are tectonically stable.

	 2. The slopes are very steep.

	 3. They are mostly made up of sedimentary rocks and unconsolidated deposits.

	 Select the correct answer code:

	 (A) 1, 3		  (B) 1, 2

	 (C) 2, 3		  (D) 1, 2, 3
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066.	 økwshkíkLke MkhnËku yk «{kýu ykðu÷e Au.

	 1. W¥kh yLku W¥kh Ãkqðo{kt ÃkkrfMíkkLk yLku hksMÚkkLk

	 2. Ãkqðo{kt {æÞ«Ëuþ

	 3. Ërûký{kt {nkhk»xÙ íku{s fuLÿ þkrMkík «Ëuþku Ëeð, Ë{ý, ËkËhk yLku Lkøkhnðu÷e

	 4. hkßÞLke Ãkrù{ yLku Ërûký Ãkrù{ MkhnËu yhçke Mk{wÿ ykðu÷ Au.

	 WÃkhLkk rðÄkLkku [fkMkku.

	 (A) 1 íkÚkk 2 Mkk[k Au.		  (B) 2 íkÚkk 3 Mkk[k Au.

	 (C) 3 íkÚkk 4 Mkk[k Au.		  (D) 1, 2, 3 íkÚkk 4 Mkk[k Au.

067.	� Lke[uLkk{ktÚke fÞku ¼kiøkkur÷f þçË yu fwËhíke heíku çkLku÷k, Mkktfzk, Mkk{kLÞ heíku ðnký ntfkhe þfkÞ íkuðk s¤{køko 
MkkÚku MktçktrÄík Au su ÃkkýeLkk çku {kuxk ¼køkkuLku òuzu Au ?

	 (A) rîÃkfÕÃk		  (B) ¾kze

	 (C) Mkk{wÿÄwLke		  (D) rîÃk

068.	 Lke[uLkk{ktÚke fE ‘rîÃk Mk{qn’Lke ÞkuøÞ ÔÞkÏÞk Au ?

	 (A) yuf økku¤kfkh Ãkhðk¤kLkk ¾zfku su AeAhe ¾kze (lagoon) Lku ½uhe ÷u Au.

	 (B) yuf MkkÚku sqÚkçkæÄ xkÃkwykuLke þ]t¾÷k yÚkðk Mk{qn

	 (C) Ãk]Úðe Ãkh ðLkMÃkrík yLku «kýeSðLk

	 (D) WÃkhkuõík Ãkife yuf Ãký Lknª

069.	 Ãk]ÚðeLkk òuzfk (Earth’s Twin) íkhefu yku¤¾kíkku økún .......... Au.

	 (A) økwY		  (B) þrLk

	 (C) þw¢		  (D) çkwÄ

070.	 ðkíkkðhý{kt ykðu÷k Lke[u ykÃku÷k ðkÞwykuLku íku{Lke {kºkkLkk [Zíkk ¢{{kt økkuXðku.

	 1. LkkExÙkusLk

	 2. ykuÂõMksLk

	 3. fkçkoLk zkÞkuõMkkEz

	 4. ykøkkuoLk
	 (A) 1, 2, 3, 4		  (B) 1, 2, 4, 3
	 (C) 3, 4, 2, 1		  (D) 4, 3, 2, 1

071.	� hk»xÙeÞ ykÃkr¥k ÔÞðMÚkkÃkLk «krÄfhý (National Disaster Management Authority) (NDMA) Lkwt Lkuík]íð 
.......... fhu Au.

	 (A) ¼khíkLkk hk»xÙÃkrík		  (B) ¼khíkLkk WÃkhk»xÙÃkrík

	 (C) ¼khíkLkk «ÄkLk{tºke		  (D) ¼khíkLkk øk]n{tºke
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066.	 Gujarat stands bordered by _______.

	 1. Pakistan and Rajasthan in the north and north west.

	 2. Madhya Pradesh in the east.

	 3. Maharashtra and the Union territories of Diu, Daman, Dadra and Nagar Haveli in the south.

	 4. The Arabian Sea borders the State both to the west and the south west.

	 Evaluate the statements.

	 (A) 1 and 2 are correct		  (B) 2 and 3 are correct

	 (C) 3 and 4 are correct		  (D) 1, 2, 3 and 4 are correct

067.	� Which of the following geographical term is related to  a naturally formed, narrow, typically 
navigable waterway that connects two larger bodies of water?

	 (A) Peninsula		  (B) Gulf

	 (C) Strait		  (D) Island

068.	  Which of the following is a suitable definition of ‘Archipelago’?

	 (A) A circular coral reef that encloses a shallow lagoon.

	 (B) A chain or set of islands grouped together.

	 (C) The plant and animal life on the earth.

	 (D) None of the above

069.	  The planet known as the “Earth’s Twin” is

	 (A) Jupiter		  (B) Saturn 

	 (C) Venus		  (D) Mercury

070.	 Arrange the following gases of the atmosphere in increasing order by volume:

	 1. Nitrogen

	 2. Oxygen

	 3. Carbon dioxide

	 4. Argon

	 (A) 1, 2, 3, 4		  (B) 1, 2, 4, 3

	 (C) 3, 4, 2, 1		  (D) 4, 3, 2, 1

071.	 The National Disaster Management Authority (NDMA) is headed by

	 (A) President of India		  (B) Vice President of India

	 (C) Prime Minister of India	 (D) Home Minister of India
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072.	 íMkwLkk{e {kºk .......... Mk{Þ ËhBÞkLk s ykðe þfu Au.
	 (A) MkktsLkk (Evening)

	 (B) çkÃkkuh ÃkAeLkk (Afternoon)

	 (C) rËðMk fu hkrºkLkk øk{u íku Mk{Þu (Any time of the day or night)

	 (D) MkðkhLkk (Morning)

073.	 hku{Lk Ëuðíkk ÍTÞwMk (Zeus) Lkk Lkk{ WÃkhÚke fÞk økúnLkwt Lkk{ hk¾ðk{kt ykÔÞwt níkwt ?
	 (A) Ãk]Úðe	 (B) {tøk¤	 (C) þw¢	 (D) økwY

074.	 MkqÞoLkk MkkiÚke çknkhLkk MíkhLku .......... fnuðk{kt ykðu Au.
	 (A) ¢ku{kuMVeÞh		  (B) VkuxkuMVeÞh
	 (C) ÷eÚkkuMVeÞh		  (D) fkuhkuLkk

075.	 ÞkËe-I Lku ÞkËe-II MkkÚku òuzku yLku Lke[u ykÃku÷k fkuzLkku WÃkÞkuøk fheLku Mkk[ku sðkçk ÃkMktË fhku.
	 ÞkËe-I (økúnku)	 ÞkËe-II (WÃkøkúnku)
	 a. {tøk¤	 1. Tethys

	 b. økwY	 2. Deimos

	 c. þrLk	 3. Europa

	 d. ÞwhuLkMk	 4. Titania
	 (A) a - 1, b - 2, c - 3, d - 4	 (B) a - 2, b - 3, c - 1, d - 4
	 (C) a - 3, b - 2, c - 1, d - 4	 (D) a - 4, b - 3, c - 2, d - 1

076.	 ÞkËeykuLku òuzku.
	 ÞkËe-I (rþ¾hku)	 ÞkËe-II (Ãkðoík{k¤k)
	 a. økwYrþ¾h	 1. yLkk{÷kE
	 b. zkuzkçkuèk	 2. yhðÕ÷e
	 c. yLkk{wze	 3. rLk÷økehe
	 d. ÄwÃkøkZ	 4. MkkíkÃkwhk
	 (A) a - 2, b - 1, c - 3, d - 4	 (B) a - 2, b - 3, c - 1, d - 4
	 (C) a - 2, b - 4, c - 3, d - 1	 (D) a - 3, b - 2, c - 1, d - 4

077.	 ykÃkýk ¼khík Ëuþ rðþu Lke[uLkk rðÄkLkku æÞkLk{kt ÷ku.
	 1. ¼khík ykþhu 3.28 r{r÷ÞLk [ku. rf{eLkku rðMíkkh Ähkðu Au.
	 2. ¼khík Ërûký Ãkqðo yÄoøkku¤kÄo{kt ÂMÚkík Au.
	 3. ¼khík 8°4' W¥kh yLku 37°6' W¥kh yûkktþ ðå[u rðMíkhu÷ku Au.
	 4. ¼khík 68°7' Ãkqðo yLku 97°25' Ãkqðo hu¾ktþ ðå[u rðMíkhu÷ku Au.
	 WÃkhLkk rðÄkLkku Ãkife :
	 (A) {kºk 1 Mkk[wt Au.		  (B) 1, 2 yLku 3 Mkk[k Au.
	 (C) {kºk 3 yLku 4 Mkk[k Au.		  (D) 1, 3 yLku 4 Mkk[k Au.
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072.	 Tsunamis can occur only during _______.

	 (A) Evening		  (B) Afternoon

	 (C) Any time of the day or night	 (D) Morning

073.	 Which planet was named after the Roman God Zeus?

	 (A) Earth		  (B) Mars

	 (C) Venus		  (D) Jupiter

074.	 The outermost layer of the sun is called _______.

	 (A) Chromosphere		  (B) Photosphere

	 (C) Lithosphere		  (D) Corona

075.	 Match List-I with List-II and select the correct answer using the codes given below the lists

	 List-I (Planets)	 List-II (Satellites)

	 a. Mars	 1. Tethys

	 b. Jupiter	 2. Deimos

	 c. Saturn	 3. Europa

	 d. Uranus	 4. Titania

	 (A) a - 1, b - 2, c - 3, d - 4	 (B) a - 2, b - 3, c - 1, d - 4

	 (C) a - 3, b - 2, c - 1, d - 4	 (D) a - 4, b - 3, c - 2, d - 1

076.	 Match the following:

	 List-I (Peaks)	 List-II (Range)

	 a. Gurushikhar	 1. Anaimalai

	 b. Doddabetta	 2. Aravali

	 c. Anamudi	 3. Nilgiri

	 d. Dhupgarh	 4. Satpura

	 (A) a - 2, b - 1, c - 3, d - 4	 (B) a - 2, b - 3, c - 1, d - 4

	 (C) a - 2, b - 4, c - 3, d - 1	 (D) a - 3, b - 2, c - 1, d - 4

077.	 Consider the following statements about our country India:

	 1. India has an area of about 3.28 million sq. km.

	 2. India is located in the south-eastern hemisphere.

	 3. The latitudinal extent of India is 8°4′N and 37° 6′N latitudes.

	 4. The longitudinal extent of India is 68°7′E and 97° 25′ E longitudes.

	 Of these statements:

	 (A) Only 1 is correct		  (B) 1, 2 and 3 are correct

	 (C) Only 3 and 4 are correct	 (D) 1, 3 and 4 are correct
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078.	 Ãkrù{ ½kx{kt ykðu÷e MkkiÚke Ÿ[e Ãkðoík{k¤kLkwt yLÞ Lkk{ þwt Au ?

	 (A) Ãkeh Ãktsk÷		  (B) rMkðkr÷f (Siwalik) Ãkðoík{k¤k

	 (C) MknÞkÿe		  (D) Lk{[k çkhðk

079.	 ¼khíkLkk Lke[u ykÃku÷k ûkuºkku æÞkLk{kt ÷ku.

	 1. Ãkrù{ ½kx	 2. yhðÕ÷eLke xufheyku	 3. Ãkqðo rn{k÷Þ

	 WÃkhLkk Ãkife fÞwt / fÞk Sð ðirðæÞLkk ©uc MÚkkLk / MÚkkLkku Au ?

	 (A) {kºk 1		  (B) 1 yLku 3

	 (C) 2 yLku 3		  (D) WÃkhkuõík ík{k{

080.	 ¼khíkLkk fÞk rîÃk{kt Mkr¢Þ ßðk¤k{w¾e òuðk {¤u Au ?

	 (A) fkh rLkfkuçkkh rîÃk (Car Nicobar Island)	 (B) LkkLkfkuðhe rîÃk (Nancowry Island)

	 (C) çkuhLk rîÃk (Barren Island)	 (D) {kÞk çktËh rîÃk (Mayabunder Island)

081.	 ðk½Lkk ykhrûkík ûkuºkku íkÚkk hkßÞkuLke òuze Lke[u ykÃku÷e Au. fE òuze Mkk[e LkÚke ?

	 ¢{	 ðk½Lkk ykhrûkík ûkuºkku	 hkßÞ

	 (A)	 LkkøkkswoLkMkkøkh ©eþi÷{ ðk½ ykhrûkík ûkuºk	 yktÄú«Ëuþ

	 (B)	 f{÷ktøk ðk½ ykhrûkík ûkuºk	 yYýk[÷ «Ëuþ

	 (C)	 {LkkMk ðk½ ykhrûkík ûkuºk	 ykMkk{

	 (D)	 ðkÂÕ{fe ðk½ ykhrûkík ûkuºk	 A¥keMkøkZ

082.	 ÷kufkuLkk økúkBÞ rðMíkkh{ktÚke þnuhe rðMíkkh íkhVLkk «Þký {kxu fÞku þçË WÃkÞkuøk{kt ÷uðkÞ Au ?

	 (A) rLkøko{Lk (Emigration)		 (B) Ëuþktíkh (Immigration)

	 (C) þnuhefhý (Urbanisation)	 (D) MÚk¤ktíkh (Migration)

083.	 ¼khíkLke hk»xÙeÞ yLku {kÚkkËeX ykðfLkk ynuðk÷ ytøku fÞwt {tºkk÷Þ sðkçkËkh Au ?

	 (A) øk]n {tºkk÷Þ		  (B) ÞkusLkk {tºkk÷Þ

	 (C) yktfzkþkMºk yLku fkÞo¢{ y{÷efhý {tºkk÷Þ	 (D) {kLkð MktMkkÄLk rðfkMk {tºkk÷Þ

084.	 rðÄkLk 1 : �¼e÷ yu MkkiÚke {kuxk ykrËòrík sqÚkku {ktLkwt yuf Au fu su A¥keMkøkZ, økwshkík, fýkoxf, {æÞ«Ëuþ, {nkhk»xÙ, 
yktÄú«Ëuþ yLku hksMÚkkLk{kt ðMkðkx fhu Au.

	 rðÄkLk 2 : �çkiøkk suLkku yÚko òËwøkhku ÚkkÞ Au íku ¾kMk MktðuËLkþe÷ ykrËðkMke sqÚk Au yLku íku A¥keMkøkZ, Íkh¾tz, rçknkh, 
ykurhMMkk, Ãkrù{ çktøkk¤, {æÞ«Ëuþ yLku W¥kh«ËuþLkk rðMíkkh{kt «Mkhu÷k Au.

	 rðÄkLk 3 : {kzeÞk (Madia) yu A¥keMkøkZ, {nkhk»xÙ, {æÞ«Ëuþ yLku ykurhMMkk{kt ðMkðkx fhu Au.

	 rðÄkLk 4 : �MkktÚk÷ ¼khíkLke MkkiÚke {kuxe yLku MkkiÚke «k[eLk ykrËòríkyku{ktLke yuf Au íkuyku ykMkk{, rçknkh, A¥keMkøkZ, 
Íkh¾tz, ykurhMMkk yLku Ãkrù{ çktøkk¤Lkk rðMíkkh{kt «Mkhu÷e Au.

	 WÃkhLkk rðÄkLk Ãkife fÞk rðÄkLkku Mkk[k Au ?

	 (A) 1, 2 yLku 3 Mkk[k Au.		  (B) 2, 3 yLku 4 Mkk[k Au.

	 (C) 1, 3 yLku 4 Mkk[k Au.		  (D) 1, 2, 3 yLku 4 Mkk[k Au.
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078.	 What is the other name of the highest range in the Western Ghats?
	 (A) Pir Panjal		  (B) Siwalik range
	 (C) Sahyadris		  (D) Namcha Barwa

079.	 Consider the following regions of India
	 1. Western Ghats
	 2. Aravali Hills
	 3. Eastern Himalayas
	 Which of the above is/are biodiversity hot spot/hot spots?
	 (A) Only 1		  (B) 1 and 3
	 (C) 2 and 3		  (D) All of the above

080.	 In which one of the following islands of India is an active volcano found?
	 (A) Car Nicobar Island		  (B) Nancowry Island
	 (C) Barren Island		  (D) Mayabunder Island

081.	 Tiger Reserve and the States pairs are mentioned above. Which pair is not correct?
	 No.	 Name of Tiger Reserve	 State
	 (A)	 Nagarjunsagar Srisailam Tiger Reserve	 Andhra Pradesh
	 (B)	 Kamlang Tiger Reserve	 Arunachal Pradesh
	 (C)	 Manas Tiger Reserve	 Assam
	 (D)	 Valmiki Tiger Reserve	 Chhattisgarh

082.	 What is the term used to describe the movement of people from rural to urban areas?
	 (A) Emigration		  (B) Immigration
	 (C) Urbanisation		  (D) Migration

083.	� Which of the following ministries is responsible for the report on India’s national and per capita 
income?

	 (A) Ministry of Home Affairs
	 (B) Ministry of Planning
	 (C) Ministry of Statistics and Programme Implementation
	 (D) Ministry of Human Resource Development

084.	 1. �The Bhil are one of the largest tribal groups living in Chhattisgarh, Gujarat, Karnataka, 
Madhya Pradesh, Maharashtra, Andhra Pradesh and Rajasthan.

	 2. �The Baiga, meaning sorcerers, are one of the particularly vulnerable tribal groups and are 
spread across Chhattisgarh, Jharkhand, Bihar, Odisha, West Bengal, Madhya Pradesh and 
Uttar Pradesh.

	 3. The Madia live in Chhattisgarh, Maharashtra, Madhya Pradesh and Odisha.
	 4. �The Santhal are the largest and one of the oldest tribes in India. They are spread across Assam, 

Bihar, Chhattisgarh, Jharkhand, Odisha and West Bengal.
	 From the above mentioned statements, which statements are correct?
	 (A) 1, 2 and 3 are correct.	 (B) 2, 3 and 4 are correct.
	 (C) 1, 3 and 4 are correct.	 (D) 1, 2, 3 and 4 are correct.
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085.	 Lke[u hkßÞku yLku íku{Lke {wÏÞ ¼k»kkLke òuze ykÃku÷ Au. íku Ãkife fE òuze Mkk[e LkÚke ?

	 (A) yktÄú«Ëuþ – fkUfýe (Konkani)

	 (B) r{Íkuh{ – ÷wþkE (Lushai)

	 (C) yYýk[÷ «Ëuþ – rLkMMke (Nishi)

	 (D) Lkkøkk÷uLz – Lkkøkk{eMke (Nagamese)

086.	 {uøkkMkexe yu .......... Úke ðÄw ðMíke Ähkðíkku þnuhe rðMíkkh Au.

	 (A) yuf {e÷eÞLk		  (B) Ãkkt[ {e÷eÞLk

	 (C) ËMk {e÷eÞLk		  (D) ðeMk {e÷eÞLk

087.	 GDP Lkku yÚko fw÷ MÚkkrLkf WíÃkkËLk ÚkkÞ Au íku þwt Ëþkoðu Au ? Lke[u ykÃku÷k rðÄkLkku Ãkife Mkk[wt rðÄkLk ÃkMktË fhku.

	 (A) íku Ëþkoðu Au fu ykÃku÷ ð»ko{kt ËuþLkwt yÚkoíktºk íkuLkk fw÷ WíÃkkËLkLkk MktË¼o{kt fux÷k rðþk¤ Ãkrh{kýLkwt Au.

	 (B) íku Ëþkoðu Au fu ËuþLkk fw÷ MktMkkÄLkkuLke økýíkhe fÞko rðLkk ykÃku÷ ð»ko{kt ËuþLkwt fw÷ WíÃkkËLk fux÷wt Au.

	 (C) íku [ku¬Mk ð»ko{kt WíÃkkËLk MkkÚku Mktf¤kÞu÷ ÷kufkuLke MktÏÞk Ëþkoðu Au.

	 (D) íku [ku¬Mk ð»ko{kt ËuþLkk ðuÃkkh ÷uðz-ËuðzLkwt fw÷ {qÕÞ Ëþkoðu Au.

088.	 Lke[u Ãkife fÞku Ëuþ þý WãkuøkLkk MktË¼o{kt ¼khík MkkÚku Mk¾ík MÃkÄko fhe hÌkku Au ?

	 (A) [eLk		  (B) çktø÷kËuþ

	 (C) rV÷eÃkkELMk		  (D) ÚkkE÷uLz

089.	 ¾kMk f]r»k ûkuºkku (Special Agricultural Zones) (SAZs) Lke MÚkkÃkLkk {kxu Lkerík ½zLkkh ¼khíkLkwt «Úk{ hkßÞ fÞwt Au ?

	 (A) W¥kh «Ëuþ		  (B) økwshkík

	 (C) {nkhk»xÙ		  (D) W¥khk¾tz

090.	 ™e[u™k{ktÚke fÞwt …rhƒ¤ s{e™{kt ½xkzku land subsidence ŒhV Ëkuhe þfu Au?

	 1. ÄhŒeft…

	 2. s{e™™wt Äkuðký

	 3. …kýe™k fwËhŒe «ðkn{kt yðhkuÄ

	 4. {kxe™wt fkuB…uõþ™

	 5. nkRz÷ …kðh «ð]r¥kyku

	 ‚k[ku sðkƒ fkuz …‚tË fhku:
	 (A) 1, 2, 3, 4 		  (B) 1, 3, 4, 5 
	 (C) 1, 2, 4, 5 		  (D) 1, 2, 3, 4, 5

091.	 ykMkk{, .......... yLku ykurhMMkkLkk suðk hkßÞku{kt yuf ð»ko{kt zktøkhLkk ºký Ãkkf ÷uðk{kt ykðu Au.

	 (A) W¥kh «Ëuþ		  (B) Ãkrù{ çktøkk¤

	 (C) Ãktòçk		  (D) nhÞkýk
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085.	 Pairs showing States and major languages are as under.

	 Which pair is not correct?

	 (A) Andhra Pradesh – Konkani	 (B) Mizoram – Lushai

	 (C) Arunachal Pradesh – Nishi	 (D) Nagaland – Nagamese

086.	 A mega-city is an urban area of population greater than _______.

	 (A) one million		  (B) five million

	 (C) ten million		  (D) twenty million

087.	� GDP stands for Gross Domestic Product. What does it show? Pick up the correct statement 
given below

	 (A) It shows how big the economy of a country is in a given year in terms of its total output.

	 (B) �It shows what the total product of a country in a given year without counting the country’s 
total resources.

	 (C) It shows the number of people involved in production in a particular year.

	 (D) It shows the total value of trade transactions of a country in a particular year

088.	� Which one of the following countries is giving stiff competition to India with regard to jute 
industry?

	 (A) China		  (B) Bangladesh

	 (C) Philippines		  (D) Thailand.

089.	 Which is the first State in India to launch a policy to establish Special Agricultural Zones (SAZs)?

	 (A) Uttar Pradesh		  (B) Gujarat

	 (C) Maharashtra		  (D) Uttarakhand

090.	 Which of the following factors can lead to land subsidence? 

	 1. Earthquakes 

	 2. Soil erosion 

	 3. Obstruction of the natural flow of water 

	 4. Soil compaction 

	 5. Hydel power activities 

	 Select the correct answer code: 

	 (A) 1, 2, 3, 4 		  (B) 1, 3, 4, 5 

	 (C) 1, 2, 4, 5 		  (D) 1, 2, 3, 4, 5

091.	  In States like Assam, _______ and Odisha, three crops of paddy are grown in a year.

	 (A) Uttar Pradesh		  (B) West Bengal

	 (C) Punjab		  (D) Haryana
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092.	 rðÄkLk 1 : �fuLÿ MkhfkhLkk rLkÞtºký nuX¤ ¾LkesLkk rLkÞ{Lk yLku rðfkMkLke òuøkðkE fhe þfkÞ íku nuíkwÚke ¾ký yLku ¾Lkes 
(rLkÞ{ yLku rðfkMk) yrÄrLkÞ{ 1957 ½zðk{kt ykÔÞku níkku. WÃkhkuõík yrÄrLkÞ{{kt ð»ko 1958, 1972, 
1986, 1987, 1994 yLku 1999{kt MkwÄkhk fhðk{kt ykÔÞk níkk.

	 rðÄkLk 2 : �¾kýfk{ ûkuºkLkk WËkhefhýLkku {køko fhíke «Úk{ ¾LkesLkerík fuLÿ Mkhfkh îkhk 1993{kt ònuh fhðk{kt 
ykðe níke.

	 rðÄkLk 3 : �¼khík Mkhfkhu 13 {k[o 2008Lkk hkus hk»xÙeÞ ¾LkesLkerík, 1993Lku çkË÷eLku hk»xÙeÞ ¾LkesLkerík, 2008 Ëk¾÷ 
fhe.

	 rðÄkLk 4 : �hk»xÙeÞ ¾LkesLkerík, 2021 (rçkLk-#Äý yLku rçkLk-fku÷Mkk ¾Lkes {kxu) y{÷{kt {qfðk{kt ykðe. hk»xÙeÞ 
¾LkesLkerík, 2021 Lkku WÆu~Þ yu ðÄw yÚkoÃkqýo y{÷efhý ÞkuøÞ yLku yMkhfkhf LkeríkLkwt rLk{koý fhðkLkku 
níkku fu su ykŠÚkf ð]rØ yLku xfkW ¾kýfk{ «Úkk MkkÚku ðÄw ÃkkhËŠþíkk MkkYt rLkÞ{Lk, y{÷efhý yLku Mktíkwr÷ík 
Mk{ksLkwt rLk{koý fhu.

	 WÃkh ykÃku÷k rðÄkLkku Ãkife fÞwt rðÄkLk MkíÞ LkÚke ?
	 (A) 4		  (B) 3
	 (C) 2		  (D) 1

093.	 Lke[uLkk rðÄkLkku Ãkife fÞwt rðÄkLk MkíÞ LkÚke ?

	 (A) 1894Úke ðLkLkerík Ähkðíkk fux÷kf Ëuþku{kt ¼khík yuf Au.

	 (B) ðLkLkerík, 1952{kt MkwÄkhðk{kt ykðe níke.

	 (C) 1980{kt ðLkLkerík{kt MkwÄkhýk fhðk{kt ykðe yLku yksu íku y{÷{kt Au.

	 (D) �ðLÞSð Mkwhûkk yrÄrLkÞ{ 1972, ÃkÞkoðhý Mkwhûkk yrÄrLkÞ{ 1986 yLku Sð ðirðæÞ Mkwhûkk yrÄLkÞ{, 2002 ðLk 
MkthûkýLku MktçktrÄík fux÷kf yLÞ yrÄrLkÞ{ku Au.

094.	 ËÏ¾ýLkk Wå[ «ËuþLkk ytíkðoíkeo «Ëuþ{kt ðkŠ»kf 60 Mku{eÚke ykuAku ðhMkkË ðhMku Au. íkuLkwt {wÏÞ fkhý...

	 (A) íku ð»kko AkÞkLkk ûkuºk / «Ëuþ{kt Au.

	 (B) íku ÃkðLkLke rËþkLku Mk{ktíkh ÂMÚkík Au.

	 (C) íku Mk{wÿ rfLkkhkÚke Ëqh Au.

	 (D) ðhMkkËe ðkË¤kuLke økuhnkshe Au.

095.	 LkkÚkw ÷k ½kx rðþu Lke[uLkk Ãkife fÞkt rðÄkLk MkíÞ Au ?

	 1. íku rMkr¬{Lku ríkçkux MkkÚku òuzu Au.

	 2. íku «k[eLk ÔÞkÃkkhLkk MÚk¤ktíkhLkku {wÏÞ {køko Au.

	 3. íku 2006{kt ÃkwLk:þY fhðk{kt ykÔÞku níkku.

	 Lke[u ykÃku÷k fkuz Ãkife ÞkuøÞ Mkk[ku sðkçk ÃkMktË fhku.

	 (A) 1, 2 yLku 3		  (B) 1 yLku 2

	 (C) 2 yLku 3		  (D) 1 yLku 3
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092.	 1. �The Mines and Minerals (Regulation and Development) Act, 1957 was enacted so as to provide 
for the regulation of mines and development of minerals under the control of the Union. The 
aforesaid Act was amended in the years 1958, 1972, 1986, 1987, 1994 and 1999.

	 2. �The First National Mineral Policy was enunciated by the Central Government in 1993 paving 
way for liberalisation of the mining sector.

	 3. �Government of India, replaced the National Mineral Policy, 1993 with a National Mineral 
Policy, 2008 on 13th March, 2008.

	 4. �National Mineral Policy, 2021 (For non-fuel and non-coal minerals) was introduced. The goal of 
the National Mineral Policy, 2021 is to create a more meaningful, implementable, and effective 
policy that promotes more openness, better regulation, enforcement, and balanced society along 
with economic growth and sustainable mining practices.

	 From the above mentioned statements, which statement is not correct?

	 (A) 4		  (B) 3

	 (C) 2		  (D) 1

093.	 From the statements mentioned below which statement is not correct?

	 (A) India is one of the few countries which has a forest policy since 1894.

	 (B) The forest policy was revised in 1952.

	 (C) In 1980, the forest policy was revised and it is in operation.

	 (D) �The Wildlife Protection Act of 1972, The Environment Protection Act of 1986, and The 
Biodiversity Protection Act of 2002 are some of the other Acts related to forest conservation.

094.	� Interior of the Deccan plateau receives an annual rainfall of less than 60 cm, mainly 
because _______.

	 (A) It is a rain shadow zone/region.

	 (B) It is located parallel to wind direction.

	 (C) It is away from the coast.

	 (D) Rain-bearing clouds are absent

095.	 Which of the following statements about Nathu La Pass are correct?

	 1. It links Sikkim with Tibet

	 2. It was the main artery of the ancient Silk Route

	 3. It was reopened in the year 2006

	 Select the correct answer using the codes given below

	 (A) 1, 2 and 3		  (B) 1 and 2

	 (C) 2 and 3		  (D) 1 and 3

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight



M

[CSP-2]38 [Contd.

096.	 ÞkËeykuLku òuzku.

	 ÞkËe-I (½kxe)	 ÞkËe-II (hkßÞ)

	 a. ÍkuS ÷k ½kx	 1. rMk¬e{

	 b. çkkhk ÷k[k ½kx	 2. W¥khk¾tz

	 c. S÷eÃk ÷k ½kx	 3. rn{k[÷ «Ëuþ

	 d. Lkerík ½kx	 4. ÷Æk¾

	 (A) a - 4, b - 1, c - 3, d - 2

	 (B) a - 2, b - 3, c - 1, d - 4

	 (C) a - 4, b - 3, c - 1, d - 2

	 (D) a - 2, b - 1, c - 3, d - 4

097.	 Lke[uLkk Ãkife fkuý ¼khíkLku W¥kh yLku Ërûký ¼køk{kt rð¼kSík fhu Au ?

	 (A) rð»kwðð]¥k		  (B) ffoð]¥k

	 (C) {fhð]¥k		  (D) ykforxf Mkfo÷

098.	 sux «ðknLkk Lkk{u yku¤¾kíkku ÃkðLkLkku Ãkèku õÞkt òuðk {¤u Au ?

	 (A) ðkíkkðhýLkk Lke[uLkk Míkh{kt	 (B) ðkíkkðhýLkk {æÞ{ Míkh{kt

	 (C) ðkíkkðhýLkk WÃkhLkk Míkh{kt	 (D) ðkíkkðhýLkk ík{k{ Míkh{kt

099.	 nrhfuLkÚke Úkíkk LkwfMkkLkLku {kÃkðk fÞk Mfu÷Lkku WÃkÞkuøk fhðk{kt ykðu Au ?

	 (A) Saffir-Simpson Scale	 (B) Mercalli Scale

	 (C) Fujita Scale		  (D) Richter Scale

100.	 ykçkkunðkLkwt MkkiÚke {níðLktw ½xf fÞwt Au ?

	 (A) ðhMkkË		  (B) íkkÃk{kLk

	 (C) Ëçkký		  (D) ¼us

101.	 ™e[u™k rðÄk™ku™u æÞk™{kt ÷ku.

	 1. �Œr{÷™kzw ‚hfkhu ŒksuŒh{kt ™e÷„ehe Œknh (Nilgiri Tahr) ‚thûký «kusuõx þY fÞkuo, su ™e÷„ehe Œknh™k 
‚thûký {kxu™e …nu÷ Au.

	 2. Œr{÷ ‚t„{ ‚krníÞ{kt ™e÷„ehe Œknh™k ƒnwrðÄ ‚tË¼kuo Au.

	 3. ™e÷„ehe Œknh yuf ÷wÃík«kÞ «òrŒ Au, su …rù{e ½kx {kxu MÚkkr™f Au.

	 W…hkuõŒ{ktÚke fÞwt rðÄk™ ‚k[wt Au ?

	 (A) 1, 2		  (B) 1, 3 

	 (C) 2, 3		  (D) 1, 2, 3
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096.	 Match List-I with List-II

	 List-I (Pass)	 List-II (State)

	 a. Zoji La Pass	 1. Sikkim

	 b. Bara Lacha Pass	 2. Uttarakhand

	 c. Jelep La Pass	 3. Himachal Pradesh

	 d. Niti Pass	 4. Ladakh

	 (A) a - 4, b - 1, c - 3, d - 2	 (B) a - 2, b - 3, c - 1, d - 4

	 (C) a - 4, b - 3, c - 1, d - 2	 (D) a - 2, b - 1, c - 3, d - 4

097.	 Which of the following divides India into northern and southern parts?

	 (A) Equator		  (B) Tropic of cancer

	 (C) Tropic of capricorn		  (D) Arctic circle

098.	 Where a band of wind called ‘Jet Stream’ is found ?

	 (A) Lower levels of the atmosphere

	 (B) Middle levels of the atmosphere

	 (C) The upper levels of the atmosphere

	 (D) All levels of the atmosphere

099.	 Which of the following scales is used to measure the damage caused by a hurricane?

	 (A) Saffir-Simpson Scale	 (B) Mercalli Scale

	 (C) Fujita Scale		  (D) Richter Scale

100.	 What is the most important element of climate?

	 (A) Rainfall		  (B) Temperature

	 (C) Pressure		  (D) Humidity

101.	 Consider the following statements. 

	 1. �The Tamil Nadu government recently launched Nilgiri Tahr conservation project, an initiative 

for the conservation of the Nilgiri Tahr. 

	 2. There are multiple references to the Nilgiri Tahr in Tamil Sangam literature. 

	 3. Nilgiri Tahr is an endangered species, endemic to western ghats. 

	 Which of the above statements are correct? 

	 (A) 1, 2		  (B) 1, 3 

	 (C) 2, 3		  (D) 1, 2, 3 
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102.	 Net-Zero emission ([kuÏ¾wt þqLÞ WíMksoLk) rðþu ™e[u™k rðÄk™ku™u æÞk™{kt ÷ku.

	 1. Net-Zero emissionLkku yÚko yu Au fu Ëuþ økúeLknkWMk ðkÞwLkk WíMksoLkLku þqLÞLke LkSf (LkrnðíkT) MkwÄe ÷kðe Ëuþu.

	 2. ÃkurhMk fhkh {køkoËŠþfk, 2015 Lkk ykÄkhu Ëuþku íku{Lkk Net-Zero emissionLkk ÷ûÞktfku MkwrLkrùík fhu Au.

	 3. �ðLk suðk ðÄw fkçkoLk sink (¾k¤fwtze) rðfMkkðeLku yLku fkçkoLk capture (Ãkfzðk) íkÚkk storage (Mktøkúrník) fhðk suðe 

¼rð»ÞLke íkfLkefku WÃkh ykÄkh hk¾eLku Net-Zero emission «kÃík fhe þfkÞ Au.

	 WÃkhLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?

	 (A) 2, 3		  (B) 1, 3

	 (C) {kºk 3		  (D) 1, 2, 3

103.	 Brute Force Acquistion (¢wh çk¤ MktÃkkËLk) ÃkË þuLku MktçktrÄík Au ?

	 (A) ¾kLkøke s{eLk MktÃkkËLk (Private land acquisition)

	 (B) {kuçkkE÷ zuxkLkwt yuL¢eÃþLk (Encryption of mobile data)

	 (C) {kuçkkE÷ zuxk VkuhuÂLMkõMk (Mobile device forensics)

	 (D) WÃkhLkk Ãkife yuf Ãký Lknª

104.	� ÄúwðeÞ WÃkøkún «þuÃký ÞkLk (Polar Satellite Launch Vehicle) (PSLV) yLku ¼q-Mk{¢r{ík WÃkøkún «þuÃký ÞkLk 

(Geosynchronous Satellite Launch Vehicle) (GSLV) rðþu Lke[uLkk rðÄkLkku æÞkLk{kt ÷ku.

	 1. �GSLV Lke[÷e Ãk]Úðe ¼ú{ý fûkkLkk WÃkøkúnkuLku ÄúwrðÞ yLku MkqÞo Mk{¢r{ík ¼ú{ýfûkk{kt «þuÃký fhðk {kxu rðfMkkððk{kt 

ykðu÷ Au.

	 2. �PSLV yu ¼q-Mk{¢r{ík WÃkøkúnkuLkk ¼khu INSAT ðøkoLkk WÃkøkúnkuLku ¼ú{ý fûk{kt «þuÃký fhðk {kxu rðfMkkððk{kt 

ykÔÞwt níkwt.

	 WÃkhLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?

	 (A) {kºk 1		  (B) {kºk 2

	 (C) 1 íkÚkk 2 çktLku		  (D) 1 yLku 2{ktÚke yuf Ãký Lknª

105.	� rðrðÄ Computing environments (fkuBÃÞwxªøk ÃkrhÂMÚkrík) yLku íkuLke applications (WÃkÞkuøk)Lkk MktË¼o{kt Lke[uLkk 

Ãkife fE òuze ÞkuøÞ heíku òuzkÞu÷e Au ?

	 1. Cloud Computing (õ÷kWz fkuBÃÞwxªøk) : AI ykÄkrhík yuÃ÷efuþLMk {kxu zuxkMkux íkiÞkh fhðku.

	 2. Edge Computing (yus fkuBÃÞwxªøk) : LkøkhÃkkr÷fkLkwt ½Lk f[hk ÔÞðMÚkkÃkLk

	 3. Fog Computing (Vkuøk fkuBÃÞwxªøk) : MðkÞ¥k {kæÞ{ku (Autonomous Vehicles)

	 W¥kh fkuz ÃkMktË fhku.

	 (A) {kºk 1		  (B) 1, 2

	 (C) 1, 3		  (D) 1, 2, 3
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102.	 Consider the following statements regarding net-zero emission.

	 1. Net-zero emission means country would bring down its greenhouse gas emissions to near zero.

	 2. Countries are setting their Net-zero emission goal based on the 2015 Paris Agreement guidelines.

	 3. �Net-zero emission can be achieved by creating more carbon sinks such as forests and relying on 

futuristic technologies such as carbon capture and storage.

	 Which of the above statement/s is/are correct?

	 (A) 2, 3		  (B) 1, 3

	 (C) 3 only		  (D) 1, 2, 3

103.	 The term ‘Brute Force Acquisition’ is related to

	 (A) Private land acquisition

	 (B) Encryption of mobile data

	 (C) Mobile device forensics

	 (D) None of the above

104.	� Consider the following statements regarding Polar Satellite Launch Vehicle (PSLV) and 

Geosynchronous Satellite Launch Vehicle (GSLV).

	 1. �GSLV was developed to launch low-Earth Orbit satellites into polar and sun synchronous orbits.

	 2. PSLV was developed to launch the heavier INSAT class of geosynchronous satellites into orbit.

	 Which of the above statement/s is/are correct?

	 (A) 1 only		  (B) 2 only

	 (C) Both 1 and 2		  (D) Neither 1 nor 2

105.	� With respect to various computing environments and their applications which of the following 

pairs are correctly matched?

	 1. Cloud computing: Building datasets for AI-based applications

	 2. Edge computing : Municipal Solid Waste Management

	 3. Fog computing : Autonomous Vehicles

	 Select the correct answer code:

	 (A) 1 only		  (B) 1, 2

	 (C) 1, 3		  (D) 1, 2, 3
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106.	 LkkExÙMk ykuõMkkEz rðþu Lke[uLkk rðÄkLkku æÞkLk{kt ÷ku.

	 1. �yÕÃkfk÷eLk (short-lived) økúeLk nkWMk ðkÞw nkuðkLku fkhýu, íku ðirïf íkkÃk ð]ÂæÄ (Global Warming) {kt LkkUÄÃkkºk 
ÞkuøkËkLk ykÃku Au.

	 2. �ßÞkhu íku Wæðo{tz¤ (Stratosphere) {kt ÃknkU[u Au, íÞkhu íku ykuÍkuLk MkkÚku «ríkr¢Þk fhe, íkuLkku yðûkÞ fhu Au, suLke 
yMkh CFCs íkwÕÞ nkuÞ Au.

	 WÃkhLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?

	 (A) {kºk 1		  (B) {kºk 2

	 (C) 1 íkÚkk 2 çktLku	 	 (D) 1 yLku 2{ktÚke yuf Ãký Lknª

107.	 Ãkh{ «ðuøk (Param Pravega) yu ...

	 (A) huzeÞku xu÷eMfkuÃk Au.	 	 (B) MkwÃkh fkuBÃÞwxh Au.

	 (C) WÃkøkún «þuÃký ÞkLk Au.	 	 (D) ¼khíkLkwt «Úk{ õðkuLx{ fkuBÃÞwxh Au.

108.	� Lke[uLkk Ãkife fÞwt Mkku^xðuh ðÃkhkþfkhLku (User) yLÞ fkuBÃÞwxhLke fk{økehe (activities) rðþuLke ¾kLkøke {krníke 
{u¤ðe ykÃku Au ?

	 (A) Malware		  (B) Adware
	 (C) Spyware		  (D) Trackware

109.	 LkuLkku xufLkku÷kuS rðþu Lke[uLkk rðÄkLkku æÞkLk{kt ÷ku.

	 1. �LkuLkku xufLkku÷kuS LkuLkku Mfu÷ ÃkhLkk ykþhu 1 Úke 1000 LkuLkku{exh ðå[uLkk Ãkrh{kýðk¤k ÿÔÞLke Mk{s yLku íkuLkk rLkÞtºkýLku 
÷økíke çkkçkík Au.

	 2. �Stained-glass Windows (htøkeLk fk[Lke çkkheyku) yu Ãkqðo-ykÄwrLkf Þwøk{kt LkuLkku xufLkku÷kuSLkku fuðe heíku WÃkÞkuøk 
Úkíkku níkku íkuLkwt WËknhý Au.

	 3. �yuf s ÿÔÞLkwt LkuLkku çktÄkhý Ähkðíkwt MðYÃk íku s ÿÔÞLkk yLÞ «fkhLkk yÚkðk yLÞ fËLkk MðYÃkLke íkw÷Lkk{kt y÷øk 
[wtçkfeÞ økwýÄ{kuo Ähkðíkwt nkuE þfu.

	 WÃkhLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?

	 (A) 1, 2		  (B) {kºk 2
	 (C) 2, 3		  (D) 1, 2, 3

110.	 Lke[uLkk Ãkife fÞk Earth Observation SatellitesLkk WÃkÞkuøkku Au ?

	 1. þnuhe ykÞkusLk (Urban Planning)

	 2. ¾Lkes Ãkqðuoûký (Mineral Prospecting)

	 3. Mk{wÿe MktMkkÄLk «çktÄ (Ocean Resources Management)

	 4. ykÃkr¥k ÔÞðMÚkkÃkLk (Disaster Management)

	 Mkk[ku W¥kh fkuz ÃkMktË fhku.
	 (A) 1, 2, 3		  (B) 1, 3, 4
	 (C) 2, 3, 4		  (D) 1, 2, 3, 4
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106.	 Consider the following statements regarding nitrous oxide.

	 1. Being a short-lived greenhouse gas, it substantially contributes to global warming.

	 2. �When it reaches the stratosphere, it reacts with ozone and depletes it, with an impact comparable 
to that of CFCs.

	 Which of the above statement/s is/are correct?

	 (A) 1 only		  (B) 2 only

	 (C) Both 1 and 2		  (D) Neither 1 nor 2

107.	 Param Pravega is a

	 (A) Radio telescope

	 (B) Supercomputer

	 (C) Satellite Launch Vehicle

	 (D) India’s first Quantum computer

108.	 Software that enables a user to obtain secret information about another computer’s activities?

	 (A) Malware		  (B) Adware

	 (C) Spyware		  (D) Trackware

109.	 Consider the following statements regarding Nanotechnology.

	 1. �Nanotechnology is the understanding and control of matter at the Nano scale, at dimensions 
between approximately 1 and 1000 nanometres.

	 2. �Stained-glass windows are an example of how nanotechnology was used in the pre-modern era.

	 3. �Nanostructured materials can have different magnetic properties compared to other forms or 
sizes of the same material.

	 Which of the above statement/s is/are correct?

	 (A) 1, 2		  (B) 2 only

	 (C) 2, 3		  (D) 1, 2, 3

110.	 Which of the following are the applications of Earth Observation Satellites?

	 1. Urban planning

	 2. Mineral prospecting

	 3. Ocean resources management

	 4. Disaster management.

	 Select the correct answer code:

	 (A) 1, 2, 3		  (B) 1, 3, 4

	 (C) 2, 3, 4		  (D) 1, 2, 3, 4
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111.	 ¼khíkeÞ ytíkrhûk fkÞo¢{ ytøku Lke[uLkk rðÄkLkku æÞkLk{kt ÷ku.

	 1. �ykÞo¼è «Úk{ ¼khíkeÞ WÃkøkún níkku yLku íkuýu ûk-rfhý ¾økku¤þkMºk íkÚkk Mkkih LÞqxÙkuLkLke þkuÄ íkÃkkMk (investigate) 
fhðk {kxu ði¿kkrLkf «Þkuøkku fÞko níkk.

	 2. �{tøk¤ ¼ú{ýfûkk r{þLk (Mars Orbiter Mission) yu ISRO Lkwt «Úk{ yktíkhøkúneÞ r{þLk níkwt.

	 3. �ykrËíÞ-L1 (ADITYA-L1) yðfkþÞkLk MkqÞo-Ãk]Úðe ÷uLøkúus ÃkkuELx 1 (L1) íkhV sðkLkk {køkuo Ãk]ÚðeLkk «¼kð 
ûkuºk{ktÚke Axfe økÞwt (escaped) Au.

	 WÃkhLkk Ãkife fÞk rðÄkLkku MkíÞ Au ?
	 (A) 1, 2		  (B) 1, 3
	 (C) 2, 3		  (D) 1, 2, 3

112.	 Lke[u ykÃku÷k rðÄkLkku æÞkLk{kt ÷ku.

	 1. ÃkÞkoðhý, ðLk yLku s¤ðkÞw ÃkrhðíkoLk {tºkk÷Þu ðÃkhkÞu÷e Mkkih ÃkuLk÷Úke Úkíkk f[hkLkk ÔÞðMÚkkLk {kxu Lkerík ½ze Au.

	 2. Mkk{kLÞ heíku Mkkih ÃkuLk÷ ytËkrsík 100 ð»ko MkwÄeLkku ðÃkhkþ WÃkÞkuøkfk¤ Ähkðu Au.

	 WÃkhLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?

	 (A) {kºk 1		  (B) {kºk 2

	 (C) 1 íkÚkk 2 çktLku Mkk[kt Au	 	 (D) 1 yÚkðk 2 çktLku Mkk[k LkÚke

113.	 Cloud seeding (ðkË¤ çkesLk){kt MkkiÚke ðÄw WÃkÞkuøk{kt ÷uðkíkk hMkkÞýku :

	 1. MkeÕðh ykÞkuzkEz		  2. Ãkkuxu~Þ{ ykÞkuzkEz

	 3. Mkqfku çkhV		  4. MkkuzeÞ{ õ÷kuhkEz

	 Mkk[ku W¥kh fkuz ÃkMktË fhku.
	 (A) 1, 2, 3		  (B) 1, 2, 4
	 (C) 2, 3, 4		  (D) 1, 2, 3, 4

114.	 rðï{kt e-waste (E-f[hk){kt Lke[uLkk Ãkife fkuLkku {wÏÞ Vk¤ku Au ?

	 1. hu£eshuxh / £eÍMko, ðku®þøk {þeLk, zeþ ðkuþMko

	 2. LkkLkk ½hu÷e WÃkfhý (xkuMxMko, fkuVe çkLkkððkLkwt {þeLk, RMºke, nuh zÙkÞh)

	 3. ÔÞÂõíkøkík fkuBÃÞwxh, xu÷eVkuLk, {kuçkkE÷ VkuLk, ÷uÃkxkuÃk, r«LxMko, MfuLkMko, Vkuxku fkuÃkeÞMko

	 4. økuMk Mke÷eLzh, [e{Lke yLku ½hu÷w WÃkfhý

	 (A) {kºk 1, 2, 3	 (B) {kºk 1 yLku 2	 (C) {kºk 1, 3, 4	 (D) WÃkhkuõík ík{k{

115.	 Mkk{wËkrÞf ykhrûkík ûkuºk (Community Reserve) rðþu Lke[uLkk rðÄkLkku æÞkLk{kt ÷ku.

	 1. Mkk{wËkrÞf ykhrûkík ûkuºkku yu ÃkÞkoðhý Mkthûký yrÄrLkÞ{, 1986 ytíkøkoík MÚkkÃkðk{kt ykÔÞk Au.

	 2. �òu Mkk{wËkrÞf {kr÷feLkk ðLk rðMíkkhLkk Mkthûký «ÞkMkku{kt ¼køk ÷uðk MÚkkrLkf ÷kufku íkiÞkh nkuÞ, íkku fkuEÃký hkßÞ 
Mkhfkh, íku rðMíkkhLku “Mkk{wËkrÞf ykhrûkík ûkuºk” íkhefu ònuh fhe þfu Au.

	 3. Mkk{wËkrÞf ykhrûkík ûkuºkkuLku hk»xÙeÞ WãkLk yLku ðLÞSð y¼ÞkhÛÞ sux÷wt s fkLkqLke hûký {¤u Au.

	 WÃkhLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?

	 (A) 1, 2	 (B) 2, 3	 (C) {kºk 2	 (D) 1, 2, 3
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111.	 Consider the following statements regarding Indian Space Programme
	 1. �Aryabhata was the first Indian satellite and it carried scientific experiments to investigate X-ray 

astronomy and solar neutrons.
	 2. Mars Orbiter Mission was ISRO’s first interplanetary mission.
	 3. �ADITYA-L1–The spacecraft has escaped the sphere of Earth’s influence on its way to the 

Sun-Earth Lagrange Point 1(L1).
	 Which of the above statements are correct?
	 (A) 1, 2		  (B) 1, 3
	 (C) 2, 3		  (D) 1, 2, 3

112.	 Consider the following statements.
	 1. �The Ministry of Environment, Forest and Climate Change formulated policy on managing 

waste that results from used solar panels.
	 2. Generally the Solar panels have an estimated life of 100 years.
	 Which of the above statement/s is/are correct?
	 (A) 1 only		  (B) 2 only
	 (C) 1 and 2 both are correct	 (D) 1 and 2 both are not correct

113.	 The most common chemicals used for cloud seeding are
	 1. Silver iodide
	 2. Potassium iodide
	 3. Dry ice
	 4. Sodium Chloride
	 Select the correct answer code:
	 (A) 1, 2, 3		  (B) 1, 2, 4
	 (C) 2, 3, 4		  (D) 1, 2, 3, 4

114.	 Which of the following are the main contributors of the e-waste in the world?
	 1. Refrigerators/freezers, washing machines, dishwashers
	 2. Small household appliances (toasters, coffee makers, irons, hair dryers)
	 3. Personal computers, telephones, mobile phones, laptops, printers, scanners, photocopiers
	 4. Gas cylinder, chimneys & home appliances
	 (A) Only 1, 2, 3		  (B) Only 1, 2
	 (C) Only 1, 3, 4		  (D) All of the above

115.	 Consider the following statements regarding Community Reserve
	 1. Community Reserves are established under Environment Protection Act, 1986.
	 2. �Any State government can declare community-owned forest area as “community reserve” if 

locals are willing to participate in conservation efforts for same.
	 3. Community reserves receive same legal protection as National Parks and Wildlife Sanctuaries.
	 Which of the above statement/s is/are correct?
	 (A) 1, 2		  (B) 2, 3
	 (C) 2 only		  (D) 1, 2, 3
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116.	 ™e[u™k rðÄk™ku™u æÞk™{kt ÷ku.
	 1. �sirðf rðrðÄŒk …h™k ‚t{u÷™ (CBD) …h nMŒkûkhku Ëh ð»kuo siðrðrðÄŒk™k ™wf‚k™™u hkufðk y™u fwËhŒe Rfkur‚Mx{™u 

…w™:MÚkkr…Œ fhðk {kxu ðirïf Þkus™k …h fk{ fhðk {kxu {¤u Au.
	 2. �sirðf rðrðÄŒk (CBD) …h™k ‚t{u÷™{kt …ûkfkhku™e 15{e fkuLVhL‚u ø÷kuƒ÷ ƒkÞkuzkÞðr‚oxe £u{ðfo (GBF) ™k{™ku 

™ðku fhkh ykÃÞku, su{kt 2030 ‚wÄe{kt nkt‚÷ fhðk™k ÷ûÞku Au.
	 3. �sirðf rðrðÄŒk …h ‚t{u÷™ (CBD) yu 1992 rhÞku yÚko ‚r{x™wt …rhýk{ nŒwt.
	 W…hkuõŒ{ktÚke fÞkt rðÄk™ku MkíÞ Au ?
	 (A) 1, 2	 (B) 1, 3 	 (C) 2, 3	 (D) 1, 2, 3 

117.	 Lke[u ykÃku÷k rðÄkLkku æÞkLk{kt ÷ku.
	 1. �VkuxeoVefuþ™ (Fortification) yu ¾kuhkf{kt ykð~Þf Mkqû{ Ãkku»kf ík¥ðku, yux÷u fu rðxk{eLk yLku ¾LkesLkwt «{ký 

nuíkwÃkqðof ðÄkhðkLke «r¢Þk Au.
	 2. �çkkÞku VkuxeoVefuþLk (Biofortification) Lkku WÆu~Þ ÃkkfLke «r¢Þk ËhBÞkLk, ¾kã Ãkkf{kt, Ãkku»kf ík¥ðku, {nËytþu Ãkku»kf 

ík¥ðkuLkwt Míkh ðÄkhðkLkku Au.
	 3. �zktøkh, fXku¤ (beans), þ¬rhÞk, yLku rþBçk ðøko (legumes) Lkwt çkkÞku-VkuxeoVefuþ™ (Biofortification) þõÞ Au.
	 WÃkhLkk Ãkife fÞk rðÄkLkku MkíÞ Au ?
	 (A) 1, 2	 (B) 1, 3	 (C) 2, 3	 (D) 1, 2, 3

118.	 S-400 nðkE Mkthûký «ýk÷e rðþu Lke[u ykÃku÷k rðÄkLkku æÞkLk{kt ÷ku.
	 1. �íku ÷ktçkk ytíkhLke MkÃkkxeÚke (surface)Úke nðk{kt (air) «nkh fhíke r{MkkE÷ «ýk÷e Au.
	 2. �S-400 ½qMký¾kuhe fhíkk rð{kLk, {kLkðhrník nðkEÞkLkku, ¢wÍ r{MkkE÷ yLku çku÷uÂMxf r{MkkE÷ku Ãkh nw{÷ku fhe 

íkkuze þfu Au.
	 3. ¼khík, hrþÞk ÃkkMkuÚke S-400 r{MkkE÷ku {u¤ðLkkh «Úk{ Ëuþ çkLÞku Au.
	 WÃkhLkk Ãkife fÞk rðÄkLkku MkíÞ Au ?
	 (A) 1, 2		  (B) 1, 3
	 (C) 2, 3		  (D) 1, 2, 3

119.	 Lke[u ykÃku÷k rðÄkLkku æÞkLk{kt ÷ku
	 1. �Mk{wÿLke íkkÃkð]ÂæÄ (warming)Lku ÷eÄu W»ýfrxçktÄeÞ [¢ðkíke ÃkðLkku yLku ðhMkkËLke ½xLkkyku ðkhtðkh çkLku Au.
	 2. ßÞkhu ðkíkkðhý{ktÚke WíMkSoík Úkíkku fkçkoLk Mk{wÿ îkhk þku»ke (sunk) ÷uðk{kt ykðu Au íÞkhu Mk{wÿLke WíÃkkËfíkk ðÄu Au.
	 WÃkhLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?
	 (A) {kºk 1		  (B) {kºk 2
	 (C) 1 íkÚkk 2 çktLku		  (D) 1 yLku 2{ktÚke yuf Ãký Lknª

120.	 VkÞxkuhez xuf™ku÷kuS (Phytorid Technology) fÞk rð»kÞ ‚kÚku ‚tƒtrÄŒ Au ?
	 (A) LÞwrõ÷Þh VâwÍ™ yu™seo™wt Wí…kË™ fhðwt yÚkðk ‚qÞo{kt su heŒu Qòo Wí…Òk ÚkkÞ Au Œu™wt y™wfhý fhðwt.
	 (B) [nuhk™e yku¤¾ xuf™ku÷kuS
	 (C) ðuMx ðkuxh xÙex{uLx Ã÷kLx
	 (D) fkuÕz [uR™ {u™us{uLx {kxu xuB…hu[h zuxk ÷ku„h
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116.	 Consider the following statements. 
	 1. �Signatories to the Convention on Biological Diversity (CBD) meet annually to work on a global 

plan to halt biodiversity loss and restore natural ecosystems. 
	 2. �The 15th Conference of the Parties to the Convention on Biological Diversity (CBD) delivered 

a new agreement called the Global Biodiversity Framework (GBF), which contains goals and 
targets that need to be achieved by 2030. 

	 3. Convention on Biological Diversity (CBD) was the outcome of the 1992 Rio Earth Summit. 
	 Which of the above statement/s is/are correct? 
	 (A) 1, 2		  (B) 1, 3 
	 (C) 2, 3		  (D) 1, 2, 3 

117.	 Consider the following statements.
	 1. �Fortification is the practice of deliberately increasing the content of an essential micronutrient, 

i.e. vitamins and minerals in food.
	 2. �Biofortification aims to increase nutrient levels in food crops mainly through manual means 

during processing of the crops.
	 3. Biofortification of rice, beans, sweet potato and legumes is possible.
	 Which of the above statements are correct?
	 (A) 1, 2		  (B) 1, 3
	 (C) 2, 3		  (D) 1, 2, 3

118.	 Consider the following statements regarding S-400 air defence system.
	 1. It is a long-range surface-to-air missile system.
	 2. �S-400 can engage intruding aircraft, unmanned aerial vehicles, cruise missiles, and  

ballistic missiles.
	 3. India became the first country to receive S-400 missile from Russia.
	 Which of the above statements are correct?
	 (A) 1, 2		  (B) 1, 3
	 (C) 2, 3		  (D) 1, 2, 3

119.	 Consider the following statements.
	 1. �The ocean warming increases the frequency of tropical cyclone winds and rainfall.
	 2. �The productivity of the oceans increases when the carbon emission from the atmosphere are 

sunk by it.
	 Which of the above statement/s is/are correct?
	 (A) 1 only		  (B) 2 only
	 (C) Both 1 and 2		  (D) Neither 1 nor 2

120.	 Phytorid Technology is related to 
	 (A) Producing nuclear fusion energy, or imitating the way energy is produced in the Sun. 
	 (B) Facial recognition technology 
	 (C) Waste water treatment plant 
	 (D) Temperature data logger for cold chain management
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121.	 MkkÞçkh Mkwhûkk rðþu Lke[uLkk rðÄkLkku æÞkLk{kt ÷ku.

	 1. �xÙkusLk nkuMkoLkku WÃkÞkuøk çkufzkuh (ÃkkA÷k Ëhðkò) çkLkkððk {kxu ÚkkÞ Au suÚke nufhLku Mkwhrûkík LkuxðfoLkku «ðuþ{køko 
(access) {¤e þfu.

	 2. �ðkÞhMkÚke rðÃkheík, fkuBÃÞwxh ðkuBMko yu Ëwr»kík «kuøkúk{ Au, su fkÞËuMkh VkE÷ ½wMký¾kuhe fhðkLku çkË÷u ÃkkuíkkLke 
rMkMx{ Úke rMkMx{{kt Lkf÷ fhu Au.

	 WÃkhLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?

	 (A) {kºk 1		  (B) {kºk 2

	 (C) 1 íkÚkk 2 çktLku		  (D) 1 yLku 2{ktÚke yuf Ãký Lknª

122.	 þnuhe økh{e xkÃkwyku (Urban heat island) rðþu Lke[uLkk rðÄkLkku æÞkLk{kt ÷ku.

	 1. �ßÞkhu þnuhLke ytËhLkk y{wf rðMíkkhku, íku s rËðMku ykMkÃkkMkLkk rðMíkkhku fhíkkt ðÄw økh{e yLkw¼ðu Au íÞkhu þnuhe 
økh{e xkÃkwyku yLkw¼ð ÚkkÞ Au.

	 2. �íku MÚkkrLkf yLku yÕÃkfk÷eLk ½xLkk Au.

	 3. çku {k¤Lke R{khíkLku çkË÷u çknw{k¤e R{khíkkuLkwt çkktÄfk{ þnuhe økh{eLkk xkÃkwLku ½xkzðk{kt {ËË fhu Au.

	 WÃkhLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?

	 (A) {kºk 1	 (B) 1, 2	 (C) 1, 3	 (D) 1, 2, 3

123.	 Lke[u ykÃku÷k rðÄkLkku [fkMkku.

	 1. �INS rðhkx ¼khíkLkwt Mkki «Úk{ MðËuþe rð{kLkðknf snks (Indigenous Aircraft Carrier) (IAC-I) Au.

	 2. �Agni-P yuf fuLkeMxhkEÍTz (Canisterised) (zçkef]ík) r{MkkE÷ Au, su 2000 rf.{e. MkwÄeLke ÃknkU[ {ÞkoËk 
Ähkðu Au.

	 3. �r{MkkE÷Lkwt fuLkeMxhkEÍuþLk (Canisterisation) (sçkefhý) yu r{MkkE÷Lkk Mkt[Þ (storage) yLku Mkt[k÷LkLke 
Mkh¤íkk{kt MkwÄkhku fhu Au yLku íkuLkk «þuÃký fhðk {kxu sYhe Mk{Þ ½xkzu Au.

	 WÃkhLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?

	 (A) {kºk 2		  (B) 1, 3
	 (C) 2, 3		  (D) 1, 2, 3

124.	 India Innovation Index 2022 (¼khík LkðeLkíkk Mkq[fktf 2022) rðþu Lke[uLkk rðÄkLkku æÞkLk{kt ÷ku.

	 1. �India Innovation Index yu yktfzkþkMºk yLku fkÞo¢{ y{÷efhý {tºkk÷Þ (Ministry of Statistics and 
Programme Implementation) (MOSPI) îkhk òhe fhðk{kt ykðu Au.

	 2. íku WÃk-hk»xÙeÞ Míkhu (sub-national level) LkðeLkíkk (innovation)Lke ûk{íkkyku Lk¬e fhu Au.

	 3. ðirïf LkðeLkíkk Mkq[fktf{kt nk÷ ¼khík xku[Lkk 25 Ëuþku{kt Mk{krðü ÚkÞu÷ Au.

	 WÃkhLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?

	 (A) 1, 2		  (B) {kºk 2
	 (C) 2, 3		  (D) 1, 3
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121.	 Consider the following statements regarding cyber security.

	 1. �Trojan horses are used to create back-doors so that a hacker can have access to the secure 
network.

	 2. �Unlike viruses, computer worms are malicious programs that copy themselves from system to 
system, rather than infiltrating legitimate files.

	 Which of the above statement/s is/are correct?

	 (A) 1 only		  (B) 2 only

	 (C) Both 1 and 2		  (D) None of the above

122.	 Consider the following statements regarding Urban heat island.

	 1. �An urban heat island is experienced when certain areas within a city experience higher heat 
load than surrounding areas on the same day.

	 2. �It is a local and temporary phenomenon.

	 3. �Construction of high-rise buildings rather than two storey building help in reducing the Urban 
heat island.

	 Which of the above statement/s is/are correct?

	 (A) 1 only		  (B) 1, 2

	 (C) 1, 3		  (D) 1, 2, 3

123.	 Consider the following statements.

	 1. INS Viraat is India’s first Indigenous Aircraft Carrier (IAC-I).

	 2. Agni-P is a canisterised missile that has a range of upto 2000 km.

	 3. �Canisterisation of missiles reduces the time required to launch the missile while improving the 
storage and ease of handling.

	 Which of the above statement/s is/are correct?

	 (A) 2 only		  (B) 1, 3

	 (C) 2, 3		  (D) 1, 2, 3

124.	 Consider the following statements regarding India Innovation Index, 2022.

	 1. �India Innovation Index was released by the Ministry of Statistics and Programme 
Implementation (MOSPI)

	 2. It determines innovation capacities at the sub-national level.

	 3. At present India is among the top 25 nations in the Global Innovation Index.

	 Which of the above statement/s is/are correct?

	 (A) 1, 2		  (B) 2 only

	 (C) 2, 3		  (D) 1, 3
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125.	� Lkðe rð¿kkLk, xufLkku÷kuS yLku RLkkuðuþLk Lkerík (The new Science, Technology and Innovation Policy) (STI)
Lkku {wÏÞ Lkerík æÞuÞ :

	 (A) SRISHTI yu ¼khík {kxu ykøkuðkLke ÷u íku {wÏÞ Lkerík æÞuÞ Au.
	 (B) yk r¢ÞkLku ËqhtËþeoíkk{kt YÃkktíkrhík fhðkLkku Au.
	 (C) yuf Mk{ŠÃkík Lkerík MktþkuÄLk rð¼køkLke MÚkkÃkLkk nsw çkkfe Au.
	 (D) WÃkhkuõík ík{k{

126.	 Lke[u ykÃku÷k rðÄkLkku Ãkife fÞwt rðÄkLk Mkk[wt LkÚke ?
	 (A) Äe {nkhk»xÙ yuMkkuMkeyuþLk Vkuh Ä fÕxeðuþLk ykuV MkkÞLMk heMk[o ELMxexâqx 1964 {kt MÚkÃkkÞwt.
	 (B) 1992{kt íkuLkwt Lkk{ çkË÷eLku yøkhfh MktþkuÄLk MktMÚkk (Agharkar Research Institute) (ARI) fhðk{kt ykÔÞwt.
	 (C) �nk÷{kt MktþkuÄLk «ð]r¥kyku «kýerð¿kkLk, Mkqû{Sðkýw rð¿kkLk yLku ðLkMÃkrík rð¿kkLk (Animal Science, Microbial 

Science and Plant Science) WÃkh furLÿík fhðk{kt ykðu Au.
	 (D) �ARI ELzeÞLk fkWLMke÷ ykuV yuøkúefÕ[h÷ heMk[o (ICAR) nuX¤ ½ôLkk MktðÄoLk, MkkuÞkçkeLkLkk MktðÄoLk yLku ÿkûkLkk 

MktðÄoLkLkk MktþkuÄLkLkwt Ãký {wÏÞ fuLÿ Au.

127.	 Lke[u ykÃku÷k rðÄkLkku [fkMkku.
	 1. �hk»xÙeÞ LkðeLkíkk MktMÚkkLk (National Innovation Foundation) ¼khík MkhfkhLkk rð¿kkLk yLku xufLkku÷kuS rð¼køkLke 

MðkÞ¥k MktMÚkk Au. NIF ð»ko 2010 {kt ¼khík MkhfkhLkk rð¿kkLk yLku xufLkku÷kuS rð¼køkLke MðkÞ¥k MktMÚkk çkLke.
	 2. �NIFLkwt æÞuÞ ÃkkÞkLkk xufku÷kuSf÷ LkðeLkfíkkoyku {kxu Lkerík yLku MktMÚkkfeÞ íkfLku rðMík]ík fheLku ¼khíkLku MksoLkkí{f yLku 

¿kkLk ykÄkrhík Mk{ks çkLkkððk{kt {ËË fhðkLkwt Au.
	 3. �NIF þk¤kLkk çkk¤fkuLke MksoLkkí{f yLku LkðeLkíkkLke ¼kðLkkLku fu¤ððk {kxu ‘IGNITE’, ðkŠ»kf hk»xÙeÞ MÃkÄkoLkwt Ãký 

ykÞkusLk fhu Au.
	 4. �NIF 2,00,000 Úke ðÄw xufLkku÷kuSf÷ ÏÞk÷ku, LkðeLkíkkyku yLku ÃkhtÃkhkøkík ¿kkLk ÃkæÄríkykuLkku zuxkçkuÍ çkLkkðe 

þfu÷ Au. SIDBI Lke MknkÞÚke NIF ¾kíku {kE¢kuðuL[h RLkkuðuþLk Vtz (MVIF) MÚkÃkkÞu÷ Au, suýu 193 «kusuõxLku 
òu¾{ {qze (risk capital) «ËkLk fhu Au, su MktðÄoLk (incubation) Lkk rðrðÄ íkçk¬k{kt Au.

	 Mkk[ku W¥kh fkuz ÃkMktË fhku :
	 (A) 1, 2 yLku 3 Mkk[k Au.		  (B) 2, 3 yLku 4 Mkk[k Au.
	 (C) 1, 3 yLku 4 Mkk[k Au.		  (D) 1, 2, 3 yLku 4 Mkk[k Au.

128.	 Lke[uLkk Ãkife fE òuze Mkk[e LkÚke ?
	 MðkÞ¥k MktMÚkkLkwt Lkk{	 MÚk¤
	 (A) �Aryabhatta Research Institute of Observational Sciences (ARIES) 

(ykÞo¼è rLkheûký rð¿kkLk MktþkuÄLk MktMÚkk)	 LkiLkeíkk÷
	 (B) �International Advanced Research Centre for Powder  

Metallurgy of New Materials (ARCI) 
(ELxhLkuþLk÷ yuzðkLMz heMk[o MkuLxh Vkuh Ãkkðzh {ux÷So yuLz LÞq {xeheÞÕMk) (ARCI)	 niËhkçkkË

	 (C) �Centre for Nano and Soft Matter Sciences (CeNS) 
(LkuLkku íkÚkk {]Ëw ÃkËkÚko rð¿kkLk fuLÿ)	 çkUøk÷wY

	 (D) �Raman Research Institute (RRI) 
(hk{Lk MktþkuÄLk MktMÚkk)	 ríkÁðLktÚkÃkwh{
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125.	 The main policy goal for The new Science, Technology and Innovation Policy (STI) is:

	 (A) SRISHTI is the main policy goal to led path for India.

	 (B) To transform this action into vision.

	 (C) A dedicated Policy Research Cell is yet to be established.

	 (D) All of the above.

126.	 From the statements mentioned below, which statement is not correct?

	 (A) �The Maharashtra Association for the Cultivation of Science Research Institute was founded in 
1964.

	 (B) It was renamed in 1992 as the Agharkar Research Institute (ARI) 

	 (C) The current research activities focus on Animal Science, Microbial Science and Plant Science.

	 (D) �The ARI is also a main research centre under Indian Council of Agricultural Research (ICAR) 
for Wheat breeding, Soybean breeding and grape breeding.

127.	 Evaluate the below mentioned statements.

	 1. �National Innovation Foundation - India - NIF is an autonomous body of the Department of 
Science and Technology, Government of India. NIF became an autonomous body of the 
Department of Science and Technology, Government of India in the year 2010.

	 2. �NIF’s mission is to help India become a creative and knowledge-based society by expanding 
policy and institutional space for grassroots technological innovators.

	 3. �NIF also organizes IGNITE, an annual national competition to harness the creative and 
innovative spirit of school children.

	 4. �NIF has been able to build up a database of more than 2,00,000 technological ideas, innovations 
and traditional knowledge practices. Micro Venture Innovation Fund (MVIF), set up at NIF 
with the support of SIDBI has provided risk capital to 193 projects which are at different stages 
of incubation.

	 Select the correct answer code :

	 (A) 1, 2 and 3 are correct	 (B) 2, 3 and 4 are correct

	 (C) 1, 3 and 4 are correct.	 (D) 1, 2, 3 and 4 are correct

128.	 From the following, which pair is not correct ?

	 Name of the Autonomous Body	 Place

	 (A) �Aryabhatta Research Institute of Observational 	 Nainital 
Sciences (ARIES)

	 (B) �International Advanced Research Centre for Powder 
Metallurgy & New Materials (ARCI)	 Hyderabad

	 (C) �Centre for Nano and Soft Matter Sciences (CeNS)	 Bengaluru

	 (D) �Raman Research Institute (RRI)	 Thiruvananthapuram
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129.	 Lke[u çku rðÄkLkku ykÃku÷ Au.

	 rðÄkLk 1 : �rðïrðãk÷Þku{kt yæÞkÃkLk-yæÞÞLk fkÞo¢{kuLkk ykÞkusLk{kt ICTLkku WÃkÞkuøk þe¾ðkLkk Ãkrhýk{kuLku ©uc 
çkLkkððkLke ûk{íkk Ähkðu Au.

	 rðÄkLk 2 : �h[Lkkí{f {qÕÞktfLk yæÞkÃkLk-yæÞÞLk MkºkkuLke økwýð¥kk ðÄkhðk{kt {ËËYÃk ÚkkÞ Au.

	 WÃkhLkk rðÄkLkku æÞkLk{kt hk¾e MkkiÚke ÞkuøÞ rðfÕÃk ÃkMktË fhku.

	 (A) rðÄkLk 1 íkÚkk rðÄkLk 2 çktLku Mkk[k Au.

	 (B) rðÄkLk 1 íkÚkk rðÄkLk 2 çktLku ¾kuxk Au.

	 (C) rðÄkLk 1 Mkk[wt Au Ãkhtíkw rðÄkLk 2 ¾kuxwt Au.

	 (D) rðÄkLk 1 ¾kuxwt Au Ãkhtíkw rðÄkLk 2 Mkk[wt Au.

130.	 Lke[uLkk Ãkife fÞk rðÄkLkku MkíÞ Au ?

	 1. N.K.N. Lkwt Ãkqhwt Lkk{ New Knowledge Network Au.

	 2. MOOCs ykuV÷kELk yÇÞkMk¢{ku Au

	 3. hk»xÙeÞ MkwÃkh fkuBÃÞwxªøk r{þLk ¼khík MkhfkhLke Ãknu÷ Au.

	 4. Param Shivay (Ãkh{ rþðkÞ) MkwÃkh fkuBÃÞwxh Au.

	 Lke[u ykÃku÷k rðfÕÃkku{ktÚke Mkk[ku sðkçk ÃkMktË fhku.

	 (A) {kºk 3 yLku 4		  (B) {kºk 2 yLku 3

	 (C) {kºk 1 yLku 4		  (D) {kºk 1 yLku 2

131.	 økwshkík MkhfkhLkk E-økðLkoLMk MkkuÃkkLk (E-Governance steps) :

	 1. �E-økúk{ rðïøkúk{ MkkuMkkÞxe îkhk Mkhfkhu hkßÞLke ík{k{ økúk{ Ãkt[kÞíkkuLku VSAT ykÄkrhík “Broadband” òuzký 
Ãkqhk Ãkkzâk Au.

	 2. �økúkBÞ Míkhu fkuBÃÞwxh ykuÃkhuxMko LkkøkrhfkuLku Mkhfkhe Mkuðkyku Ãkqhe Ãkkze þfu íku {kxu ík{k{ økúk{ Ãkt[kÞíkkuLku fkuBÃÞwxh, 
r«LxMko yLku yLÞ ykð~Þf nkzoðuh Ãkqhk Ãkkzðk{kt ykÔÞk Au.

	 3. �hkßÞ Mkhfkhu 6000 økk{zk{kt fku{Lk MkŠðMk MkuLxh (CSC) MÚkkÃkðkLkwt Lk¬e fÞwO Au. hkßÞ Ãkkuxo÷ LkkøkrhfkuLke rðrðÄ 
Mkuðkyku {kxuLke rðLktíke Mðefkhþu yLku hkßÞ{kt çkúkuzçkuLzÚke òuzkÞu÷ økúk{ Ãkt[kÞíkku  / CSCs / MkkÞçkh fkVu suðe 
yøkúe{ MktMÚkkyku îkhk yk Mkuðkyku Ãkqhe Ãkkzþu.

	 WÃkhLkk Ãkife fÞk rðÄkLkku MkíÞ Au ?

	 (A) 1 íkÚkk 2		  (B) 2 íkÚkk 3

	 (C) 1 íkÚkk 3		  (D) 1, 2 íkÚkk 3

132.	� Lke[uLkk Ãkife fÞku nufªøk (hacking) yr¼øk{ Au suLkkÚke MkkÞçkh økwLkuøkkhku AuíkhÃkªze fhðk yÚkðk ðÄkhkLkku xÙkVef 
(Traffic) {u¤ððk {kxu Lkf÷e ðuçkMkkExTMk yÚkðk Ãk]cku (Pages) rzÍkE™ fhu Au ?

	 (A) Pharming		  (B) Website-Duplication
	 (C) Mimicking		  (D) Spamming
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129.	 Given below are two statements

	� Statement 1 : �The use of ICT in organizing teaching-learning programmes in the universities has 
the potential to optimise the learning outcomes

	� Statement 2 : �Formative assessment provides support to enhancing the quality of teaching-learning 
sessions.

	 In light of the above statements, choose the most appropriate answer from the options given below

	 (A) Both Statement 1 and Statement 2 are correct

	 (B) Both Statement 1 and Statement 2 are incorrect

	 (C) Statement 1 is correct but Statement 2 is incorrect

	 (D) Statement 1 is incorrect but Statement 2 is correct

130.	 Which of the following statements are correct?

	 1. N.K.N stands for New Knowledge Network

	 2. MOOCs are offline courses

	 3. National Supercomputing Mission is a Government of India initiative

	 4. Param Shivay is a super computer

	 Choose the correct answer from the options given below:

	 (A) 3 and 4 only		  (B) 2 and 3 only

	 (C) 1 and 4 only		  (D) 1 and 2 only

131.	 E-Governance steps by Government of Gujarat

	 1. �Government has provided VSAT-based “Broadband” connectivity to all the Village Panchayats 
in the State through e-Gram Vishwagram Society.

	 2. �All Village Panchayats have been provided with the computers, printers and other necessary 
hardware so as to enable the village level computer operators to deliver government services to 
the people.

	 3. �State government has also decided to set up Common Service Centres (CSCs) in 6000 villages. 
State Portal will accept citizen’s request for various services and deliver these services through 
front ends such as broadband connected village panchayats/ CSCs/ cyber cafes in the State.

	 From the above statements, which statements are correct?

	 (A) 1 and 2		  (B) 2 and 3

	 (C) 1 and 3		  (D) 1, 2 and 3

132.	� Which of the following is the hacking approach where cyber-criminals design fake websites or 
pages for tricking or gaining additional traffic?

	 (A) Pharming		  (B) Website-Duplication

	 (C) Mimicking		  (D) Spamming
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133.	 Lke[u ykÃku÷k rðÄkLkku [fkMkku.

	 rðÄkLk 1 : �økøkLkÞkLk ÃkrhÞkusLkk{kt 3 MkÇÞkuLkk [k÷f Ë¤Lku 3 rËðMkLkk r{þLk {kxu 400 rf{eLke fûkk{kt «þurÃkík fheLku 
yLku íku{Lku ¼khíkeÞ Mk{wÿs¤{kt WíkkheLku Mkwhrûkík YÃk{kt Ãk]Úðe Ãkh Ãkhík ÷kðe {kLkð ytíkrhûk WzkLk ûk{íkkLkk 
«ËþoLkLke ÃkrhfÕÃkLkk fhðk{kt ykðe Au.

	 rðÄkLk 2 : �NASA - ISRO SAR (NISAR) yu NASA yLku ISRO îkhk MktÞwõík YÃku rðfMkkððk{kt ykðe hnu÷e 
yuf rLkBLk ¼qfûkk (low earth orbit) (LEO) ðuÄþk¤k Au NISAR 12 rËðMk{kt Ãk]ÚðeLkk MktÃkqýo økku¤kLkku 
Lkfþku íkiÞkh fhþu yLku Ãk]ÚðeLkk rLkðMkLkíktºk, çkhVLkku Mk{qn, ðkLkMÃkríkf sið{kºkk, Mk{wÿLkk Míkh{kt ð]ÂæÄ, 
¼qøk¼os¤ yLku ¼qftÃk, MkwLkk{e, ßðk¤k{w¾e yLku ¼qM¾÷Lk MkrníkLkk «kf]ríkf MktfxkuLku Mk{sðk {kxu yðfkþe 
(Spatially) yLku yMÚkkÞe (Temporarily) YÃku MkwMktøkík zuxk «ËkLk fhþu.

	 Mkk[ku W¥kh fkuz ÃkMktË fhku :

	 (A) {kºk 1 Mkk[wt Au.		  (B) {kºk 2 Mkk[wt Au.

	 (C) 1 íkÚkk 2 çktLku Mkk[kt Au.		  (D) 1 íkÚkk 2 çktLku Mkk[k LkÚke.

134.	 Lke[u ykÃku÷k rðÄkLkku [fkMkku.

	 1. �COP26 ¾kíku ðzk«ÄkLkLke ònuhkíkLku yLkwYÃk, Lkðe yLku ÃkwLk: «kÃÞ Qòo {tºkk÷Þ, ð»ko 2030 MkwÄe{kt  
rçkLk-yÂ~{økík Mºkkuíkku{ktÚke 500 GW MÚkkrÃkík ðes¤eLke ûk{íkk nktMk÷ fhðk {kxu fkÞohík Au.

	 2. �¼khík ÃkwLk:«kÃÞ Qòo MÚkkrÃkík ûk{íkk{kt (rðþk¤ nkEzÙku Mkrník) ðirïf Míkhu çkeò ¢{u, ÃkðLk Qòo ûk{íkk{kt çkeò ¢{u 
yLku Mkkih Qòo ûk{íkk{kt 24{wt MÚkkLk Ähkðu Au.

	 Mkk[ku W¥kh fkuz ÃkMktË fhku :

	 (A) {kºk 1 Mkk[wt Au.		  (B) {kºk 2 Mkk[wt Au.

	 (C) 1 íkÚkk 2 çktLku Mkk[kt Au.	 	 (D) 1 íkÚkk 2 çktLku Mkk[k LkÚke.

135.	 Lke[u ykÃku÷k rðÄkLkku [fkMkku.

	 1. �MkqÞo{trËh yLku {kuZuhkLkøkhLkwt Mkkihefhý : økwshkík íkk. 9-10-2022Lkk hkus ðzk«ÄkLku ¼khíkLkwt «Úk{ çkuxhe Mxkuhus yLku 
MkkihQòo ykÄkrhík “MkqÞoøkúk{” “{kuZuhk”, hk»xÙLku Mk{ŠÃkík fÞwO.

	 2. hk»xÙeÞ sið Qòo fkÞo¢{ : hk»xÙeÞ sið Qòo fkÞo¢{Lkku íkk. 2-11-2022Lkk hkus «kht¼ fhðk{kt ykÔÞku.

	 3. {kLkð MktMkkÄLk rðfkMk ÞkusLkk ytíkøkoík ðkÞwr{ºk yLku s¤r{ºk fkiþÕÞ rðfkMk fkÞo¢{ 2022 {kt þY fhðk{kt ykÔÞk.

	 4. �PM-KUSUM ÞkusLkk : «ÄkLk{tºke rfMkkLk Qòo Mkwhûkk yuð{ WÚÚkkLk {nkyr¼ÞkLk (PM-KUSUM) : Wòo yLku 
s¤ Mkwhûkk Ãkqhe Ãkkzðk {kxu f]r»k ûkuºkLku ze-zeÍ÷kEÍ fhðwt yLku Mkkih QòoLkwt WíÃkkËLk fheLku ¾uzqíkku {kxu ðÄkhkLke 
ykðf Ãký W¼e fhðe.

	 Mkk[ku W¥kh fkuz ÃkMktË fhku :

	 (A) 1, 2, 3 yLku 4 ík{k{ Mkk[k Au.	 (B) 1, 2 yLku 3 Mkk[k Au.

	 (C) 2, 3 yLku 4 Mkk[k Au.		  (D) 1, 3 yLku 4 Mkk[k Au.

136.	 Ãk]ÚðeLkk Ÿzký{kt hnu÷e W»{kLku (Trapped heat inside the earth) Lku .......... fnu Au.

	 (A) W»{k Wòo		  (B) økrík Wòo

	 (C) ¼qíkkÃkeÞ Wòo		  (D) Úk{o÷ (Thermal) Wòo

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight



M

[CSP-2] 55[P.T.O.

133.	 Evaluate the below mentioned statements.
	 1. �Gaganyaan project envisages demonstration of human spaceflight capability by launching 

crew of 3 members to an orbit of 400 km for a 3-day mission and bring them back safely to 
earth, by landing in Indian sea waters

	 2. �NASA-ISRO SAR (NISAR) is a Low Earth Orbit (LEO) observatory being jointly developed 
by NASA and ISRO. NISAR will map the entire globe in 12 days and provide spatially and 
temporarily consistent data for understanding changes in Earth’s ecosystems, ice mass, 
vegetation biomass, sea level rise, groundwater and natural hazards including earthquakes, 
tsunamis, volcanoes and landslides.

	 Select the correct answer code :
	 (A) only 1 is correct		  (B) only 2 is correct
	 (C) both 1 and 2 are correct	 (D) both 1 and 2 are not correct

134.	 Evaluate the below mentioned statements.
	 1. �In line with Prime Minister’s announcement at COP26, Ministry of New and Renewable Energy 

is working towards achieving 500 GW of installed electricity capacity from non-fossil sources by 
2030

	 2. �India stands 2nd globally in Renewable Energy Installed Capacity (including Large Hydro), 
2nd in Wind Power capacity & 24th in Solar Power capacity

	 Select the correct answer code :
	 (A) only 1 is correct		  (B) only 2 is correct
	 (C) both 1 and 2 are correct	 (D) both 1 and 2 are not correct.

135.	 Evaluate the statements

	 1. �Solarisation of sun-temple and town of Modhera, Gujarat: On 09.10.2022, Prime Minister 
dedicated to the nation, India’s first Battery Storage and Solar Power-based ‘Suryagram’ - 
“Modhera”.

	 2. �National Bioenergy Programme: The National Bioenergy Programme was launched on 
2.11.2022.

	 3. �Vayumitra and Jalmitra Skill Development Programmes under Human Resource Development 
Scheme were launched in 2022. 

	 4. �PM-KUSUM Scheme: Pradhan Mantri Kisan Urja Suraksha evam Utthaan Mahaabhiyan 
(PM-KUSUM): To provide energy and water security, de-dieselise the farm sector and also 
generate additional income for farmers by producing solar power.

	 Select the correct answer code :

	 (A) 1, 2, 3 and 4 all are correct	 (B) 1, 2 and 3 are correct

	 (C) 2, 3 and 4 are correct	 (D) 1, 3 and 4 are correct

136.	 Trapped heat inside the earth is known as _______

	 (A) Heat energy		  (B) Kinetic energy

	 (C) Geothermal energy		  (D) Thermal energy
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137.	 ÃkÞkoðhýeÞ MktrÄ yLku ÃkÞkoðhýeÞ Mkt{u÷LkLke òuzeyku Lke[u ykÃku÷ Au. fE òuze Mkk[e LkÚke ?

	 (A) hk{Mkh Mkt{u÷Lk :	 • íku s¤Ã÷krðík ûkuºkku (wetlands) rðþuLkwt Mkt{u÷Lk fnuðkÞ Au.

		  • íku RhkLkLkk hk{Mkh þnuh{kt 1971{kt yÃkLkkððk{kt ykÔÞwt níkwt.

		  • íku 1975{kt y{÷{kt ykÔÞwt.

	 (B) sirðf ðirðæÞ ÃkhLkwt Mkt{u÷Lk :	 • íku sirðf ðirðæÞLkk Mkthûký {kxuLkwt Mkt{u÷Lk níkwt.

		  • íku 1992{kt yÃkLkkððk{kt ykÔÞwt.

		  • íku 1993{kt y{÷{kt ykÔÞwt.

	 (C) rðÞuLkk Mkt{u÷Lk :	 • íku ykuÍkuLk MíkhLkk hûký {kxuLkwt Mkt{u÷Lk níkwt.

		  • íku 1985{kt yÃkLkkððk{kt ykÔÞwt.

		  • íku 1988{kt y{÷{kt ykÔÞwt.

	 (D) hkuèhzu{ Mkt{u÷Lk :	 • �íku sirðf ðirðÄíkk Mkt{u÷Lk (Convention on Biological Diversity) (CBD) 
Lkku yktíkhhk»xÙeÞ ÃkÞkoðhýeÞ «kuxkufku÷ Au su ykLkwðtrþf MktMkkÄLkkuLke WÃk÷çÄe 
yLku íkuLkk WÃkÞkuøkÚke Úkíkk ÷k¼Lke LÞkÞ Mktøkík yLku Mk{kLk ðnU[ýe çkkçkíkLkku Au.

		  • íku 2010{kt yÃkLkkððk{ktykÔÞwt.

		  • íku 2014{kt y{÷{kt ykÔÞwt.

138.	 ðLÞSð Mkthûký {kxuLkwt ¼khík ËuþLkwt fkÞËkfeÞ {k¤¾wt : ðLÞSð {kxu çktÄkhýeÞ òuøkðkEyku.

	 1. �42{k çktÄkhýeÞ MkwÄkhk yrÄrLkÞ{, 1976 : ðLk yLku støk÷e «kýeyku íkÚkk Ãkûke MkthûkýLku hkßÞ ÞkËe{ktÚke Mk{ðkÞ 
ÞkËe{kt íkçkËe÷ fhðk{kt ykÔÞwt.

	 2. �çktÄkhýLke f÷{ 51A(b) Mkqr[ík fhu Au fu ËuþLkk ðLk yLku ðLÞ Sðku Mkrník fwËhíke ÃkÞkoðhýLkwt síkLk fhðwt yLku íkuLke 
MkwÄkhýk fhðe íku ËuþLkk «íÞuf LkkøkrhfLke {q¤¼qík Vhs hnuþu.

	 3. �hkßÞLkeríkLkk {køkoËþof rMkæÄktíkkuLke f÷{ 48(b) ykËuþ ykÃku Au fu hkßÞ ÃkÞkoðhýLkwt síkLk yLku íku{kt MkwÄkhýk 
fhðkLkku íkÚkk ËuþLkk støk÷ku yLku ðLÞSðkuLkwt hûký fhðkLkku «ÞíLk fhþu.

	 WÃkhLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?

	 (A) {kºk 1		  (B) {kºk 2

	 (C) {kºk 3		  (D) 1, 2 yLku 3

139.	 fÞk {tºkk÷Þu ‘National Mission for a Green India’ nkÚk Ähu÷ Au ?

	 (A) økúk{eý rðfkMk {tºkk÷Þ		  (B) ÃkÞkoðhý yLku ðLk {tºkk÷Þ

	 (C) Ãk]Úðe rð¿kkLk {tºkk÷Þ		  (D) WÃkhkuõík Ãkife yuf Ãký Lknª

140.	� 2023Lke UN s¤ðkÞw ÃkrhðíkoLk Ãkrh»kË - ËwçkE, MktÞwõík ykhçk y{ehkík (United Arab Emirates) (UAE) {kt 
ÞkuòE, íku .......... íkhefu Ãký yku¤¾kÞ Au.

	 (A) COP 27		  (B) COP 28
	 (C) COP 29		  (D) COP 30
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137.	� Pairs showing Environment treaties and Environmental Conventions are mentioned below. Which 

pair is not correct?
	 (A) Ramsar Convention	 • It is called the Convention on Wetlands.
		  • It was adopted in the city of Iran, Ramsar in 1971.
		  • It came into force in 1975.
	 (B) Convention on Biological
	        Diversity (CBD)
		  • �It is a convention for the conservation of biological diversity.
		  • �It was adopted in 1992.
		  • �It came into force in 1993.
	 (C) Vienna Convention	 • �It is a convention for the Protection of Ozone Layer.
		  • �It was adopted in 1985.
		  • �It came into force in 1988.
	 (D) Rotterdam Convention	 • �It is an international environment protocol on Access to Genetic 

Resources and the Fair and Equitable Sharing of Benefits Arising 
from their Utilization (ABS) to the Convention on Biological 
Diversity (CBD).

		  • �It was adopted in 2010.
		  • �It came into force in 2014.

138.	� India’s Domestic Legal Framework for Wildlife Conservation: Constitutional Provisions for 
Wildlife.

	 1. �The  42nd Amendment Act, 1976 : Forests and Protection of Wild Animals and Birds was 
transferred from State to Concurrent List.

	 2. �Article 51 A(b) of the Constitution states that it shall be the fundamental duty of every citizen to 
protect and improve the natural environment including forests and Wildlife.

	 3. �Article 48(b) in the Directive Principles of State policy mandates that the State shall endeavour 
to protect and improve the environment and to safeguard the forests and wildlife of the country

	 Which of the above statement/s is/are correct?
	 (A) only 1		  (B) only 2
	 (C) only 3		  (D) 1, 2 and 3

139.	 Which Ministry has undertaken the National Mission for a “Green India”?
	 (A) Ministry of Rural Development	 (B) Ministry of Environment & Forest
	 (C) Ministry of Earth Sciences	 (D) None of the above

140.	� The 2023 UN Climate Change Conference was convened in Dubai, United Arab Emirates (UAE). 
It is also known as _______.

	 (A) COP 27		  (B) COP 28
	 (C) COP 29		  (D) COP 30
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141.	 Sðkýw (Bacteria) ðkÞh÷ DNALku .......... MkkÚku rð¼kSík fheLku ÃkkuíkkLku rð»kkýw (Viruses)Úke Mkwhrûkík fhu Au.
	 (A) Ligase		  (B) Endonuclease
	 (C) Exonuclease		  (D) Gyrase

142.	 WíÃkkËLk fhðk{kt ykðu÷ «Úk{ xÙkLMksLkef Akuz (Plant) .......... níkku.

	 (A) hªøký		  (B) ík{kfw

	 (C) zktøkh		  (D) fÃkkMk

143.	 sLkeLkLkk AuËLk yLku «ðuþLke r¢ÞkLku .......... fnu Au.

	 (A) çkkÞkuxufLkku÷kuS		  (B) SLkuxef yuLSLkeÞhªøk

	 (C) MkkÞxkuSLkuxeõMk		  (D) SLk ÚkuhkÃke

144.	 zktøkh{kt SSNMLke rð¼kðLkk .......... ¾kíkuLkk MktþkuÄLkfkhkuLkk MknfkhÚke rðfMkkððk{kt ykðe.

	 (A) ykr£fk		  (B) Ërûký y{urhfk

	 (C) yurþÞk		  (D) ÞwhkuÃk

145.	 Nano (LkuLkku) þçË .......... {ktÚke ykÔÞku.

	 (A) økúef þçË		  (B) Exk÷eÞLk þçË

	 (C) ÷urxLk þçË		  (D) £uL[ þçË

146.	 ykÄkh Míkh (base layer){ktÚke yuf yÚkðk ðÄw rðþu»kíkkyku îkhk MÚkkLkLku yku¤¾ðkLke «r¢Þk .......... Au.
	 (A) Georeference		  (B) Geoid
	 (C) GIS		  (D) Geocode

147.	 yuLSLk, nrÚkÞkh yÚkðk yLÞ ¼kh ðnLk fhðk {kxu ðÃkhkíkk yuh¢k^xLke Ãkkt¾ Ãkh Úkkt¼÷k suðe h[Lkk .......... Au.
	 (A) Pylon		  (B) Pilose
	 (C) Boot		  (D) Cabin

148.	 Ÿ[e òrík{kt MkSð{kt SLkLku MÚkkLkktíkrhík fhðk WÃkÞkuøk{kt ÷uðkíkk MkSðLku .......... fnu Au.
	 (A) Agrobacterium tumefacians	 (B) E. Coli
	 (C) Acetobacter		  (D) Bacillus thuringiensis

149.	 Mkt¢{f (infections) hkuøkkuLkwt çkeswt Lkk{ þwt Au ?

	 (A) rçkLk-[uÃke hkuøkku (Non-Communicable diseases)

	 (B) [uÃke hkuøkku (Communicable diseases)

	 (C) rçkLk-«Mkkhýûk{ hkuøkku (Non-transmissible diseases)

	 (D) ðkhMkkøkík hkuøkku (Heredity diseases)

150.	 nk÷{kt hkuøkLkk ðÄkhkLkku Ëh ¾qçk s íkeðú økríkyu ðÄe hÌkku Au yLku íku{ktLkk {kuxk¼køkLkk .......... MkkÚku òuzkÞu÷k Au.

	 (A) Carcinogens (fkŠMkLkkusuLMk)	 (B) Invigorating (MVqŠíkËkÞf)

	 (C) Organic farming (MkSð ¾uíke)	 (D) Balanced diet (Mktíkwr÷ík yknkh)
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141.	 Bacteria protect themselves from viruses by fragmenting viral DNA with

	 (A) Ligase		  (B) Endonuclease

	 (C) Exonuclease		  (D) Gyrase

142.	 The first transgenic plant produced was _______.

	 (A) Brinjal		  (B) Tobacco

	 (C) Rice		  (D) Cotton

143.	 Excision and insertion of a gene is called _______.

	 (A) Biotechnology		  (B) Genetic engineering

	 (C) Cytogenetics		  (D) Gene therapy

144.	 The concept of SSNM in rice was developed in cooperation with researchers across _______.

	 (A) Africa		  (B) South America

	 (C) Asia		  (D) Europe

145.	 The word Nano came from _______

	 (A) Greek word		  (B) Italian word

	 (C) Latin word		  (D) French word

146.	 The process of identifying a location by one or more attributes from a base layer is _______

	 (A) Georeference		  (B) Geoid

	 (C) GIS		  (D) Geocode

147.	� A pillar like structure on the wing of an aircraft used for carrying an engine, weapon or other load 
is _______

	 (A) Pylon		  (B) Pilose

	 (C) Boot		  (D) Cabin

148.	 The organism which is used for gene transfer in higher organism is _______.

	 (A) Agrobacterium tumefacians	 (B) E. coli

	 (C) Acetobacter		  (D) Bacillus thuringiensis

149.	 What is the other name for infectious diseases?

	 (A) Non-communicable diseases	 (B) Communicable diseases

	 (C) Non-transmissible diseases	 (D) Heredity diseases

150.	� The current rates of disease are increasing at alarming speeds and most are closely 
linked with _______

	 (A) Carcinogens		  (B) Invigorating

	 (C) Organic farming		  (D) Balanced diet
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151.	 ¼khíkeÞ ÷~fh{kt nkuÂMÃkx÷ MkuðkykuLkk {nkrLkËuoþf (MkþMºk Ë¤ku)Lkku nkuÆku ÄhkðLkkh «Úk{ {rn÷k fkuý Au ?

	 (A) {ush sLkh÷ {kÄwhe fkLkexfh	 (B) ÷u^xuLkLx sLkh÷ ÃkwrLkíkk yhkuhk

	 (C) MksoLk ðkEMk yuz{eh÷ þi÷k Mkk{Líkk	 (D) yuh {kþo÷ MkkÄLkk yuMk. LkkÞh

152.	 ¼khíkLkwt fÞwt hkßÞ Yk. 237 fhkuzLke økúkVeLk WíÃkkËLk MkwrðÄk MÚkkÃkðkLkwt ykÞkusLk fhe hÌkwt Au ?

	 (A) fuh¤		  (B) íkr{÷Lkkzw

	 (C) fýkoxf		  (D) yktÄú«Ëuþ

153.	� fÞku Ëuþ rðïLkk MkkiÚke {kuxk LÞqxÙeLkku þkuÄf ËqhçkeLk (Nutrino-detecting telescope) ‘Trident’ Lkwt rLk{koý fhe 
hÌkku Au ?

	 (A) [eLk		  (B) òÃkkLk

	 (C) ÞwLkkExuz MxuxTMk		  (D) hrþÞk

154.	 fE MktMÚkkyu røkLkeLkk y¾kík{kt ¼khík MkkÚku «Úk{ MktÞwõík Lkkifk fðkÞík nkÚk Ähe níke ?

	 (A) ÞwhkuÃkeÞLk ÞwrLkÞLk (EU)

	 (B) MktÞwõík hk»xÙ (UN)

	 (C) LkkuÚko yux÷kLxef xÙexe ykuøkuoLkkEÍuþLk (NATO)

	 (D) þkt½kE fkuykuÃkhuþLk ykuøkuoLkkEÍuþLk (SCO)

155.	 ¼khíkeÞ MkuLkkLke Mkki «Úk{ ðxeof÷ ðeLz xLk÷ (VWT) õÞkt ykðu÷e Au ?

	 (A) sB{w yLku fk~{eh		  (B) W¥khk¾tz

	 (C) rn{k[÷ «Ëuþ		  (D) yYýk[÷ «Ëuþ

156.	 yk ð»kuo sL{Lke MktÏÞk Lkðk Lke[u Míkhu ÃknkU[ðk MkkÚku fÞku Ëuþ ðMíke rð»kÞf økt¼eh fxkufxeLkku Mkk{Lkku fhe hÌkku Au ?

	 (A) òÃkkLk		  (B) s{oLke

	 (C) [eLk		  (D) Exk÷e

157.	� fE £uL[ yuhku yuLSLk ftÃkLkeyu ykuõxkuçkh 2023{kt yuhkuMÃkuMk{kt ykiãkurøkf MknÞkuøk ðÄkhðk ®nËwMíkkLk yuhkuLkkuxeõMk 
r÷{exuz (HAL) MkkÚku MoU Ãkh nMíkkûkh fÞko níkk ?

	 (A) zMkkuÕx rMkMxBMk (Dassault Systemes)

	 (B) yuhçkMk (Airbus)

	 (C) Mku£Lk yuh¢k^x yuLSLMk (Safran Aircraft Engines)

	 (D) ÚkuÕMk økúwÃk (Thales Group)

158.	 37{e hk»xÙeÞ h{íkku 2023Lke Mk¥kkðkh «Þkusf ftÃkLke fE níke ?
	 (A) Google Pay		  (B) PhonePe

	 (C) Paytm		  (D) Amazon Pay
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151.	� Who is the first woman to hold the position of Director General Hospital Services (Armed Forces) 

in the Indian military?

	 (A) Major General Madhuri Kanitkar	 (B) Lieutenant General Punita Arora

	 (C) Surgeon Vice Admiral Sheila Samanta	 (D) Air Marshal Sadhna S Nair

152.	 Which Indian State is planning to set up a ` 237 crore graphene production facility?

	 (A) Kerala		  (B) Tamil Nadu

	 (C) Karnataka		  (D) Andhra Pradesh

153.	 Which country is building the world’s largest neutrino-detecting telescope, “Trident”?

	 (A) China		  (B) Japan

	 (C) United States		  (D) Russia

154.	 Which organization conducted a first joint naval exercise with India in the Gulf of Guinea?

	 (A) European Union (EU)

	 (B) United Nations (UN)

	 (C) North Atlantic Treaty Organization (NATO)

	 (D) Shanghai Cooperation Organisation (SCO)

155.	 Where is the Indian Army’s first Vertical Wind Tunnel (VWT) located?

	 (A) Jammu and Kashmir	 (B) Uttarakhand

	 (C) Himachal Pradesh		  (D) Arunachal Pradesh

156.	� Which country is experiencing a severe demographic crisis, with the number of births hitting a 

new low this year?

	 (A) Japan		  (B) Germany

	 (C) China		  (D) Italy

157.	� Which French aero engine company signed an MoU with Hindustan Aeronautics Limited (HAL) 

in October 2023 to enhance industrial cooperation in aerospace?

	 (A) Dassault Systèmes		  (B) Airbus

	 (C) Safran Aircraft Engines	 (D) Thales Group

158.	 Which company was the official sponsor of the 37th National Games in 2023?

	 (A) Google Pay		  (B) PhonePe

	 (C) Paytm		  (D) Amazon Pay
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159.	� Mk¾kðík yLku ftÃkLke Mkk{krsf sðkçkËkhe (Philanthropy and Corporate Social Responsibility) {kxu 2023Lkku 
USISPF ðirïf Lkuík]íð ÃkwhMfkh fkuLku {éÞku ?

	 (A) ßnkuLk [uBçkMko (John Chambers)	 (B) {wfuþ ytçkkýe (Mukesh Ambani)

	 (C) Lkeíkk ytçkkýe (Nita Ambani)	 (D) {wfuþ y½e (Mukesh Aghi)

160.	 Ëhuf rsÕ÷k{kt nku÷{kfeOøk MkuLxh Ähkðíkwt ¼khíkLkwt «Úk{ hkßÞ fÞwt Au ?
	 (A) íkr{÷Lkkzw		  (B) fýkoxf
	 (C) {nkhk»xÙ		  (D) fuh¤

161.	 AI Mk÷k{íke rþ¾h Mkt{u÷Lk (Safety Summit) 2023Lkwt ykÞkusLk fÞk Ëuþu fÞwO níkwt ?
	 (A) USA		  (B) [eLk
	 (C) ¼khík		  (D) UK

162.	� UNESCO îkhk íkksuíkh{kt fÞk ¼khíkeÞ þnuhLku ‘MkkrníÞLkwt þnuh’ Lkk{ ykÃkðk{kt ykÔÞwt fu su þnuh yk rðrþü Lkk{ 
{u¤ðLkkh ¼khíkLkwt «Úk{ þnuh çkLÞwt Au ?

	 (A) rËÕne	 (B) [uLLkkE	 (C) fkuÍefkuz	 (D) Ãkqýu

163.	 2023{kt Halloween Day fE íkkhe¾u Wsððk{kt ykÔÞku ?
	 (A) ykuõxkuçkh 31	 (B) LkðuBçkh 1	 (C) LkðuBçkh 2	 (D) LkðuBçkh 3

164.	 økkuðk {uhexkE{ fkuLõ÷uð, 2023Lkk [kuÚkk MktMfhýLke {wÏÞ rð»kÞðMíkw (Theme) þwt níke ?
	 (A) �®nË {nkMkkøkh «Ëuþ{kt ËrhÞkE Mkwhûkk : MkðoMkk{kLÞ ËrhÞkE «kÚkr{õíkkykuLku MknÞkuøke MkkiBÞ £u{ðfo{kt YÃkktíkrhík 

fhðe (Maritime security common maritime priorities region : Converting common maritime 
priorities into collaborative mitigating frameworks)

	 (B) �ËrhÞkE Mkwhûkk yLku W¼híkkt rçkLk-ÃkhtÃkhkøkík òu¾{ku : IOR Lkki MkuLkk {kxu Mkr¢Þ ¼qr{fk {kxuLkk fuMk (Maritime 
security and emerging Non-Traditional Threats : A case for proactive role for IOR Navies)

	 (C) �IOR {kt MkðoMkk{kLÞ ËrhÞkE «kÄkLÞíkk yLku «kËurþf ËrhÞkE ÔÞqnh[Lkk {kxuLke sYheÞkík (Common 
maritime priorities in IOR and need for regional maritime strategy)

	 (D) WÃkhkuõík Ãkife yuf Ãký Lknª

165.	 ¼khíkLkk Deep Ocean Mission (DOM) {kt WÃkÞkuøk{kt ÷uðkÞu÷ Mkçk{ŠMkçk÷Lkwt Lkk{ þwt Au ?
	 (A) Mkkøkh K6		  (B) hkiLkf
	 (C) s÷-{íMÞ		  (D) Mk{wÿÞkLk

166.	 ‘fð[’ (Kavach) þçË su ðkhtðkh Mk{k[khku{kt òuðk {¤u Au, íku .......... Lkku WÕ÷u¾ fhu Au.
	 (A) MðËuþe heíku rðfrMkík xÙuLk yÚkzk{ý rLkðkhý «ýk÷e
	 (B) ¼khíkeÞ MkuLkk {kxu yuf Lkðk «fkhLkwt rðfMkkðu÷wt çkÏíkh
	 (C) �Mkthûký MktþkuÄLk yLku rðfkMk MktøkXLk (Defence Research and Development Organisation) (DRDO) 

îkhk rðfMkkðu÷ r{MkkE÷ rðhkuÄe «ýk÷e
	 (D) �¼khíkeÞ yðfkþ MktþkuÄLk MktMÚkk (Indian Space Research Organisation) (ISRO) îkhk rðfMkkððk{kt 

ykðu÷ WÃkøkún.
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159.	� Who received the 2023 USISPF Global Leadership Award for Philanthropy and Corporate Social 
Responsibility?

	 (A) John Chambers		  (B) Mukesh Ambani

	 (C) Nita Ambani		  (D) Mukesh Aghi

160.	 Which Indian State is the first to have a hallmarking center in every district?

	 (A) Tamil Nadu		  (B) Karnataka

	 (C) Maharashtra		  (D) Kerala

161.	 Which country had hosted the AI Safety Summit 2023?

	 (A) USA		  (B) China

	 (C) India		  (D) UK

162.	� Which Indian city was recently named the ‘City of Literature’ by UNESCO, making it the first 
city in India to receive this distinction?

	 (A) Delhi		  (B) Chennai

	 (C) Kozhikode		  (D) Pune

163.	 On what date was Halloween Day celebrated in 2023?

	 (A) October 31		  (B) November 1

	 (C) November 2		  (D) November 3

164.	 What was the theme of the 4th edition of Goa Maritime Conclave 2023?

	 (A) �Maritime Security in the Indian Ocean Region: Converting Common Maritime Priorities into 
Collaborative Mitigating Frameworks.

	 (B) �Maritime Security and Emerging Non-Traditional Threats: A Case for Proactive Role for IOR 
Navies

	 (C) �Common Maritime Priorities in IOR and Need for Regional Maritime Strategy

	 (D) �None of the above

165.	 What is the name of the submersible used in India’s Deep Ocean Mission (DOM)?

	 (A) Sagar K6		  (B) Rounaq

	 (C) JAL-Matsya		  (D) Samudrayaan

166.	 The term “Kavach” often seen in the news refers to _______.

	 (A) The indigenously developed train collision avoidance system

	 (B) A new type of armour developed for the Indian Army

	 (C) �An anti-missile system developed by the Defence Research and Development Organisation 
(DRDO)

	 (D) The satellite developed by the Indian Space Research Organisation (ISRO)
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167.	 fÞk Ëuþu íkuLkk çktÄkhý{kt Mk¥kkðkh heíku Ãkh{kýw þMºkkuLke ÃkrhÂMÚkríkLku Ëk¾÷ fhu÷ Au ?

	 (A) [eLk		  (B) hrþÞk

	 (C) Ërûký fkurhÞk		  (D) W¥kh fkurhÞk

168.	 Lke[uLkk{ktÚke fE MktMÚkk íkuLkwt ‘yuf hk»xÙ, yuf LkkUÄýe Ã÷uxVku{o’ þY fhðk íkiÞkh Au ?

	 (A) ¼khíkeÞ [qtxýe Ãkt[		  (B) hk»xÙeÞ íkçkeçke ykÞkuøk

	 (C) ¼khíkeÞ heÍðo çkuLf		  (D) hk»xÙeÞ {kLkð yrÄfkh ykÞkuøk

169.	� USLkk hk»xÙÃkrík òu çkkÞzuLk îkhk «ríkrcík White House National Medal for Technology and Innovation 
íkÚkk The National Medal of Science yuðkzoÚke fkuLku MkL{krLkík fhðk{kt ykÔÞk ?

	 (A) yþkuf økkzøke÷ yLku Mkwçkúk Mkwhuþ	 (B) MkwtËh rÃk[kE yLku MkíÞk LkkzuÕ÷k

	 (C) yh®ðË r¢»ýk yLku þktíkLkwt LkkhkÞuLk	 (D) Ãkhkøk yøkúðk÷ yLku Lke÷ {kunLk

170.	� rðï ykhkuøÞ MktMÚkk (World Health Organisation) (WHO) îkhk ûkÞ hkuøk {kxu The Strategic and Technical 
Advisory Group (STAG) Lkk MkËMÞ íkhefu fkuLke rLk{ýqtf fhðk{kt ykðe ?

	 (A) hksuþ þ{ko		  (B) yts÷e {nuíkk

	 (C) Mkkhtøk Ëuð		  (D) r«Þk Ãkxu÷

171.	� Lke[uLkk Ãkife fE ÔÞÂõíkyu ÃkkuíkkLkk «Úk{ ÃkwMíkf ‘fku‹xøk EÂLzÞk #ø÷uLz, {w½÷ EÂLzÞk yuLz Ä ykuheSLMk ykìV yuBÃkkÞh’ 
{kxu 2023 {kt ðirïf MkktMf]ríkf Mk{s ytøkuLkku rçkúxeþ yufuzu{e ÃkwMíkf ÃkwhMfkh SíÞku ?

	 (A) yswoLk Ãkxu÷		  (B) hknw÷ ¾kLk

	 (C) r«Þk þ{ko		  (D) LktrËLke ËkMk

172.	 MxurxMxk (Statista) yLkwMkkh, rðï¼h{kt rVLkxuf ÞwrLkfkuLkoLke MktÏÞk{kt ¼khíkLkku ¢{ fÞku Au ?

	 (A) ºkeòu		  (B) çkeòu

	 (C) «Úk{		  (D) [kuÚkku

173.	 Lke[uLkk Ãkife fÞwt þnuh yu ‘¼khíkLkwt [kLkwt þnuh’ (Tea city of India) íkhefu yku¤¾kÞ Au ?

	 (A) fku÷f¥kk		  (B) økwðknkxe

	 (C) ËkŠs®÷øk		  (D) rËçkúwøkZ

174.	 ð»ko 2023Lkku ÃkwY»kku {kxuLkku çku÷kuLk ze’ykuh (Ballon d’Or) fkuý SíÞwt ?
	 (A) Cristiano Ronaldo		  (B) Lionel Messi
	 (C) Kylian Mbappe		  (D) Erling Haaland

175.	� ¼khíkLkk «Úk{ Wi-Fi-6 huze çkúkuzçkuLz LkuxðfoLkku «kht¼ fhðk {kxu fÞk ðirïf íkfLkefe yøkúuMkhu TATA-Ã÷uVkEçkh MkkÚku 
¼køkeËkhe fhe ?

	 (A) Mku{Mktøk (Samsung)		  (B) yuÃk÷ (Apple)

	 (C) LkkurfÞk (Nokia)		  (D) ÌkwykðuE (Huawei)
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167.	 Which country has officially embedded its nuclear weapons status in its Constitution?

	 (A) China		  (B) Russia

	 (C) South Korea		  (D) North Korea

168.	 Which of the following organizations is set to launch its “One Nation, One Registration platform”?

	 (A) Election Commission of India	 (B) National Medical Commission

	 (C) Reserve Bank of India	 (D) National Human Rights Commission

169.	� Who were awarded the prestigious White House National Medal for Technology and Innovation 
and the National Medal of Science by US President Joe Biden?

	 (A) Ashok Gadgil and Subra Suresh

	 (B) Sundar Pichai and Satya Nadella

	 (C) Arvind Krishna and Shantanu Narayen

	 (D) Parag Agrawal and Neal Mohan

170.	� Who has been appointed as a member of the Strategic and Technical Advisory Group (STAG) for 
Tuberculosis by the World Health Organization (WHO)?

	 (A) Rajesh Sharma		  (B) Anjali Mehta

	 (C) Sarang Deo		  (D) Priya Patel

171.	� Who won the British Academy Book Prize for Global Cultural Understanding in 2023 for his / her 
debut book, ‘Courting India: England, Mughal India, and the Origins of Empire’?

	 (A) Arjun Patel		  (B) Rahul Khan

	 (C) Priya Sharma		  (D) Nandini Das

172.	 According to Statista, what is India’s rank in the number of fintech unicorns worldwide?

	 (A) Third		  (B) Second

	 (C) First		  (D) Fourth

173.	 Which city is known as the “Tea City of India”?

	 (A) Kolkata		  (B) Guwahati

	 (C) Darjeeling		  (D) Dibrugarh

174.	 Who won the 2023 Ballon d’Or for men?

	 (A) Cristiano Ronaldo		  (B) Lionel Messi

	 (C) Kylian Mbappe		  (D) Erling Haaland

175.	� Which global technology leader partnered with TATA Play Fiber to launch India’s first  
WiFi6-ready broadband network?

	 (A) Samsung		  (B) Apple

	 (C) Nokia		  (D) Huawei
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176.	 Lke[uLkk Ãkife fÞku Äq{fuíkw ykurhykurLkz W»ý ð»kko (The Orionid meteor shower) íkhefu Ãký yku¤¾kÞ Au ?
	 (A) Hyakutake		  (B) Hale-Bopp
	 (C) Neowise		  (D) Halley’s

177.	� ¼khíkeÞ {kxe yLku s¤ Mkwhûkk MktMÚkk (ICAR - Indian Institute of Soil and Water Conservation)  
(ICAR - IISWC) Lkwt {wÏÞk÷Þ õÞkt ÂMÚkík Au ?

	 (A) økwYøkúk{		  (B) ËnuhkËqLk

	 (C) niËhkçkkË		  (D) rþ{÷k

178.	 yurþÞLk Ãkuhk h{íkku 2023{kt F64 ©uýe{kt çkhAe VUfLkku rðï hufkuzo fkuýu íkkuzâku ?

	 (A) ËuðuLÿ ÍkÍrhÞk		  (B) MkwtËh ®Mkn økwsoh

	 (C) «ðeý fw{kh		  (D) Mkwr{ík yuLxe÷

179.	� {rn÷k MkþÂõíkfhýLkk Ãkøk÷kt íkhefu fE ¾kã (Food) rzr÷ðhe yuÃ÷efuþLku {rn÷k ze÷eðhe ¼køkeËkhku {kxu «Mkqrík 
ðe{ku þY fÞkuo ?

	 (A) Swiggy		  (B) DoorDash
	 (C) Zomato		  (D) Foodpanda

180.	 ¼khíkeÞ MkuLkkyu 76{ku þkiÞo rËðMk õÞkt {LkkÔÞku ?

	 (A) sB{w yLku fk~{eh		  (B) Ãktòçk

	 (C) nrhÞkýk		  (D) rn{k[÷ «Ëuþ

181.	 IAF yu [eLk yLku ÃkkrfMíkkLk MkhnË Ãkh fux÷e S-400 yuh rzVuLMk r{MkkE÷ MõðkuzÙLk íkiLkkík fhe Au ?

	 (A) ºký		  (B) [kh

	 (C) Ãkkt[		  (D) A

182.	� ELxhLkuþLk÷ rVÕ{ VuMxeð÷ ykìV EÂLzÞk (IFFI) Lkk 54{kt MktMfhý {kxu ELxhLkuþLk÷ ßÞwhe ÃkuLk÷ (yktíkhhk»xÙeÞ 
rLkýkoÞf ÃkuLk÷)Lkk yæÞûk fkuý níkk ?

	 (A) MxeðLk MÃku÷çkøko (Steven Spielberg)

	 (B) þu¾h fÃkqh (Shekhar Kapur)

	 (C) õÞwLxeLk xkhkLxeLkku (Qeuntin Tarantino)

	 (D) {kxeoLk MfkuhMkuMku (Martin Scorsese)

183.	 fE ¼khíkeÞ yuhkuMÃkuMk MktMÚkkyu ykuõxkuçkh 2023{kt íkuLkk rð¢{-1 ykuçkeox÷ hkufuxLkwt yLkkðhý fÞwO níkwt ?

	 (A) EÂLzÞLk MÃkuMk heMk[o ykuøkuoLkkEÍuþLk (¼khíkeÞ ytíkheûk MktþkuÄLk MktMÚkk)

	 (B) ¼khík nuðe E÷uõxÙefÕMk ÷e{exuz

	 (C) ¼khík zkÞLkur{õMk ÷e{exuz

	 (D) MfkÞhwx yuhkuMÃkuMk
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176.	 Which comet is also known as the Orionid meteor shower?

	 (A) Hyakutake		  (B) Hale-Bopp

	 (C) Neowise		  (D) Halley’s

177.	� Where is the headquarters of the ICAR-Indian Institute of Soil and Water Conservation 
(ICAR-IISWC) located?

	 (A) Gurugram		  (B) Dehradun

	 (C) Hyderabad		  (D) Shimla

178.	� Who broke the world record in the javelin throw in the F64 category at the 2023 Asian Para 
Games?

	 (A) Devendra Jhajharia		 (B) Sundar Singh Gurjar

	 (C) Praveen Kumar		  (D) Sumit Antil

179.	� Which food delivery app introduced maternity insurance for women delivery partners AS A STEP 
FOR WOMAN EMPOWERMENT?

	 (A) Swiggy		  (B) DoorDash

	 (C) Zomato		  (D) Foodpanda

180.	 Where did the Indian Army mark the 76th ‘Shaurya Diwas’?

	 (A) Jammu and Kashmir	 (B) Punjab

	 (C) Haryana		  (D) Himachal Pradesh

181.	� How many S-400 air defense missile squadrons has the IAF deployed along the borders with 
China and Pakistan?

	 (A) Three		  (B) Four

	 (C) Five		  (D) Six

182.	� Who was the chairman of the international jury panel for the 54th edition of the International 
Film Festival of India (IFFI)?

	 (A) Steven Spielberg		  (B) Shekhar Kapur

	 (C) Quentin Tarantino		  (D) Martin Scorsese

183.	 Which Indian aerospace organization unveiled its Vikram-1 orbital rocket in October 2023?

	 (A) Indian Space Research Organisation

	 (B) Bharat Heavy Electricals Limited

	 (C) Bharat Dynamics Limited

	 (D) Skyroot Aerospace
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184.	� ¼khík{kt yuhkuMÃkuMk rþûký yLku LkðeLkíkkLku «kuíMkknLk ykÃkðk {kxu fE ¼khíkeÞ «kiãkurøkfe MktMÚkk (EÂLzÞLk ELMxexâqx 
ykìV xufLkku÷kuS) yu yuhçkMk MkkÚku ¼køkeËkhe fhe Au ?

	 (A) IIT çkkuBçku		  (B) IIT rËÕne

	 (C) IIT {ÿkMk		  (D) IIT fkLkÃkwh

185.	� ø÷kuçk÷ xe[h «kEÍ 2023 (ðirïf rþûkf Ãkkrhíkkur»kf 2023) {kxu fÞk ¼khíkeÞ rþûkfLku ytrík{ ÃkMktËøke{kt ÃkMktË 
fhðk{kt ykÔÞk níkk ?

	 (A) ËeÃk LkkhkÞý		  (B) hýSík®Mkn rËMk÷u

	 (C) MkkuLk{ ðktøk[qf		  (D) yh®ðË økwÃíkk

186.	� ¼khíkLkk fÞk hkßÞ{kt {þY{Lke Lkðe «òrík ‘Candolleomyces albosquamosus’ {¤e ykðe ?

	 (A) fýkoxf		  (B) {nkhk»xÙ

	 (C) fuh¤		  (D) íkr{÷Lkkzw

187.	� ÃkuELx çkúþ Mðe^x (Paintbrush swift) (Baoris farri) þwt Au ?

	 (A) Ãkûke		  (B) Ãkw»Ãk

	 (C) ÃkíktrøkÞwt		  (D) MkkÃk

188.	� ðkEÕz ÷kEV VkuxkuøkúkVh ykìV Ä RÞh (WPY) MÃkÄko{kt ‘10 ð»ko yLku íkuÚke LkkLke ô{h’Lkk ðÞsqÚk{kt Mkðkuoå[ ELkk{ 
fkuý SíÞwt ?

	 (A) hkunLk þ{ko		  (B) ykhð Ãkxu÷

	 (C) Íkhk ¾kLk		  (D) rðnkLk íkkÕÞk rðfkMk

189.	� ¼khíkLkk Lke[uLkk Ãkife fÞk hkßÞLku s{hkLke zu{ çknwnuíkwf ÞkusLkk {kxu {tsqhe {¤u÷ Au fu suLku Ãkqýo fhðk {kxu ¼khík 
Mkhfkhu Yk. 1557 fhkuz Vk¤ÔÞk Au ?

	 (A) rn{k[÷ «Ëuþ		  (B) W¥khk¾tz

	 (C) nrhÞkýk		  (D) hksMÚkkLk

190.	 ykuõxkuçkh 2023{kt fÞk þnuh{kt økúeLk xwheÍ{ fkuLõ÷uðLkwt ykÞkusLk fhðk{kt ykÔÞwt níkwt ?

	 (A) økwðknkxe		  (B) rþ÷kUøk

	 (C) EBVk÷		  (D) ¼wðLkuïh

191.	� PRAGATILkwt 43{wt MktMfhý {kLkLkeÞ ðzk«ÄkLk©eLke yæÞûkíkk{kt ÞkuòÞwt, su{kt ¼khíkLkk rðrðÄ hkßÞku {kxu rLkýkoÞf 
yuðe ykX ÞkusLkkykuLke Mk{eûkk fhðk{kt ykðe níke. PRAGATI þçË þwt Mkq[ðu Au ?

	 (A) Performance Review and Action Group for Infrastructure
	 (B) Public Grievance Redressal and Internal Security

	 (C) Project Review and Analysis for Growth and Investment
	 (D) Pro-Active Governance and Timely Implementation
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184.	� Which Indian Institute of Technology has partnered with Airbus to promote aerospace education 
and innovation in India?

	 (A) IIT Bombay		  (B) IIT Delhi

	 (C) IIT Madras		  (D) IIT Kanpur

185.	� Which Indian teacher was named a finalist for the Global Teacher Prize 2023?

	 (A) Deep Narayan		  (B) Ranjitsinh Disale

	 (C) Sonam Wangchuk		  (D) Arvind Gupta

186.	 In which Indian State was a new mushroom species ‘Candolleomyces albosquamosus’ discovered?

	 (A) Karnataka		  (B) Maharashtra

	 (C) Kerala		  (D) Tamil Nadu

187.	 What is the paintbrush swift (Baoris farri)?

	 (A) Bird		  (B) Flower

	 (C) Butterfly		  (D) Snake

188.	� Who won the top prize in the '10 years and under' category at the Wildlife Photographer of the 
Year (WPY) competition?

	 (A) Rohan Sharma		  (B) Aarav Patel

	 (C) Zara Khan		  (D) Vihaan Talya Vikas

189.	� Which Indian State has received approval for the Jamrani Dam Multipurpose Project, with the 
Indian government allocating Rs. 1,557 crore for its completion?

	 (A) Himachal Pradesh		  (B) Uttarakhand

	 (C) Haryana		  (D) Rajasthan

190.	 Which city hosted the Green Tourism Conclave in October 2023?

	 (A) Guwahati		  (B) Shillong

	 (C) Imphal		  (D) Bhubaneswar

191.	� The 43rd edition of PRAGATI, chaired by Hon’ble Prime Minister, involved a review of eight 
projects that are crucial for various States in India. What does PRAGATI stand for?

	 (A) Performance Review and Action Group for Infrastructure

	 (B) Public Grievance Redressal and Internal Security

	 (C) Project Review and Analysis for Growth and Investment

	 (D) Pro-Active Governance and Timely Implementation
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192.	 Lke[uLkk Ãkife fÞwt þnuh ‘Sweet City of India’ íkhefu òýeíkwt Au ?

	 (A) Ãkxýk		  (B) økÞk

	 (C) {wÍ^VhÃkwh		  (D) Ëh¼tøkk

193.	 Lke[uLkk Ãkife fÞku Ëuþ / fÞk Ëuþku MktÞwõík hk»xÙ îkhk {kLÞ LkÚke ?
	 (A) Sealand		  (B) Christiania

	 (C) Crimea		  (D) WÃkhkuõík ík{k{

194.	 ‘Champions of Earth’ ÃkwhMfkh Lke[uLkk Ãkife fE MktMÚkk îkhk yuLkkÞík fhðk{kt ykÔÞku ?

	 (A) ðÕzo EfkuLkkur{f Vkuh{		  (B) ÞwLkkExuz LkuþLMk yuLðkÞhkuL{uLx «kuøkúk{

	 (C) ø÷kuçk÷ yuLðkÞhkuL{uLx VuMke÷exe	 (D) ðÕzo çkuLf

195.	� ¼khíkLkk [qtxýe Ãkt[u (E÷uõþLk f{eþLk ykìV EÂLzÞk (ECI), {íkËkhkuLku {íkËkLk {kxu «uhðk fÞk yr¼LkuíkkLku íkuLkk 
‘National Icon’ íkhefu rLkÞwõík fÞko Au ?

	 (A) þknY¾ ¾kLk		  (B) yr{íkk¼ çkå[Lk

	 (C) yk{eh ¾kLk		  (D) hksfw{kh hkð

196.	 ¼khíkLkku fÞku fuLÿþkrMkík «Ëuþ 26 ykuõxkuçkhu hkßÞ òuzký rËðMk (Accession Day) íkhefu Wsðýe fhu Au ?

	 (A) sB{w yLku fk~{eh		  (B) ÷Ëk¾

	 (C) [tËeøkZ		  (D) ÷ûkrîÃk

197.	� ÞwLkkExuz LkuþLMk ðÕzo xwheÍ{ ykuøkuoLkkEÍuþLk (UNWTO) îkhk økwshkíkLkk fÞk økk{Lku ©uc «ðkMkLk økúk{ íkhefu 
ÃkwhMf]ík fhðk{kt ykÔÞwt Au ?

	 (A) Äkuhzku		  (B) MkkÃkwíkkhk

	 (C) f÷k÷e		  (D) ðk{s

198.	� „wshkŒ™k {k™™eÞ {wÏÞ{tºke©eyu íkksuíkh{kt ¼khŒeÞ ™kifkË¤™k ÞwØ snks™wt y™kðhý fhu÷ Au, su™u „wshkŒ™k 
yuf þnuh™wt ™k{ yk…ðk{kt ykÔÞwt Au. Œu ÞwØsnksLkwt ™k{ þwt Au?

	 (A) ‚whŒ		  (B) {wLÿk 

	 (C) nShk		  (D) ðuhkð¤

199.	� Ãkku÷eÞkuLke hMkeLkk {níð ytøku òøk]íkíkk ÷kððk fE íkkhe¾u rðï Ãkku÷eÞku rËðMk Wsððk{kt ykðu Au ?

	 (A) ykuõxkuçkh 24		  (B) ykuõxkuçkh 26

	 (C) ykuõxkuçkh 27		  (D) ykuõxkuçkh 25

200.	 yçkwÄkçke {kMxMko 2023 {rn÷kykuLke ®MkøkÕMk MÃkÄko fkuýu Síke ?

	 (A) WLLkíke nwzk		  (B) ytrfíkk hiLkk

	 (C) yrËrík rMkLnk		  (D) ÷ûÞk MkuLk
__________________
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192.	 Which city is known as the “Sweet City of India”?

	 (A) Patna		  (B) Gaya

	 (C) Muzaffarpur		  (D) Darbhanga

193.	 Which of the following countries is/are not recognized by the United Nations?

	 (A) Sealand		  (B) Christiania

	 (C) Crimea		  (D) All of these

194.	 The “Champions of Earth” award was conferred by which of the following organisation?

	 (A) World Economic Forum	 (B) United Nations Environment Programme

	 (C) Global Environment Facility	 (D) World Bank

195.	� Which actor is appointed by The Election Commission of India (ECI) as its ‘National Icon’ to 
inspire voters to cast votes?

	 (A) Shah Rukh Khan		  (B) Amitabh Bachchan

	 (C) Aamir Khan		  (D) Rajkummar Rao

196.	 Which Union territory of India celebrates Accession Day on October 26?

	 (A) Jammu and Kashmir	 (B) Ladakh

	 (C) Chandigarh		  (D) Lakshadweep

197.	� Which village of Gujarat is awarded as the Best Tourism Village by the United Nations World 
Tourism Organization (UNWTO).

	 (A) Dhordo		  (B) Saputara

	 (C) Kalali		  (D) Vamaj

198.	� Hon’ble CM of Gujarat recently unveiled the warship of Indian Navy named after a city of 
Gujarat. What is the name of that warship?

	 (A) Surat		  (B) Mundra

	 (C) Hazira		  (D) Veraval

199.	� On which date is World Polio Day celebrated every year to raise awareness about the importance 
of polio vaccination?

	 (A) October 24		  (B) October 26

	 (C) October 27		  (D) October 25

200.	 Who won the women’s singles event at the Abu Dhabi Masters 2023?

	 (A) Unnati Hooda		  (B) Ankita Raina

	 (C) Aditi Sinha		  (D) Lakshya Sen

__________________
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